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I BUAE 3
XML BRRA 25 R (ERERIZ2MEHRST)

<?ml version="1.0" encoding="UTF-8"?>
<MCCI_IN200100UVOT ITSVersion="XML_1. 0" xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100U¥01, xsd” xmlns— urn: hl7~org v3”
xmlns:xsi="http: //www. w3, org/2001/XMLSchema-instance”
<id extension="N.1.2" root="2.16.840. 1. 113883. 3, 989. 2. 1. 3.22"/>
<I— N.1.2: Batch Number ——>
<creationTime value="20101214151617"/>
¢l== N.1.5: Date of Batch Transmission =->»
<responseModeCode ‘code="D"/>
<interactionId extension="MCCI_IN200100UV01", root="2.16.840. 1. 113883. 1.6"/>
{name code="N.1.1" codeSystem="2. 16. 840. 1. 113883, 3. 988. 2. 1. 1. 1" codeSystemVersion="1.01"/>
¢l—— N.1.1: Type of Messages in Batch —>
¢l-- Message #1 —>
<PORR_IN048016UV>
<id extension="N. 2.7 17 root="2,16.840.1.113883.3.989.2.1.3.1"/>
¢l-= N.2.r.1: Message Identifier —>
_ {creationTime value="20101214151617"/>
<l== N.2.r.4: Date of Message Creation —>
¢interactionlId extension="PORE_INO49016UV" root= 2 16 840 1. 113883 1. 6 Wp
{processingCode code="P"/>
<processingModeCode code="T"/>
<acceptickCode code="AL"/>
{receiver typeCode="RCV">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.3” root="2. 16.840. 1. 113883, 3.989,.2.1.3,12"/>
)= N.2.r. 3 Message Receiver Identifier —
</device>
{/receiver>
<sender typeCode="SND">
{device classCode="DEV"" determinerCode="INSTANCE">
<id extension="N, 2,r.2" root="2, 16.840, L, 113883, 3,989,2,1,3, 11”/>
¢l== N.2.7.2: Message Sender Identifier —>
</device>
</sender>
<contrélActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2. 16. 840. L. 113883. 1. 18 >
¢l-— HL7 Trigger Event ID -—> . :
{effectiveTime value="20101214151617"/> o ~
¢|-- C.1.2: Date of Creation —> '
{subject typeCode— SUBI">
{investigationEvent classCode="INVSTG” moodCode- EVN">
<id extension="C.1.1” root="2. 16.840. 1. 113883. 3.989.2.1.3.1"/> . )
{d— C:L-1: Sender® s-{case)-Safety- Report-Unique-Identifier —>-—— - et e
{id extension="C.1.8.1" root="2.16.840, 1. 113883. 3.980.2.1.3.2"/>
{1— C.1.8.1: Worldwide Unique Case Identification Number —->
<id extension="J2. 1b” root="2.16.840.1.113883.3.980.5.1.3.2.3.1 />
<1— @862 1b: MWENEE (B — :
{code code="PAT_ADV_EVYNT” codeSystem— 2.16,840,1,113883.5.4"/>
<text>H 1</text>
{I— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant
Information -=> ) i
{statusCode code="active”/>
(l-- @0aJ2.7.1 =7, RETED — .
{effectiveTime>.
<low value="20030101"/>
¢]— C.1.4: Date Report Was First Received from Source -
{feffeetiveTime> .
<availabilityTime value="20090101"/>
¢l— C.1.5! Date of Most Recent Information for This Report ——>
Creference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<cer code="1" codeSystem="2. 16, 840, 1, 113883. 3, 989, 2. 1. 1. 27" codeSystemVersion="1. 0"

e




displayName="documentsHeldBySendér”/>
<titledC. 1. 6. 1. x. 1</title>
{!— C.1.6.1.r.1: Documents Held by Sender (repeat as necassarY) #1 —>
{text mediaType=" appllcat1on/pdf representation="B64">C. L. 6. L. r. 2¢/text>
¢4— C.1.6. 1. r.2: Included Documents #1 —>
¢/document> '
{/reference>
" <reference typeCode="REFR">
<document classCade="DOC” moodCode="F¥N">
- {eode code="1" codeSystem="2, 16. B40, 1. 113883, 3, 989 2.1.1.277 codeSystemVer51on- L 0
displayName=" documentsHeldBySender"/)
<titledC. 1.6, 1.r.1</title>
<l-= C.1.6. L.r. 1; Documents Held by Sender (repeat as necessary) #2 -—>
<text mediaType="image/jpeg” representation="B64" compression="DF”>C.1.8, 1. r.2{/text>
¢{I— C.1.6.1.r.2: Included Documents #2 —>
</document>
{/reference>
" <reference typeCode="REFR™>
<document class€ode="D0C” moodCode="EVN™>
{code code="2" codeSystem="2. 16.-840. 1. 113883, 3, 989, 2.1, 1. 27" codeSystemVerslon~ 1. 0
d1splayName— literatureReference”/>
titledJ2. 17, r</title>
<|— @gare. 17.r BB/ HMEOLE #1 — :
{text mediaType=" application/pdf” representation= “B64” >C 4.1.2¢/texty
<'- C. 4. 1.2 Included Documents #1 —>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
<!— C.4.1.1: Literature Reference(s) #1 —> ‘
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
<¢location ¢lassCode="COUNTRY" determinerCode="INSFANCE">
¢code code="J2.15.1" codeSystem="1.0. 3166.1.2.2"/>
(I=— @@BJ2. 15.r AFE #1 —>
{/location
‘ {/asLocatedEntity>
- . + </representedQrganization> '
</assignedEntity>
{/participation>
</document> . Ty
{/reference>
<reference typeCode="REFR">
{document cldssCode="DOC" moodCode="EVN"> ‘
{code code="2" codeSystem="2. 16,840, 1. 113883, 3. 98%. 2. 1. 1, 27" codeSystemVersion="1. 0"
displayName="1iteratureReference”/> '
<titledJ2. 17.r</titled
¢1— ©68T2. 17.r BER/TEEDLE #2 :
<text mediaType="application/pdf” representatlon— 364 >C 4.1, 2</text>
<l— C.4.1.2: Included Documents #2 -->
<{bibliographicDesignationText>C. 4. 1. 1(/b1b11ograph1cDe51gnat10nText>
{!-- C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<represented0rganlzat10n classCode="0RG"” determlnerCode— INSTANCE™>
<asLocatedEntity classCode="LOCE™>
{location classCode=" COUNTRY determinerCode=" INSTANCE >
<code code="J2.15.1" codeSystem="1. 0. 3166. 1 2.2°0
<1— @eerz. 15.r A%E #2 —>
{/location>
{/asLocatedBEntity>
{/representedOrganization’
{/assighedEntity>
{/participation®
{/document>
{/reference>
<eomponent typeCode— COMP™>
<adverseEventAssessment classCode=" INVSTG moodCode="EVN">
{subjectl typeCode="SB]™>
{primaryRole classCode="INVSB]">



{playerl classCode="PSN" determinerCode="INSTANCE™> '
<name>D, 1</name>
<l-— D.1: Patient (name or initials) -“> ‘
<adm1n1strat1veGenderCode code="D. 5" codeSystém="1.0.5218"/> : .
<I— D.5 Sex —>' '
<birthTime value="20090101°/>
<}-- D.2.1: Date of Birth ——>
{deceasedTine value="20090101"/>
<!— D.8.1: Date of Death —>
<asIdent1f1edEnt1ty classCode="IDENT">
<id extemsion="D.1.1.1" root="2.16. 840. 1. 113883 3. 989 2.1.3.77/>
<!== D.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Numher (GP Medical
Record Number) ——>

»

{code code="1 codeSystem= 2.16.840.1.113883.3.989.2.1.1.4 codeSystenVersion="1. 0"
displayName="GP" /> .
{/asldentifiedEntity>
. <asIdentifiedBntity classCode="IDENT™>
<id extension="D.1.1.2" root="2.16.840.1. 113883, 3. 989. 2. 1. 3 8"/)
<!— D.1.1.2: Patient Medical Record Number (s} and Source(s} of the. Record Numher (Spegialist
Record. Number) —>
{code code="2" codeSystem=" 2 16. 840 1.113883.3.989.2. 1. 1. 4" codeSystemVerszon— 1. 0
displayName="Specialist”/>
{/asldentifiedEntity>
<asldentifiedEntity classCode="IDENT">
{id extension="D, 1. 1.3" root="2. 16. 840. 1. 113883. 3. 989, 2.1.3.9°/> >
<!=~D.1.1.3: Patient Medical Record Mumber(s) and Source(s) of the Record Number (Hospltal Record
‘Number) ——»
<code code="3" codeSystem=”2.16.B40:1.113883.3.989.2.1.1.4 codeSystemVersion="1.0"
dlsplayName— Hospital Record”/> )
{/asldentifiedEntity>
<asldentifiedEntity classCode=" IDENT” >
<id extension="D. 1. 1. 4" reot="2.16.840. 1. 113883. 3, 989.2, 1,3, 10"/>
. ‘<F—&LL¢PnhmMﬁmﬂRudeWu&)md&ww&)dthmedmma(MWﬂmﬂmn
Number) -——>
{code code="4" codeSystem="2.16.840.1.113883.3.989.2.1.1.4” codeSystemVers1on— 1.07
displayName="Investigation™/> 4
</asIdentifiedEntity>
<role classCode="PRS™> .
{code codes"PRN" codeSystem="2. 16. 840. 1. 113883, 5, 111 />
<assoclatedPerson classCode="PSN" determinerCode="INSTANCE">
<name>D. 10. 1{/name>
. &l==D.10.1: Parent Identification —>
t ‘ {administrativeGenderCode code="D. 10.6” codeSystem="1. 0. 5218"/>
¢l D.10.6: Sex of Parent -=>
<birthTime value="20090101"/>
{l==D.10.2.1: Date of Birth of Parent ——)
- {/associatedPerson>
{subject0f2 typeCode="SB]">
{observation elassCode="0BS" moodCode="EVN">
. <code code="3" codeSystem="2.16.840. 1. 113883. 3. 989, 2, 1. 1. 19" codeSystemVersion="1."1"
displayName="age”/> : . ‘
' ¢value xsi:type="PQ” value="10" unit="D.10. 2. 2b"/>
{!— D.10.2.2a: Age of Parent (number) —>
{!— D.10.2.2b: Age of Parent (unit) —>
</observation>
</subject0f2>
{subject0f2 typeCode~ SBJ"»
{observation classCode="0BS" moodCode="EVN™>
{code code="22" codeSystem=" 2 16. 840, 1. 113883. 3. 989 2.1.1.18" codeSystemVersion="1. 1"
displayName="1astMenstrualPeriodDate”/>
{value xsi:type="TS" value=" 20090101 ‘o
¢l=- D.10.3: Last Menstrual Period Date of Farent -
{/ohservation>
</subject0f2> .
{subject0f2 iypeCode="SB]">
<observation classCode="0ORS” moodCode="E¥N">
. {code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="bodyWeight” /> ’ '
{value xsi:type="PQ” value="50" unit="kg"/>



“¢t— D.10.4: Body Weight (kg) of Parent -—>
</observation>
¢/subjectOf2>
{subject0f2 typeCode="SBJ™>
<observation classCode="0BS” moodCode="EVN">
' . . <code code="17" codeSystem="2. 16, 840. 1. 113883. 3. 989 2. 1. 118" codeSystemVersion="1. 1"
displayName="height”/>
ce {value xsi'type="PQ” value="160" unit="cm"/>
<l-- D, 10, 5: HElght (cm) of Parent —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]™>
{organizer classCode="CATEGORY” moodCode=" EVN™> -
: <code code="1" codeSysten="2..16.840. 1. 113883, 3,989.2.1. 1,207 cadeSystenVersion=" 1 0
displayName=”relevantMed1calH1storyAndConcurrentCond1t1ons />
{component typeCode="COMP">
{ohservation classCode="0BS” moodCode="EVN™>
¢code code="D.10.7.1.r.1b" codeSystem="2, 16. 840, 1. 113883. 6. 163
codeSystenVersion="D. 10.7. L.r. 1a"/> .
{!-- D.10.7. 1.r. la: MedDRA Version for Medical History #1 —>
<l-— D.10.7. 1. r. 1b% Medical History (disease / surgical procedure/ ete.) (MedDRA code) #1 -
.-> ' .
CeffectiveTime xsi:type="IVL_TS"™>
“Clow value="200001017/>
<]-=- D.10.7. L. 1. 2: Start Date #1 —>
<high value="20090101"/>
¢l--D.10.7. 1. 1. 4: End Date #1 -
{/effectiveTime>
{outhoundRelationship? typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSystem— 2.16.840. 1. 113883.3.989. 2. 1. 1, 19" codeSysthVers1on— 1 1
displayName="comment” />
: <value xsi: type— ED >D. 10. 7. 1. 1. 5</value>
<l==1,10.7.1.r. 5! Comments #1 -
{/observation>
{/outboundRelationship2> .
¢inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code— 13” codeSystem="2. 16. 840, 1. 113883, 3. 989 2 1 1. 19" codeSystemVersion="1.1"

*

displayName="continuing”/>
‘ <value xsi:type=”BL’ value="true”/>
' ¢l--D,10.7.1.r. 3! Continuing #1 ——>
{/observation?
. {/inboundRelationship>
. </ohservation?
(/component)
{component typeCode="COMP™>
{observation classCode=" OBS moodCode="" EVN >
{gode code="D. 10. 7 1.1. 16" codeSystem="2. 16. 840, 1, 113883. 6. 163"
codeSystemVersion="D.10. 7. 1. 1. la /)
<)=—D.10.7.1. 1. la: MedDRA Version for Medical History #2 —->
: ¢!-= D.10.7.1.r. Ib: Medical History (disease / surgical precedure/ etc.) (MzdDRA code) #2 -
_> ) L
CeffectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
¢!— D,10.7.1.r.2: Start Date #2 - '
<high value="200001017/>
¢l-— D.10.7.1.1.4: End Date #2 —>
{/effectiveTime}
<outhoundRelationship2 typeCode="COMP*>
<observation classCode="0B3" mouvdCode="EVN"> ) .
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. L. 19" codeSystemVersion=”1:1”
displayName="comment” />
. : {value xsi:type="ED">D.10.7. L. r. 5¢/value>’
<|— D.10.7. l.r. 5% Comments #2 -5
{/cbservation>
</outboundRelationship2> : y
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">



. {code’ code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="continuing”/> .
<value xsi:itype="BL” value="true”/>
{—-D.10.7.1.1.3: Contlnu1ng 2 —
{/observation®
</inboundRelationship>
{/observation>
{/component>
{component typeCode="COMP">"
{observation ¢lassCode="0BS” moodCode="EVN">
<code code="1B" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1 1. 19" codeSystemVersion=”1.l~
displayName="historyAndConcurrentConditionText”/> K
<value xsi:type="ED">D. 10.7.2<¢/value>
<1==D,10,7.2: Text for Relevant Medlcal History and Concurrent.Conditions of Parent ——>
{/observation>
{/component>
{/organizer>
{/subject0f2>
<subjectOf2 typeCode="SBI">
{organizer classCode="CATEGORY” moodCode="EVN"> .
{code code="2" codeSystem="2. 16. 840..1. 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="drugHistory”/> ’ :
{component typeCode="COMP”> .
{substanceAdministration classCode="SBADM” moodCode="EVN">
<effectiveTime xsi:type="IVL_TS*>
{low value="20080101"/>
¢I--D.10.8.r.4: Start Date #1 -—>.
<high value="20090101"/> '
<!-- D.10.8.r.5: End Date #1 —> .
{/effectiveTime>
{consumable typeCade="CSM">
{instance0fKind classCode="INST">
<indQfProduct classCode="MMAT™ determinerCode="KIND">
<cede code="D. 10.8.r. 2b” codeSysten="TBD-MPID” codeSystemVersion="D. 10.8.r. 2a”/>
{1— D.10.8.r. 2a: MPID Version Date / Number #1 —>.
<1— D, 10, 8.r. 2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10. 8 r. 1{/namne> b
{!-- D.10.8.1.1: Name of Drug as Reported #1 -7
</kindOfProduct>
</instance0fKind> .
{/consumable> -
<outhoundRelationship2 typeCode="RSON">
{observation classCode="0BS” moodCode="EVN"> .
{code code="19" codeSystem— 2. 16. 840, 1. 113883, 3. 989. 2 1. 1 19" codeSystemVersion="1.1"
displayName="indication”/>
. <value xsi:type="CE” code="D.10.8. r. 6b” codeSysten="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="D. 10. B.r. 6a” />
¢t-- D.10.8.1.6a> MedDRA Version for Indlcatlon #1 -—>
¢!-- D.10.8.r.6b: Indication (MedDRA code) #1I —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="" CAUS >
{ohservation classCode="0BS” moodCode="EVN"> .
{code code="29" codeSystem="2. 16, 840, 1. 113883. 3. 989, 2. 1. 1. 197 codeSysfemVer;ion=”l;1”
displayName="reaction”/> ]
{value xsiitype="CE” code="D.10.8.r.7h" todeSystem="2. 16, 340. 1. 113883, 6, 163" °
codeSystemVersion="D. 10. 8. 1. 7a”/> ’ ‘ ‘ : ’ y
<I—= D.10.8.7r.7a: MedDRA Version for Reaction #1 —> - :
<!— D.10.8.1.Tb: Reactions {(MedDRA code) #1 -->
{/obgervation>
{/outboundRelationship2>
{/substanceAdministration>
{/component?
{component typeCode="COMP">
{substanceAdministration elassCode="SBADM" moodCode="EVN">
effectiveTime xsi:type="IVL_TS™>
Clow value="20090101"/> R
<|~— D.10.8.r. 4 Start Date §2 —>
“¢high value=" 200001017/>



<l-- D.10.8.r.5: End Date #2 —>
/effectivelimed )
4 {consumable typeCode="CSM" > . o . R
(instanceOfKind ¢lassCode="INST">
<kindOfProduct classCode="MMAT* determinerCode="KIND" >
" {code code="D. 10. 8. r. 3b” codeSystem="TBD-PhPID” codeSystemVerslon— D: 10 8.1, 3a />
<l— D.10,8.r, 3a: PhPID Version Date / Number #2 -->
¢l== D. 10.8.r.3b! Pharmaceutical Product Identifier (PhPID) #2 —>
<name>D. 10. 8. 1. 1{/name>
{!1-—.D.10.8.r.1: Name of Drug as Reported #2 -—>
/kindOfProductd - .
¢/instanceOfKind>
{/consumabls>
<outboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
<code code="19" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystenVersion="1,1"
displayName="indication”/> ' :
) {value xsi:type="CE” code="D.10.8.r.6b" codeSystem="2. 16.840, 1. 113883, 6. 163"
codeSystemVersion="D. 10. 8. x. 6a" /> w ‘
. ¢1-- D.10.8.7.6a: MedDRA Yersion for Indication #2 —>
{l-- D.10.8.r.6b: Indication (MedDRA' code) #2 —>
{/ohservation} .
" ¢/outboundRelationship2> '
<outhoundRelatisnship2 typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN">
<code code="29" codeSysten="2. 16, 840, 1. 113883. 3. 989.2. 1. 1..19” codeSystemVersion="1. 1"
4

;

displayName="reaction”/> . . )
<value xsi:type="CE" code="D,10.8,1.7b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="0. 10. 8. 1. 7a"/> ' i
' ¢l— D, 10.8.r.7a: MedDRA Version for Reaction #2 —>
<l— D.10.8. 1. Th: React1ons (MedDRA code) #2 =>
{/observation>
{/outboundRelationship2>
{/substanceAdministration>
{/component> .
{/organizer> - : ' ~
{/subject0f2> R
{/role> ’
{/playerl>
{subjectCfl typeCode="SB]">
{researchStudy classCode="CLNTRL” moodCode="EVN">
" <id extension="C.5.3" root="2. 16.840. 1. 113883, 3.989. 2. 1. 3 B/ .
<|— C.5.8: Spensor Study Nuber —> .
{code code="C.5.4”" codeSystem="2. 16.840. 1, 113883. 3.989. 2. 1. 1, 8" codeSystemVersion="1.0"/>
“¢l=- C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —> '
§title>C.5.2</title>
¢l— (.5.2: Study Name —>
<authorization typeCode="AUTH™>
<studyRegistratiop classCode=" ACT” moodCode="EVN">
¢id extension="C.5.1.r.1" root="2, 16. 840, 1,113883.3.989.2.1.3. 6'/>
¢!-- C.5. 1.r. 1} Study Registration Number #1 -->
<author typeCode="AUT"> o
<territorialAuthority classCode="TERR™> .
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="C.5.1.r.2" codeSysten="1.0, 3166, 1,2 2"/>
{l— C.5. 1.r.2: Study, Registration Country #1 —>
{/governingPlace>
¢/territorialiuthority>
{/author> .
</studyRegistration?
</authorization>
{autherization typeCude- AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN” >
{id extension="C.5.1.1.1" roci="2, 16, 840. 1113883, 3.989. 2 1.3.6 o
¢!— €.5, 1.1.1 Study Registration Number #2 —>
<author typeCode="AUT™>
(territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” déterminerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSysten="1, 0, 3166. 1. 2.2°/>



¢]— C.5.1,r.2: Study Registration Country #2 —>
¢/governingPlace> ‘
</terr1tor1alAuthor1ty>
{/author>
{/studyRegistration>
</authorization>
{/researchStudy>
</subject0f1>
- <{subject0f2 typeCode=" SBJ P
{observation classCode="0BS" moodCode="EVN">
<code code="3" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1 19" codeSystenVersion="1.1"
displaylame="age”/>
: <value xsi:type="PQ" value="10" unit="D. 2, 2b"/>
<l==D.2.2a: Age at Time of Onset of Reaction / Event (number) -—>
¢!-- D.2.2b: Age at Time of Onset of Reaection / Event (unlt) )
</observation>
{/subject0f2>
{(subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
{code code="16". codeSystem="2. 18, 840, . 113883, 3, 980. 2. 1. 1. 19" codeSystemVerslon— 1.1°
displayName="gestationPeriod”/>
{value xsi’type="PQ” value="10" unit="D, 2,2, 1b"/>
¢l==D.2.2. la! Gestation Period When Reaction / Event Was Observed in the Foetus (humber) ~->
<l== D.2.2,1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —>
</observation>
¢/subject0f2>
‘CsubjectOf2 typeCode="SB]">
- <observation classCode="0BS" moodCode="EVN™>
«{code code="4". codeSystem="2. 16. B840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName— ageGroup” />
<value xsi:type="CE" code="D, 2, 3" codeSystem="2.18. 840, 1, 113883. 3 989.2.1,1.97
codeSystemVers:on— Lo"5 ‘
. €l==D,2,3: Patient Age Group (as per reporter) -—>
" ¢/observation> . :
{/subject0f2> ' :
{subject0f2 typeCode="SB]">
Y <observation classCode="0BS" mocdCode="EYN"> .
{code code="T7" codeSystem— 2. 16, 840. 1, 113883. 3. 989 2.1.1.19” codeSystemVersion="1.1"
displayName=" bodyWelght i
{value xsi:type="PQ" value- 48. 2" unit="kg" />
¢!-— D.3: Body Weight (kg —
{/observation>
{/sub ject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
<code code="17" codeSystem="2. 16.840.1.113883.3,988.2.1.1.19" codeSys@emVersion=’1.1’

2

displayName="height”/>
{value xsi:type="PQ” value="162" unit="cm"/>
<]— D, 4: Height (cm} —>
</cbservation>
{/subject0f2>
{subjectOf2 typeCode="SB]"> . :
"{observation classCode="0BS” mcodCode="EVN">
<code code="22" codeSystem="2. 16. 840 1L 113883 3.989,2.1.1, 19" codeSysterVersion="1.1"
-displayName="lastMenstrualPeriedDate”/>
’ {value xsi:type="T3" value— 20090101° />
<I-- D.6: Last Menstrual Period Date —>
{/observation>
{/subjectOf2>"
<{subject0f2 typeCode="SBJ">
Corganizer classCode="CATEGORY” meoodCode="EVN™>
{code code="1" codeSystem="2. 16, 840. 1. 113883. 3.989. 2. 1. 1. 20 codeSYstemVersion=’l.0”
displayName="relevantMedicallistoryAndConcurrentConditions”/>
{eompenent typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN" )
{code code="D.7.1. 1. 1b” codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystemVer31on— D.7.Lr 1la” /5
¢!-- D.7.1.r.1a! MedDRA Version fer Medical History #1 —>
<J— D. 7. 1.7.1b! Medical History (disease / surgical procedure / ete.) (MedDRA code) #1 —>
{effectiveTime xsi:type="IVL_TS">

.



<low value="20090101"/>
¢I— D, 7.1.r. 2! Start Date #1 —>
<high value="20090101"/>
' D.7.1.r.4: End Date i1 —>
{/effectiveTime>
<outhoundRelationship2 typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16, 840, 1. 113B83. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/> - s
<value xsi:type="ED"PD.7.1.r.5¢/valued
¢!=-D,7.1.1.5: Comments #1 —>
</observation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="EXPL">
{observation classCode=”0BS”‘moodCode=ﬁEVN”> .
<code code="38" codeSystem="2, 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory”/> '
: ‘Kvalue xsiitype="BL” value="true”/>
{1— D.7.1.1.6: Family Hlstor? #1 —>
{/observation>
</outboundRelationship2>
¢inboundRelationship typeCode="REFR™>
{observation classCode="0B5" moodCode="EVN">
<code code="13" codeSystem— 2. 16, 840. 1. 113883. 3.989. 2. 1. 1 19" codeSystemYersion="1.1"
_displayName="continuing”/>
<value xsitype="BL" value="true”/>
¢l== D,7.1.r. 3 Continuing #1 —>
¢/observation
{/inboundRelationship>
{/chservation?
{/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="D.7T.1.r. 1b” codeSystem="2. 16. 840, 1. 113883, 6, 163" codeSystemVersion=”D.7;1.r.la”/>
<1— D.7.1.x. la: MedDRA Version for Medical History #2 —>
¢l== D, 7. 1. 1. 1b: Medical history (disease / surg1ca1 procedure / etc.) (MedDRA code) #2 —>
. LeffectiveTime xsi:type="IVL_TS">
<low value="20000101"/>
¢1-- 0.7.1.r. 2! Start Date #2 —>
<high value="20090101"/> -
¢{!l— D.7.1.r.4: End Date #2 >~
{/feffectiveTime>
<outboundRelationship2 typaCode— COMP™>
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSystem="2, 16.840. 1. 113883. 3. 989, 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="comment” /> - ‘
<value xsi:type="ED">D. 7. 1. 1. 5</value>
¢}=- D.7.1.r.5: Comments H2 ——>
+ {/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="EXPL">
{observation classCode="0BS" moodCode="EVN">
{code code="38" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, 1, 1. 19" codeSystemVersion="1.1"
displayName="familyHistory” /> .
{value xsi:type="BL” value="true”/>
<1— D.7.1.r.6: Family History #2 —=>
; {/observation>
{/vutboundRelationship2>
¢inboundRelationship typeCode="REFR" >
<ohservation classCode="0BS” moodCode="EVN” >
{code code="13" codeSystem="2. 16,840, 1, 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/> N . -
<value xsiitype="BL” value="true”/>
<l--D.7.1. 1. 3: Continuing #2 —>
{/observation>
{/inboundRelationship>
{/observation
{/component? -
<component typeCode="COMP“>



-<observation classCode="0BS” moodCode="EVN">
- <code code="18" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1, 1. 18" codeSystemVersion="1.1"
displayName=" h1storyAndCuncurrentCondlt1onText /»
{value xsi:type="ED">D, 7. 2<{/value>
{I— D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction

/ event) -
{/observationy
</component>
{component typeCode=" COMP >
{observation classCode="0BS” moodCode="EVN">
. {code code="11" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="concomitantTherapy”/>
<value xsi:type="EL” value=" true "
¢l--D.7.3: Concomitant Therapies —>
{/observation> =
{/component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN*> ~
. {code code="2" codeSystem— 2, 16, 840, 1, 113883, 3, 989. 2. 1. 1, 20" codeSystenVersion="1. 0"
displayName=" drugﬂlstory oy
. {component typeCode- COMP™> .
{substanceAdministration classCode="SBADM” moodCode="EVN” >
{effectiveTime xsi:type="IVL_TS">
{low 'value="20090101"/>
<l—— D.8.1.4: Start Date #1 —>
<high value="20090101"/>
{l=~ D,8.1.5: End Date #1 ==
{/effectiveTime>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<eode code="D. 8. r.2b" codeSystem="TBD-MPID" codeSystemVers1on— D.8.r. 2a’/>
¢!=- D.8.r.2a: MPID Version Date / Number #1 ——
<!~ D.8.r.2b: Medicinal Product Identifier (MPID} #1 —>
<name>D. 8. r. 1{/name>
¢!~ D.8.1.1: Name of Drug as Reported #1 -

.

</kind0fProduct?
</instance0fKind>
{/consumable> ' Lo
{outboundRelationship2 typeCode— RSON">
{observation classCode="0BS” moodCode="EVN"> \

{céde code="19" codeSystem="2. 16.840. 1. 113883. 3. 980, 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="indication”/> )
<value xsi:type="CE” code="D.8.r.6b" codeSystem="2, 16.840, 1. 113883.6. 163"
cadeSystemVersion="D. 8 r. 6a"/> .
¢l-- D.8.r.6a: MedDRA Version for Indication #1 == |
<l-= D.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="CAUS">
{obsérvation classCode="0BS" moodCode="EVYN"> .
<code code="29" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="reaction”/> )

! '<value xsi!type="CE” code="D.B,r,7b” codeSystem="2. 16.840. 1. 113883. 6. 163"
codeSystemVersion="D. 8.1, 7Ta”/> T . : ' :
’ ¢!—— D.B.r.7a! MedDRA Version for Reaction #1 -->
{!— D.8.r.7Tb: Reaction (MedDRA code) #1 —

{/observation>
{/outboundRelationship2>
</substanceAdministratipn) -
</component> .
{component typeCode="COMP"> '
<substanceAdministration classCode="SBADM" meodCode="EVN">
{effectiveTime xsiitype="IVL_TS">
<low value="20090101"/>
<!-- D.8.r.4: Start Date #2 —>
<high value="20090101"/>



¢l==D.8.r.5' End Date #2 —>
</effectivelime>
<consumab1e typeCode="CSM">
<instanceQfKind classCode="INST™>
- <kind0fProduct classCode="MMAT” determinerCode="KIND">.
{code code="D.8.r.3b" codeSystem="TBD-FhPID” codeSystemVersion="D.8.r,3a"/>
~ ¢l-- D.8.r.3a: PhPID Version Date / Number —>
<|=- D.B.r.3b! Pharmaceutical Product Identifier (PhPID) #2 -->
<name>D. &, . 1{/name>
<!— D.8.7.1: Name of Drug as Reported #2 —>
</kind0fProduct>
</instance0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON"> .
{observation classCode="0BS" moodCode="EVN">
<{code. code="19" codeSystem=”2.16.840.1.113883.3.989.2.1.1.LQ”.codaSystemVersiuh="1.1”'
displayName="indication”/> ‘ : ]
. <value xsiitype="CE” code="D.8.r.6b" codeSystem="2, 16.840. 1. 113883. 6. 163"
codeSystemVersion="D.8.r.6a"/> | : . :
A ' ¢1-- D, 8, r.6a: MedDRA Version for Indication #2 —>
¢{l-- I.8. r.6b: Indication (MedDRA code) #2 ——>
</observation> - :
{/outboundRelationship2>
{outhoundRelationship2 typeCode="CAUS">
{observation classCode="0BS" moodCode="EVN">
<code code="29" codeSystem="2. 16, 840. 1. 113883 3.989.2.1.1. 19" codeSystemVer51on— 1.17

displayName="reaction”/>
N <yalue xsiitype="CE” code="D.8.r.7b" codeSystem="2. 16.840.1. 113883, 6. 163"
codeSystemVersion="D.8.r.7a"/> ° ‘

b ¢!— D.8.1.7a! MedDRA Version for Reaction #2 —>
¢!=- D.8'r.7b: Reaction (MedDRA code) #2 ——>
{/observation>

¢/outboundRelationship2>
{/substanceAdministration>
¢/component> ’
{/organizer>
{/subject0f2>
{subject0f? typeCode="SBJ™>
{observation classCode="0BS” moodCode="EVN™>
{code code="32" codeSystem=" 2. 16. 840, 1, 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1
dlsplayName— reportedCause0fDeath”/>
<value xsi'type="CE” code="D, 8.2.r. 1b” codeSystem="2.16. 840, 1, 113883 6 1637
codeSystemVersion="D.&. 2.r. 1a">
¢!=— D.9.2.r.1a: MedDRA Version for Reported Cause(s) of Doath #1 —>
¢]-- D.9.2.r.1h: Reported Cause(s) of Death (MedDRA code) 1 > -
CoriginalText>D. 9. 2. r. 2</originalText> )
¢|—D.9.2.1.2: Repurted Cause (s} of Death (free text) #1 -
<fvalue> .
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ*>
{observation classCode="0BS" moodCode="EVN” > .
<code code="32" codeSystem="2.16.840. 1, 113883;3.989.2.1.1. 19" codeSystemVersion="1; 1"
d1splayName— "reportedCause0fDeath”/>
{value xsiitype= “CE” code="D.9.2.r1. 1b"- codeSystem— 2.16. 840 1. 113883, 6. 163™
' codeSystemVer31on— D.9.2.r.1a">
{J==D.9.2.1. la MedDRA Version for Reported Cause(s) of Death #2 -=>
¢|-- D.%. 2. 1. 1b: Reported Cause(s) of Death (MedDRA code) #2 -5
CoriginalText>D. 9, 2. r. 2¢/originalText>
<|—D.9.2r2: anwaw&)ﬁD%m(ﬁwtuﬂ#2—>
</valued
{/observationy
{/subjectOf2>
<subJect0f2 typeCode— "SBI*>
<observat10n classCode="0BS" moodCode-"EVN >
<code code="5" codeSystem="2. 16, 840. 1, 113883, 3,988, 2. 1. 1. 19" codeSystenVersion="1. 1"
d1splayName- “autopsy” /> -
¢value xsiltype="BL” value="true"/>
<}—— D.9.3 V¥as Autopsy Done? ——> -



{outboundRelationship2 typeCode="DRIV”>
<observation classCode="0BS” mcodCode="EVN"> .
! {code code="8" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2, 1 1.19” codeSystemVer51on— 1.17
displayName="causeOfDeath”/> :
{value xsi'type="CE” code="D.9.4.r.1b" codeSystem— 2.16.840. 1. 113883, 6. 163"
codeSystemVersion="D. 9. 4. r. 1la”>
<!=- D.9.4.r.1a: MedDRA Version for’ Autopsy-determined Cause(s) of Death #1 ——) :
{!— 1,9, 4. r.1b Autopsy-determined Cause(s) .of Death (MedDRA code} #1 ——>
<originalText>D.9.4.1. 2¢/originalText>
{d—D.9.4.1r.2: Autopsy—determlned Cause(s) of Death (free text) #1 ==
</value> .
{/obhservation?
{/outboundRelationship2>
<outboundRelationship2 typeCode="DRIV“>
{observation classCode="0BS" moodCode="EVN"> .
* {code code="8" codeSystem="2. 16, 840, 1, 113883; 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="causeOfDeath”/> ' '
{value xsi: type— "CE” code— D.9. 4 r. 1b” codeSystem="2. 16. 840. 1. 113883, 6, 163"
" codeSystemVersion="D,9.4.r, 1la”>
<l— D.9.4.r.ta: MedDRA Ver31on for Autopsy—determined Cause(s) of Death #2 -->
¢l=- D.9.4.r.1b Autopsy-determined Cause(s) of Death (MedDRA code) #2 ~—>
<originalText>D. 9. 4. r. 2</original Text>
<l—D.9.4.r. 2: Autopsy—determ1ned Cause (s) of Death (free text) #2 ——>
<{/value>
{/observation>
</outhoundRelationship2>
‘¢/observation>
{/subject0f2> ‘
<subject0fZ typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45F2-a02f—42d4d6f4657" />
. <code code="29" codeSystem="2.16.840. 1. 113883. 3.989,2.1. 1. 19" codeSystemVer51on— .17
displayName="reaction”/>
{effectiveTime xsi: type— “IVL_TS™>
<low value="20030101"/>
¢}=~E.{.4! Date of Start of Reaction / Event #1 —>
<high value="20090102°/> - ’
<|-- E.i, 3! Date of End of Reaction / Event $1 —> .
{/effectiveTime>
) <value xsi:type="CE” code="L.i.2.1b" codeSystem="2, 16. 840. 1. 113883, 6. 163"
codeSystemVersion="E. i.2.1a"> .
¢l—— B.i.2 1a: MedDRA Version for Reaction / Event #1 -—>
{l-- E.i.2. 1b: Reaction / Event (MedDRA code) #1 —>
<originalText language="E.i.l.1b™E. i, I; 1a</originalText>
¢l— E.i.1.la: Reaction / Event as Reported by the Primary Source in Native Language 1 —
<l——E.i. 1. 1b: Reaction / Event as Reported by the Prlmary Source Language #1 -
{/value>
{location typeCode="L0OC">
{locatedEntity classCode="LOCE">
{locatedPlace classCode— COUNTRY” determ1nerCode— INSTANCE™> -
{code code="E.i.9" codeSystem="1.0,3166.1.2.2"/>
¢|— E.1i.9: Identification of the Country Where the Reaction / Event ‘Occurred #1 -
¢/locatedPlace) ‘ i
{/locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystex="2. 16, 840, 1. 113883 3.989.2,1.1. 19 codeSystemVerslon- 1.17
dlsplayName— reactlonForTranslat1on"/>
<value xsi:type="ED"E.i.1.2¢/value> .
{l—E il Rea9t1on / Event as Reported by the Primary Source for Franslation #1 —>
{/observation> '
¢/outboundRelationship2>
{outboundRelationship2 typeCode— PERT M
{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1" codeSystem="2.16.840,1.113883.3.989.2.1.1. 10"
codeSystemVersion="1, 0" /> b



¢l— E.i.3.1: Term H1ghllghted by the Reporter #1 -
{/observation> '
</outboundRe1at10nsh1p2>
<outboundRelationship2 typeCode="] PERT >
{observation classCode="0BS” moodCode= EVN >

displayName="resultsInDeath”/>
<value xsi'type="BL" value="true”/>
¢|— E.i.3.2a! Results in Death #1. —
<{/ohservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT"> .
{observation classCode="0B3” moodCode="EVN">

<code gode="21" codeSystem="2. 16. 840, 1. 113883. 3, 988, 2, 1. 1. 19 codeSystemVersion="1,1"

displayName="isLifeThreatening”/>
<value xsiitype="BL” nullFlavor="NI1"/>
{]— E.i.3.2b: Life Threatening #1 -=>
. {/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

{code code="33" codeSystem=”2.16.840.1.113883:3.989.2.1.1.19” coﬁeSystemVersion="1

displayName="requiresInpatientHospitalization™/>
<value xs5iitype="BL" value="true”/>
¢!== E.i.3.2¢c: Caused / Prolonged Hospitalisation #1 —>
{/ocbservation?
</outboundRelat1onsh1p2>
(outboundRelatlonshlpZ typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

{code code="35" codeSystem="2. 16. 840. 1, 113883, 3. 989, 2.1, 1. 19 codeSystemVersion="1

displayName="resultsInPersistentOrSignificantDisahility”/>
<value xsi:type="BL” nullFlavor="NI"/>
(-~ Ei.3.2d: Dlsabllng / Incapacitating #1-—
<fobservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="FERT">
{observation classCode="0BS” moodCode="EVN">

{code code="12" codeSystem="2. 16. 840, 1. 113883. 3,989.2.1.1, 19" codeSystemVersion="1

displayName="ccngenitalAnomalyBirthDefect”/>
' ~ <value xsi:type="BL" nuliFlavor="NI"/>
. &l— E.i.8.2e: Congenital Anomaly / Birth Defect #1 —>
. {/observation>
{/outhoundRelationship2>
{outboundRelationship2 .typeCode="PERT"> .
{observation classCode="0BS* moodCode="EVN">

{eode’ code="26" codeSystem="2, 16, 840, 1, 113883, 3, 989. 2. 1. L. 19" codeSystemVersion;”L

displayName="oth&rMedicallyImportantCondition”/> ,
Cvalue xsi:type="BL” value="true”/> .
<l— E.i.3.2f: Other Medically Important Condition 1 —>
{/observation>
. </outboundRelationship2>
\ <outboundRelationship2 . typeCode="PERT">
{cbservation classCode="0BS” moodCode="EVN">

displayName="out come” />
{value xsi:type="CE" code="E.i. 7" codeSyatem=”2.16.840.1.113883.3.989.2.1.1.11’
cedeSystemVersion="1, 0"/> .
¢l=- E.i.7: Outcome of, Reactlun / Event at the Time of Last 0bservat1on # -
" </observation>
</outboundRelationshipZ>
<outboundRelationship2 typeCode="PERT")> .
{observation classCode="0BS” moodCode="EVN">

{code code="24" codeSystem="2. 16. 840, 1. 113883.3,989,2.1.1.19” cndeSystemVers1on— 1,

" displaylame="medicalConfirmationByHealthProfessional”/>
. . {value xsi:type="BL” value="true”/>
<l— E.i.B: Medical Confirmation by Healthcare Profassiocnal #1 —
{/observation>
¢/outhoundRelationship2)’
{outboundRelationship2 typeCode="PERT™>

<eode code="34" codeSystem="2, 16.840. 1. 113883, 3.989. 2, 1. 1. 19” codeSystemVersion="1

<code code="27" codeSystem="2, 16,°840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1

1"

1"



]

{observation classCode="0B5" moodCode="EVN"> N
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1. 3. 2. L. 10" codeSystemVersion="1.0"
displayName="54n + BE&n"/>
{value xsittype="CE” code="]2.14.1i” codeSystem="2. 16.840. L. 113883. 3. 989, 5. 1.3.2.1. 8"
codeSystemVersion="1. 0"/
’ <l @@872.14.1 R - BERD #1 —>
{/observation>
</outboundRelationship2> - ~
{/observation>
{/subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
{id root="2baa28d6-c9el-4efic~93e9-5b8600314220" />
<code code="29" codeSystem="2. 16. 840. 1. 113883 3.989, 2.1, 1. 19” codeSystenVersion="1.1"
dlsplayName— reaction”/>
<effectiveTime xsi:type="IVL_TS5">
<low value="20090101"/>
. &l E.i.4: Date of Start of Reaction / Event #2 -
- {width value="24" unit="E.i.6b"/>
¢|— E.{i.6a: Duration of Reactiocn / Event (number) # >
¢l=~ E.i.8b: Duration of Reaction / Event (unit) #2 —>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b" codeSystem— 2, 16. 840, 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a">
<|--E.i.2 1a MedDRA Version for Reaction / Event #2 -—>
¢l— E.i. 2. 1b: Reaction / Event (MedDRA code) #2'—>
{originalText language="E.i.l.1b">E.i.1.lal/originalText>
<l— E.i.1, lar Reaction / Event as Reported by the Primary Scurce in Native Language #2 —>
¢l— E.i. 1 1h: Reaction / Event as Reported by the Primary Source Language #2 —>
</value> : o
<location typeCode="LOC">
{locatedEntity classCode="LOCE" >
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i.9" codeSystem="1.0.3166,1,2.2"/>"
{J—Ei9: Identification of the Country Where the Reaction / Event Occurred #2 —>
" ¢/locatedPlace>
¢/locatedEntity>
" </location>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem=" 2 16, 840, 1. 113883 3.980, 2,1, 1. 19" codeSystemVer51on— .17
d1splayName— reactionForTranslation”/>
{value xsi:type="ED"E.i. L 2</value>
{l— E.i. 1. 2! Reaction / Event as Reported by the Prlmary Source for Translatlon #2 —>
¢/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
. <code cade="37" codeSystem="2, 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="termHighlightedByReporter” />
<value xsi'type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883. 3,989, 2,1.1. 10"
codeSystenVersion="1. 0" /> ' : :
’ I~ E. 1, 38.1:Term nghllghted by the Reporter #2 -3
¢/observation>
{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="34" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1 1.19" codeSystemVer51nn— 1.1"
displayName="resultsInDeath”/> -
{value xsi:type="BL" value="true”/>
<l— E.i.3.2a: Results in Death #z —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> )
. {code code="21" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
d1sp1ayName= 1sL1feThreaten1ng />
{value xsi:type="BL” nullFlavor="NI"/>
¢l== E.i.3.2b: Life Threatening #2 ~->



. {/observation>
{/outhotindRelationship2> )
<outboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN">
< {code code="33" codeSysten="2. 16, 840, 1, 113883. 3. 989. 2. L. 1 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
: {value xsi:type="BL" value=" true o
¢l=— E.i.3.2¢c: Caused / Prolonged Hospitalisation #2 —> .
¢/chservation®
</outboundRelationship2>
<outboundRelationship2 typeCode— FERT">
{observation classCode="0BS” moodCode="EVN*>
{code code="38" codeSystem="2. 16. B40. 1. 113883, 3. 989 2,1.1. 19" conSystemVersion="1.1”
dlsplayName— resultsInPerszstentOrSign1f1cantDlsablllty”/) .
<value xsi:type="BL” nullFlavor="NI"/> . }
¢!-- E.i.3.2d: Disabling / Incapacitating #2 —— '
{/observation>
</outboundRelat1onsh1p2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16.840. L. 113883. 3, 089, 2, 1. 1. 19” codeSystemVersion="1, 1"
displayName="congenitalAncmalyBirthDefect”/>
. <value xsi:type="BL" nullFlavor="NI"/>
<]— E.i.3.2e: Congenital Anomaly / Birth Defect #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode— PERT">
<observation classCode="0BS" moodCode="EVN"> B
<code code="26" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName= otherMedlcallyImportantCond1t1on”/> '
<value xsi!type="BL”.value="true”/>:
¢l-— BE.i.3.2f: Other Medically Important Condition #2 -—>
{/observation>
¢/outboundRelationshipZ>
<putboundRelationship2 typeCode="PERT"> )
{ohservation classCode="0BS" moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1.1. 19" codeSystemVersion="1. 1"

displayName="outcome”/> . .
' ¢value xsi:type="CE” pode="E.i.7” codeSystem="2, 16, 840. 1. 113883. 3. 989, 2. 1, 1. 117
codeSystenVersion="1.0"/>
¢!=— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 -->
! (/observat1un>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT” > )
<observation classCode="0BS" mooande— EVN™> :
: {code code="24" codeSystem="2.16.840.1.113883.3,080.2.1. L. 19" codeSystemVers1on— L1
displayName= “medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true”/>
¢l-- E.1i.87 Medical Confirmation by Healthcare Professional #2 -=>
{/observation>
{/outboundRelationship2>
. ¢outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem— 2.16. 840, 1, 113883, 3. 989,5,.1.8.2. 1. 10" codeSystemVersion='l 0"
displayName="3<%n - BE&n"/> ‘
. {value xsi:type="CE" code="]J2.14.1i" codeSystem— 2,.16.840.1.113883.3,.989,5.1.3.2. 1.8
codeSystenVersion="1.0"/> .
<|— @@BJ2. 14.1 40 - B0 K2 —>
{/observation>
</outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode=" SBJ M
<observation classCode="0BS” moodCode="EVN">
<id reot="3a8626¢ch-0f1b—-4ead-Balf-e0ff34430adf” />
{cede code="29" cbdeSystem=’2.16.840.1h113883.3.989.2.1.1.19” codeSystenVersion="1. 1%
displayName="reaction”/>
<effectiveTime xsi: typen”IVL T5™>
<width value="24" unit="E.i.6b"/>



<l-- E.i.6a: Duration of Reaction / Event (number) #3 ——>
{l=~ E.i.6b: Duration of Reaction / Event (unit) #3 -->
<high value="20101201"/> -
¢l-- E.i.5: Date of End of Reaction / Event #3 ——
{/effectiveTime>
{value xsi:type= CE code="E. i. 2. 1b” codeSystem="2, 16, 840. 1. 113883. 6. 163"
codeSystemVer51on~ E.i.2.1a").
¢]— E.i.2 la: MedDRA Version for Reaction / Event #3
{l— E.i.2.1b: Reaction / Event (MedDRA code) #3 ——>
originalText language="E.i.1. 1b"E. 1. 1. 1a¢/originalText>
¢l— E.i. L la! Reaction / Event as Reported by the Primary Source in Native Language #3 —>
{1— E.i.1.1b: Reaction / Event.as Reported by the Primary Source Language #3 —>'
</value>
<logation typeCode="LOC”>
<locatedEnt1ty classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode=" INSTANCE )
<eode code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
{l==E.i.9: Identification of the Country Where the Reaction / Event Uccurred #3 -->
</locatedPlace>
</locatedEntlty>
{/location) '
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
. {code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 980. 2. 1. 1, 19” codeSystemVerslon- L1"
displayName=" reactionForTranslation”/>
. {value xsiitype="ED">E, i.1. 2</va1ue>
¢J=- E.i.1,2: Reaction / Event as Reported by the Primary Source for Translation #3 -
{/cbservation>
{/ottboundRelationship2>
‘CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="37" codeSy#tem— 2.16.840.1, 113883, 3. 988, 2. 1. 1. 19 codeSystemVersaon— .17
dlsplayName— termnghllghtedByReporter 5
<value xsi:type="CE" code="E.i. 3. 1 codeSystem="2. 16. 840. 1. 113883 3.989.2.1.1. 10
codeSystemVersion=”1.0”/) .
¢l=- E.i.3. 1:Term Highlighted by the Reporter #3 —>
¢/observation>
{/outhoundRelationship2>
\ ) {outboundRelationship2 typeCode- PERT >
{observation classCode="0BS” moodCode="EVN"}
<code code="34" codeSystem‘ 2. 16. 840 1.113883.3.989, 2, 1 L 19" codeSystemVer51on— 1.1"
displayName="resultsInDeath”/>
¢valie xsi:type="BL” value="true >
¢!— E. i.3.2a: Results in Death #2 —>
{/observation>
{/outhoundRelationship2>
{outhoundRelationship2 typeCode="PERT">
" {chservation classCode="0BS” moodCode="EVN">, ~
<code code="21" codeSystem="2. 16.840. 1. 113883. 3.980. 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<I— E.i.3.2b: Life Threatenlng #3 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="(0B3” moodCode="EVN">
{code code="33" codeSystem="2. 16, 840. 1, 113883, 3; 989 2.1.1. 197 codeSystemVers1on— .17
displayName= requlreslnpatlentﬂospltallzat1on”/>
{value xsi'type="BL” value="true”/>
{!=— E.i.3.2c! Caused / Prolonged Hospitalisation #3 "->
{/observation®
¢/outboundRelationship2>
{outboundRelatignship2? typeCode="PERT">
<obgervation classCode="0BS” moodCode="EVN">
. {code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVer31on— 1.17
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/> ,
¢|—— E.1i.3.2d: Disabling / Incapacitating #3 —>
{f/observation> . .

;



{/outboundRelationship2>
{outboundRelationshipZ typeCode="PERT'>
{observation classCode="0BS” moodCode="EVN"> .
{code code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989 2.1, 1. 19" codeSystemVersion="1.1"
displayName= congenltalAnomalyB1rthDefect”/>
<value xsiitype="BL" nullFlaver="NI"/> -
<|— E.i.3.2 Congenital Anomaly / Birth Defect #3 —>
{/observation?
{/outboundRelationship2>
<outboundRelat10nsh1p2 typeCode="PERT">
{observation clagsCode="0BS” mcodCode="EVN">
{code code="26" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2 1. 1. 19 codeSystemVersion="1.1"
d1splayName— otherMedicallyImportantCondition”/> :
{value xsi:type= "BL” value=" true "/
<l-- E.1i.3.2f: Other Medically Important Condition #3 -—
{/observation>
</outboundRelationship2>-
<outboundRelationship2 typeCode="PERT"> "
{observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2. 16 840, 1. 113883, 3.989. 2. 1 1. 18" codeSystemVers1on— .17
displayName="outcome”/>
] {value xsi:type="CE” code="E.i.7” codeSystem=”2.16.840.1.113883.3.989.2.1.1.11'
codeSystemVersion="1. 07/>.
) o ¢!— E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #3 -—>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<code code="24" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1, 1. 19" codeSystemVersion="1. 1
d1sp1ayName- "medicalConfirmationByHealthProfessicnal”/>
<value xsi:type="BL" value="true”/>
¢l— E.i.8: Medical Confirmation by Healthcare ‘Professional #3 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="11" codeSystem="2. 16.840. 1. 113883. 3. 989, 5, 1.3, 2. 1. 10" codeSystemVersion="1.0"
displayName="2250 - BEX1"/> : ] o .
) <value xsiitype="CE” code="J2. 14.i” codeSystem="2. 16,840, 1. 113883.3.988.5.1.3.2,.1. 8"
codeSystemVersion="1.0"/> ) ) . S
<l— 08@J2. 14.1i F5 - B4 #3
{/observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBI">
{observation classCode="0BS" moodCode="EVN">
<id root="2¢B9840f-08b4-499c~80f f-dd8415f4f8ab" /> T
<code code="29" codeSystem— 2, 16, 840, 1 113883.3.989. 2. 1. L. 19 codeSystenVersion="1. 17
displayName="reaction”/>
<effectiveTime xsi:type="SXPR_TS” >.
{comp xsiitype="IVL_TS™>
low value="20090101"/>
<1— E.i.4: Date of Start of Reaction / Event #4¢ —>
-<high value~ 201012017 />
¢]-- E.i.5: Date of. End of Reaction / Event M-
* {/comp?
{comp xsitype="TVL_TS" operator="A">
<width value="24""unit="E.i.6b"/> '
¢l-- E.i,Ba: Duration of Reaction / Event {number) ﬁ4 —>
¢|— E.i.6h: Duratlon of Reaction / Event {unit) #4 —
</comp>
{/effectiveTime>
: {value xsi:type="CE" code="E.1i. 9.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystemVer51on— E.i.2.1a™>
¢l—E.i. 2. 1a: MedDRA Version for Reaction / Event #4 —>
¢l== E.i.2. 1b: Reaction / Event (MedDRA code) #4 —>
CoriginalText language="E.1i.l.1b">E.i. 1. la{/originalText>
o {l-~ E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Lafiguage H#4 —>



¢]-- E.i.1.1b: Reaction / Event as Reported by the Pr1mary Source Language #4 —>
<{/value>
<loeatien typeCede="L0C">
{locatedEntity classCode="LOCE">
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">

<code code="E-i.9” codeSystem="1.0. 3166. 1. 2. 2"/> '
<l-=E. i, 9: Ydentification of the Country Where the Reaction / Event Occurred #4 —>
</locatedPlace> ‘
</locatedEntity>
¢flocation>

{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN"> .
{code code="30" codeSystem="2, 16. 840, 1. 113883, 3,989,2.1, 1. 19" codeSystenVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED">E.1i. L. 2¢/value>
{J—E i 12 Reactlon / Event as Reported by the Primary Source for Translation #4 -
{/chservation>
</outboundRelat10nsh1p2> S . ?
{putboundRelationship2 typeCode="PERT"> N
{observation elassCode="0BS” moodCode="EVN™>
{code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion=" 1 17
displayName="termHighlightedByReporter”/>
. <value xsi:type="CE” code="E.1i.3. 1% codeSystem="2. 16. 840, 1. 113883, 3.985.2,1. 1. 10" .
codeSystemVersion="1. 0"/ i '
' ' <l— E.i,3.1:Term Highlighted by the Reporier #4 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="FPERT"> )
Lobservation classCode="0BS" moodCode="EVN"> ' ‘ s
{code code="34" codeSystem="2, 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="resultsInDeath”/> :
. <value xsi:type="BL” value="true”/>
<!—— E.1.3.2a! Results in Death #4 ~->
{/observation> .
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT” >
{ohservation classCode="0BS” moodCode="EVN™>
{code code="21" codeSysten="2. 16. 840 1.113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1,1"
dlsplayName— isLifeThreatening”/>
. {value xsi!type="BL” nullFlavor="NI"/>
{l— E.i.3.2b: Life Threatenlng 44 —>
{/observation>
{/outboundRelationship2> )
{outboundRelationship2 typeCode="PERT"> -
{observation classCode="0BS" moodCode="EVN">
{code code="33". codeSystem="2. 16.840. 1. 113883. 3.989.2.1. 1. 198" codeSystemVersion=’l.1”
displayName="requiresInpatientHospitalization™/> : '
{value xsiitype="BL* value="true”/>
<l—— E.i.3.2c: Ceused / Prolonged Hospitalisation f#4 —>
{f/observation> .
{/outboundRelationship2>
{outhpundRelationship? typeCode="PERT">
{ohservation classCode=”OB$” mocdCode="EVN">
<code code="35" codeSystem="2. 16, B40, 1, 113883. 3, 989.2, 1, 1. 13" codeSystemVersion="1,1"
'd1splayName- resu1tsInPers1stentOrSlgnlflcanthsablllty /> .
<value xsitype="BL” nullFlavor="NI*/>
¢!— E.i.3.2d: Disabling / Incapacltatlng >
{/observation’>
(/outboundRelat10nsh1p2>
(outboundRelatlonshlpZ typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">-
{code code="12" codeSystem=" 2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/> .
<value xsi:type="BL" nullFlavor— NI”/>
¢l== E.i.3.2e: Congenital Anomaly / Birth Defect #4 —>
{/observation>
~ &/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{observation classCode="0B3" moodCode="EVN">



<code code="26" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1, 19” codeSystenVersion="1. 1"
displayName="otherMedicallyInportantCondition” />
.<value xsiitype="BL” value=" true )
¢le E. i.3.2f: Other Medlcally Important Condition #4 -->
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN"> . s
<code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989.2.1.1. 19" codeSystenVersion="1.1"
displayName=”outcome”/> ’ -
<{value xsi:type="CE" code=’E i.7” codeSystem="2. 16. 840. 1. 113883.3.989.211.1,11“
codeSystemVersion="1.0 />
{}— E.i.T: Qutcome of Reaction / Event at the T1me of Last 0bservat1on B4 —>
<fobservation>
</outboundRelationship2> .
<outboundRelationship2’ typeCode="PERT"> -
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSysten="2, 16. 840 1,.113883. 3, 989 2, 1. L 19 codeSystemVers1on— 1.1”
displayName= med1caIConflrmat1onByHealthPrufess1una1 /»
{value xsi:type="BL" value="true”/>
<l-- E.i.8: Medical Confirmation by Healthcare Professional #4 -—>
. ¢/observation> )
{/outboundRelationship2>
<outboundRelationship2 typeCode="] PERT >
<observation classCode="0BS” moodCode="EVN">
. <coda code="11" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="2Rén - BEEN"/> : :
: <value xsi:type="CE™ code="J2.14.i” codeSystem="2. 16, 840.1. 113883, 3.989.5.1.3.2. 1. 8"
codeSystemVersion="1,07/> .
' <!— 6@8y2,14.1 k¥ - BEdn 4 >
</observation>
{/outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBI">
<observation classCode="0BS" moodCode="EVN">
<id root="1071064c-cf10~4a3b-83c1-34f0ddbTeabd”/>
. {code code="20" cndeSystem— 2.16. 840, 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1, 1"
displayName="reaction”/>
effectiveTime xsi: type— "IVL_TS™>
<low value="20090101%/>
(l-- E.i.4: Date of Start of Reaction / Event #5 —
{/effectiveTime>
<value xsi:type="CE" code~ E 1 2. 1" codeSystem— 2 16. 840. 1. 113883, 6. 163
codeSystemYersion="E. i. 2. 1a">
{}-— E.i.2.1a: MedDRA Version for Reaction / Event #56 —>
¢l— E.i.2.1b: Reaction / Event (MedDRA code) #5 —>
CoriginalText language="E.i.1.1b">E.i. 1. la{/originalText>
¢{!—— E,i.l.la: Reaction / Event as Reported by the Primary Source in Native Language #5 ——>
¢|— E.i. 1. 1b: Reacticn / Event as Reported by the Pr1mary Source Language # —
</value>
<location typeCode="LOC™>
. <locatedEntity classCode="LOCE™> .
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E. 1.9 codeSystem="1.0, 3166.1.2.2"/>
¢(!— B.1.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
¢/locatedPlace>
<{/locatedEntity>
</location>
<outboundRelationship? typeCode="PERT"> - \
<observation classCode="0B3" moodCode="EVN"> ’
<code code="30" codeSysten="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName= react1onForTranslat10n s
<value xsi:type="ED"E.i. 1. 2¢{/value>
{l== E.i.1.2: Reaction / Event as Reported by the Primary Source for Translat1on f#5 —>
{/observation>
{/outboundRelationskip2>
<outboundRelationship? typeCode="PERT"> . e
{observation classCode— DBS” moodCode="EVN” > c



{code code="37" codeSystem="2. 16, 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="termHighlightedByReporter”/>
) {value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16.840. L. 113883. 3. 989. 2. 1. 1. 10"
codeSystemVersion="1. 0" /> ‘
¢l=~ E.i.3.1:Term Highlighted by the Reporter #5 —->
{/observation? '
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">.
" <{observation classCode="0BS” moodCode="EVN">

{code code="34" codeSystem="2, 16, 840, 1. 113883, 3.989.2, 1. 1, 19" codeSystemVersion="1.

) dlsplayName- resultsInDeath'/>
{value xsi:type="BL" value— true”/>
{l— E.i.3.2a: Results in Death #5 —>"
{/observation>
¢/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
{ohservation classCode="0B5" mcodCode="EVN"> .

<code code="21" codeSystem="2. 16.B40.1. 113883, 3, 989, 2. 1. 1. 18" codeSystemVersion="1.

displayName="1isLifeThreatening”/>
{value xsi:type="BL” nullFlaver="NI"/>
== E.i.3.2b: Life Threatening ﬂE ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
. <observation classCode="0BS" moodCode="EVN">

<code code="33" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="requiresInpatientHospitalization”/>
¢value xsi:type="BL” value="true”/>
¢l--E.i.3.2¢' Caused / Prolonged Hospitalisation #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT"> N
<observation classCode="0BS” moodCode="EVN">

<code code="35" codeSysten=" 2, 16. 840, 1. 113883, 3,085, 2 1. 1. 19" codeSystemVersion="1.

displayName="" resultsInPers1stent0r51gn1flcantDlsab111ty”/>
<value xsi:type="BL” nullFlavor="NI"/>
{l=~ E.{i.3.2d: Disabling / Incapacitating #5 —> '
</ohservation> . :
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1 19" codeSystemVersion="1

displayName="congenitalAnomalyBirthDefect”/>
<value xsi!type="BL” nullFlaver="NI"/>
<l— E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

Ctode code="26" codeSystem="2. 16, 840. 1. 113883. 3.989.2. 1.1, 19" codeﬁystemVersion=b1

‘dlsplayName- otherMedical lyImportantCondition” />
{value xsi:type="BL” value="true”/>
¢{!— E.1.3.2f: Other Medically Important Condition #5 —>
{/observation>
{/outhoundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN*>

{code code="27" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="outcome”/> :
' {value xsi:type="CE" code="E.i.7" codeSystem="2.16.840.1.113883.3.889.2.1,1.11"
codeSystemVersion="1.07/> -
{1—— E.i.7: Qutcome of Reaction / Event at the Time of Last Obsérvation #5 —>
{/observation}
. </outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

{code code="24" codeSystem="2, 16, 840. 1, 113883, 3, 989, 2 1L 19 codeSystemVers1on— 1.

displayName="medical ConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true"/>

—
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{l-- E i, 8! Medical Confitmation by Healthcare Professxonal #5 —_
{/observation>
{/outboundRelationship2>
" <outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
‘ Ccode code="11" codeSystem="2. 16. 840, 1. 113883. 3, 989, 5. 1. 3. 2. 1. 10" codeSystenVersion="1.0"
displayName="3R%n « BE&"/>
‘ {value xsi:type="CE” code="J2. 14.i" codeSystem="2.16, 840.1.113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1, 0" /> .
<)— @88J2.14.1 #H - BER #5 —>
</observation .
<{/outboundRelationship2>
{/observation>
‘¢/subject0f2> ]
{subject0f2 typeCode="SBJ">
{chservetion classCode="0BS” moodCode="EVN">
{id root= 1f927283—10b6—4334—9d43-9925640fb18f />
‘{code code="28" codeSystem="2. 16, 840. 1. 113883.3.989,2. 1. 1. 19" codeSysthVers1on 7117
dlsplayName— reaction’ />
<effectiveTime xsi:type="IVL_TS">
<high value="200901017/> |
{l-- E.i.4: Date of Start of Reaction / Event #6 —
{/effectiveTime>
. <value xsiitype="CE” code="E.i.2.1b" codeSystem="2.16.840. 1. 113883, 6. 163"
codeSystemVersion="E. i. 2, 1a">
¢l== E.i.2 la: MedDRA Version for Reaction / Event #6 —> .
N ¢l-- E.i,2.1b: Reaction / Event (MedDRA code) #6 —> '
{originalText language="E.i.1.1b">E.i.1. 1a</or1g1na1Text>
¢l=~ E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #56 ——>
<}— E.i. L 1b! Reaction / Event as Reported by the Primary ‘Source Language #6 —>
{/value> '
<location typeCode="LOC">
<locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E, i..07 codeSystem="1.0. 3166. 1. 2.2"/>
{l== E.1.9: Identification of the Country Where the Reaction / Event Occurred #6 -~—>
{/locatedPlace> . o
¢{/locatedEntity>
¢/location>
. {outboundRelationship2 typeCode- PERT™>
<{observation ¢lassCodé="0BS" moodCode="EYN">
{code code="30" codeSystem="2, 16. 840. 1.113883, 3, 989, 2. 1. 1. 18" codeSystemVer31on— .17
d1sp1ayName— reactionForTranslation”™/>
<value xsi:type="ED">E.i.1.2<{/value>
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 ~->
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
observation classCode="0BS” moodCode="EVN"> !
<code code="37" codeSystem="2, 16. 840. 1. 113883. 3.980.2.1. 1, 19" codeSystemVer51on~ 1.17
displayName="termHighlightedByReporter”/> .
{value xsi:type="CE” code=" E.i.3.1 codeSystem="2. 16, 840, 1. 113883, 3. 989. 2.1, L. 10"
codeSystenVersion="1,0"/>
- E.i.3.1:Term Highlighted by the Reporter #e -
¢/obsérvation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN"> .
{code code="34" codeSYStem- 2. 16. 840, 1. 113883, 3. 989: 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName— *resultsInDeath”/> ‘ . ’
<value xsi:type="BL” value=" true”/>
¢l~- E.i.3. 2a! Results in Death f#6 —
</observation)
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN"> .
{code code="21" codeSystem— 2,16, 840, 1, 113883, 3.98%. 2. 1. 1. 19 codeSystemVersion="1. 1"
dlsplayName- isLifeThreatening”/>
{value xsi:type="BL" nullFlavor— “NI"/>



<l-- E. i.3.2b: Life Threatening #6 —>
{/observation>
<{/outboundRelationship2>
<outhoundRelationship2’ typeCode="FERT">
{observation classCode="0BS” moodCode="EVN">
{code code="33" codeSyster="2, 18, 840, 1. 113883, 3,989, 2. 1. 1. 19” codeSystemVersion="1,1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="irue”/>
¢{1— E.i.3.2¢c: Caused / Prolonged Hospitalisation #6 —>.
{/observation>
</outboundRelat10nsh1p2>
<outboundRe1atlonsh1p2 typeCode="PERT">
{cbservation classCode="0BS" moodCode="EVN">
{code code="35%" codeSystem="2. 16, 840. 1. 113883 3.989,2.1.1.19" codeSystemVers1on— 117
. displayName=" resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/>
<!-- E.i.3.2d: Dlsabllng / Incapacitating #6 -
{/observation>
{/outboundRelationshipZ>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” mcodCode="EVN">
: <code code="12" codeSystem— 2.16.840.1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
‘ <value xsi:type="BL” nullFlavor= NI”/>
¢l— E.i.3.2e: Congenital Ancmaly / Birth Defect #6 —>
{/observation>
{/outboundRelationship2> ]
{outboundRelationship? typeCode="PERT"> ‘ ‘
{observatien classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2. 16. 840, 1. 113883 3.989.2. 1. 1. 18" codeSystemVerslon— .17
dlsplayName— otherMedicallyImportantCondition”/> IR .
{value xsiitype="BL" value="true”/> .
{l— E.i.-3.2f: Other Medically Important Condition #6 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
, {code code="27" codeSystem="2, 16, 840, 1, 113883, 3,080.2, 1, 1. 19" codeSystemVerslon- 1,17
displayName="outcome”/>
. {value xsiitype="CE” code="E.i.7" codeSystem="2.16.840.1.113883.3,989.2.1.1.11"
codeSystemVersion="1,0"/> ’ : ‘
<{I— E.i. 7! Outcome of Reaction / Event at the Time of Last Observation #6 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840, 1. 113883 3,989,2.1,1. 19”7 codeSystemVers1on— L1
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true’/»
{l— E.i.8: Medical Confirmation by Healthcare Professional #6 —>
{/vbservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode— 0BS” moodCode="EVN” >
. {code code="11" codeSystem="2. 16, 840, 1. 113583. 3. 989.5.1.3.2.1.10 codeSystemVer51on— 1.0
displayName="3%n + BE%0"/> : .
. {value xsi:type="CE” code="J2, 14.1" codeSystem=”2.16.840.1.113883.3.989.5.1.3.2.1.8'
codeSystemYersion="1.0"/> .
- @@@I2 14,3 Hsn . EE%H #6 —>
¢/ohservation
{/outboundRelationship2>
{/observation>
{/subject0f2>
¢subject0f2 typeCode="SBI">
<observation classCode="0BS” moodCode="EVN">
{id root="80342969-38be-423f-h6bb—celdbc279d48e” /> .
{code code="29" codeSystem="2. 16. 849, 1. 113883, 3. 989 2.1.1. 19" codeSystemVersion="1.1"
displayName="reaction”/> ) . !
<effectiveTime xsi: ‘type="TVL_T3">



<width value="24" unit="E.i.6b"/>

¢!-- E.i.Ba: Duration of .Reaction / Event (number) #—

{t~ E.{i.6b: Duration” of Reaction / Event (unit) #7 —
{/effectiveTimed
¢value xsiitype="CE" code="F.i.2.1bh" codeSystem="2. 16. 840. 1. 113833. 6. 163

codeSystemVersion="E. i, 2. 1la">

<l— E.i.2 la: MedDRA Version for Reaction / Event #7 -

¢l— E.i.2.1b: Reaction / Event (MedDRA code) #7 —>

{originalText language="E.i.1.1b">E.i.1. la¢/originalText>

"¢}~ E.i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language ¥ —

¢|— E.i.1.1b! Reaction / Event as Repurted by the Primary Source Language #7 -=>
{/value>
{iocation typeCode=" LOC 7.
{lecatedEntity classCode="LOCE">
<locatedPlace classCode="CQUNTRY” determlnerCode— INSTANCE™>
{code code="E.i.9” codeSysten="1.0.,3166. 1. 2. " />

{I--Ei9: Identlf:cat1on of the Country Where the Reaction / Event Occurred #7 -->

<{/locatedPlace>
{/locatedEntity>
{/location>
'<outboundRelat10nsh1p2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

N <code code="30" codeSystem="2. 16.840, 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1.1"

di splayName="reactionForTranslation”/>
<value xsi:type="ED">E.i. 1. 2<¢/value>

¢l— E.i.1.2: Reaction / Event as Reported by the Pr1mary Source for Translation #7 —>

{/observation>
*{/outboundRelationship2> i
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

{code code="37" codeSystem=’2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1, 1%

d1splayName- termHlghl1ghtedByRepDrter />
<value xsi:type="CE” code="E.i.8.1" codeSystem— 2. 16. 840 1,113883, 3,989, 2, 1,1, 10"
codeSystenVersion="1. 0"/>
<}—— E.i.3. 1:Term Highlighted by the Reporter #7 —>
{/ohservation> ' ’
{/outboundRelationship2>
<outboundRelationship2 typeCods="PERT’>
{observation classCode="0BS” moodCode="EVN"> .
{code code="34" codeSystenr 2,16, 840, 1. 113883 3,989.2. 1.1.19" codeSystemVersion="1.1"
displayName="resultsInDeath”/> ‘
{value xsi!type="BL” value="true”/>
+ {|— E.i,3.2a: Results in Death #7 -
{/ohservation>
</outboundRelationship2> i
<ocutboundRelationship2 typeCode="PERT"> ‘ -
<observation classCode="0BS” moodCode="EVN"> T
) {code code="21" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. L. 1. 19" codeSystemYersion="1.1"
displayName="isLifeThreatening”/> .
<value xsiitype="BL” nullFlavor="NI"/>
¢1— E.i.3.2b: Life Threatening #7 —>
{/ohservation) ’
{/outboundRelationship2>
<outhoundRelationship2 typeCode="FERT">
<observation classCode="0BS" moodCode="EVN">

<eode code="33" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1,1"

displayName=”requireélnpatientHospitalization”/>
. {value xsitype= “BL” value="true”/>
<!—— E.1.3.%! Caused / Prolonged Hosp1talzsat10n #7 —>
{/ohservation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

<code code="35" codeSystem="2. 16. 84Q 1.113883, 3. 989, 2. 1. 1, 19" codeSystemVersion="1.1"

d1splayName- “resultsInPersistentOrSignificantDisability”/>
<{value’ xsi:type="BL” nuliFlavor=" NL” /5
<]— E.i.3.2d: Dlsabllng / Incapacitating #7 —>
{/observation>
. </outboundRelationship2>



{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840, 1. 113883.'3, 985. 2. 1. 1. 18" codeSystemYersion="1.1"
displayName="congenitalAnowalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI />
¢!-— E. i.3.2e: Congenital Anomaly / Birth Defect #7 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
i {code code="26" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1,1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL"” value="true”/> -
<|-— E.i.3.2f: Other Medlcally Important Condition 7 —>
{/observation>
</outboundRelaticnship2}
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2, 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystenVersion="1. 1"
" displayName="outcome”/> : -
. <value xsi:type="CE” code="E.i.7" codeSystem="2. 16, 840.1, 113883.3.989. 2, 1. 1. 11”
codeSystemVersion="1. 0"/> . '
¢!-- E.i. 7! Qutcome of Reaction / Event at the Time of Last Observation #7 —>
. </observation>
<{/outboundRelationship2>
<outboundRelationship? typeCode="FERT">
{shservation classCode="0BS” moodCode="EVN">
) {code code="24" codeSystem="2. 16.840. 1. 113883. 3.980.2.1.1.19" codeSystemVers1pn— L1
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
¢l-- E.i.8: Medical Confirmation by Healthcare Professional #7 —>
{/obsgervation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCods="EVN™>
{code code="11" codeSystem="2, 16, 840. 1. 113883, 3. 989, 5. 1, 3. 2. 1, 10" codeSystemVersion="1, 0"
displayName="3<40 « BEAD"/> K ]
{valie xsi:type="CE" code="J2.14.i" codeSystem="2, 16.840, 1, 113883.3,989.5,1.3.2,1.8"
codeSystenVersion="1,0"/>
<I-- @aBT2, 14.1 HRE - BB 47 —>
{/observation>
</outboundRelationship2>
{/observaticn
{/subject0f2>
{subjectOf2 typeCode=" SBJ >
{observation classCode="0BS" moodCode="EVN">
{id root="215be092-8070~42Bd-af04-6863263443e0" />
Lcode code="29" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2. 1. 1, 19” codeSystemVersion="1.1"
displayName=" reactlon 0 ) '
{effectiveTime xsiitype="SAPR_TS">
{eomp xsiitype="IVL_TS">
<low value="20090101"/>
¢{I— E.i.d4: Date of Start of Reaction / Event #8 —>
<width value="24" unit="E.i.6éb"/>
(!~ E.i.6a: Duration of Reaction / Event (number) #8 —>
{!— E. i.6b: Duration of Reaction / Event (unit) #8 -->
{/comp>
- {eomp xsiitype="IVL_TS” operator="A">
<high ,value="20101201"/> ‘
{l— E.i.5: Date of End of Reaction / Event #8 >
{/comp>
{/effectiveTime> . |
<value xsiitype="CE” code="E.1i.2.1b" codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystenVersion="E.'i. 2. 1a™> C
€l-- E. 1.2 la: MedDRA Version for Reaction / Event #8 -->
<l— BE.i.2.1b: Reaction / Event (MedDRA code) #8 —>
<originalText language="E.i. L 1b">E.1i.1l.1a{/originalText>
<{l— E.i, 1, la: Reaction / Event as Reported-by the Primary Source in Native Language #8 —)
¢!—— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #8 —>



codeSystemVersion="1. 0" />

displayName="resultsInPersistentOrSignificantDisability”/>

{/value>

{location typeCode="LOC*> -
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1,0, 3166.1,2.2"/>
{t== E i,9: Identification of the Country Where the Reactlon / Event Occurred #8 —>
{/locatedPlace>
¢/locatedEntity>
{/location> '

{outbotindRelationship2 typeCode="PERT™>

{observation classCode="0BS" moodCode="EVN">
<code code="30" codeSystem="2. 16.840, 1, 113883, 3. 989. 2. L. 1. 19" codeSystemVerslon- 117

displayName="reactionForTranslation”/>

<value xsiitype="ED"JE i, 1 2<{/value>
{!—— E.1i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 -—>
{/observation’ .
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT” >
{observation classCode="0BS" moodCode="EVN">
<eode code="37" codeSystem="2, 16, 840, 1. 113883, 3.989. 2. 1.1. 19" codeSystemVers1on- 1. 1"

'dlsplayName- termiighlightedByReporter™/> -

{value xsi: type— “CE” cpde="E.i.3.1” codeS&stem=”2.16.840.1.1138%3.3.989.2.1.1.10'

¢l-— E.i.3.1:Term Highlighted by the Reporter #8 -
{/observation> .
</outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™> ‘ .
<code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"

dlsplayName— resultsInDeath”/>

<value xsi:type="BL". value="true”/>
¢l— E.i.3.2a: Results in Death #8 -->
{/observation>
{/outboundRelationship2>
<gputboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2.16. 840, 1.113883.3.989.2.1,1.19" codeSystemVeréion=”1.1”

displayName=" 1sL1feThreaten1ng e

<value xsi:type="BL” nullFlavor="NI"/>
{l== E.i.3.2b: Life Threatening #8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> L )
{ende code="33" codeSystem="2. 1B. 840, 1 113883, 3. 989. 2 1.1.19" codeSystemVersion="1.1"

displayName="requiresInpatientHospitalization e

<value xzsi:type="BL” value="true”/>
¢l-— E.i.3.2c: Caused / Prolonged Hospitalisation #8 -
{/observation>
{/outboundRelationship2> .
<outboundRelationship2 typeCode="PERT">
<observation classCode="(BS" moodCode="EVN">
{code code="35" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2 1.1.19" codeSystemVersion="1.1"
{value xsi:type="BL” nullFlavor="NI"/> .
¢!—- E.i.3.2d: Disabling / Incapacitating #8 -—> .
{/observation> . . )
</outhoundRelationship2) : . . >
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSysten="2. 16, 840, 1, 113883, 3 989 2.1.1. 19" codeSystemVersioen="1..1"

d1splayName— congen1talAnomalyB1rthDefect”/>

.<value xsi:type="BL" nullFlaver="NI"/>
¢l~= E.i.3.%: Congenital Ancmaly / Birth Defect #8 -
{/observation> . T
{/outboundRelationship2>
{guthoundRelaticnship2 typeCode="PERT">
- {gbservation classCode="0BS" moodCode="EVN"> :
{code code="26" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"



displayName="otherMedicallyImportantCondition™/>
<value xsi:type="BL” value="true”/>
<I-- E.i.3.2f: Other Medically Important Condition #8 —
{/ochservation>
</outboundRelationship2y
_ <outboundRelationship2 typeCode="FERT">
{observation classCode="0BS” mocdCode="EVN">
<code code="27" codeSystem="2. 16. 840. L. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome”/> : . ) -
. <value xsi:type="CE”'code=”Efi 7" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1.1, 11"
codeSystemVersion="1.0"/>
e E +i. 7:" Qutcome of Reaction / Event at the Time of Last Observation #8 —>
{/observation>
{/outboundRelationship2>.
{outboundRelationship2 typeCode="PERT">
" <observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
dlsplayName- medicalConfirmationByHealthProfessional”/>
<value xsi'type="BL" value="true”/>
¢}=~ E.i.8: Medical Conflrmatlon by Healthcare Prof9551onal #8 —>
</observation> .
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem— 2.16.840. 1. 113883, 3.989.5.1.3.2. 1. 10" codeSystemVerslon— 1.0
displayName="3&n - BE&0"/>
<{value xsi’ type— CE” code=" JZ 14.1” codeSystem=" 2. 16.840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 8"

codeSystenVersion="1,0"/> .
' <l— @e@Ja.14. i ﬂ%ﬁﬂ Eﬁiﬂ #8 —>
{/observation> '
</outhoundRelationshin2>
</cbservation®
¢/subject0s2> _
{subject0f2 typeCode="SBI">
<organizer classCode="CATEGORY” moodCode="EVN")>
B {code code="3" codeSystem="2. 16, 840, 1. 113883. 3.989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="testsAndProceduresRelevantToTheInvestigation”/>
{component _typeCode="COMP">
{observation classCode="0BS" moodCode="EYN">
{code code="F.r, 2. 2b" codeSystem— 2.16. 840. 1. 113883, 6. 163" codeSystemVersion="F.r.2.2a">
¢(!—- F.r.2.2a: MedDRA Version for Test Name #1 —> ‘
<}== F.r.2.2b: Test Name (MedDRA code) #1 -
{originalText>F.r. 2. 1{/originalText>
= F.r.2.1: Test Name (free text) #1 —> |
</code>
<effectiveTime value="20090101"/>
<l== F.r.1: Test Date #1 -->
{value xsi:type="IVL;PQ">
{center value="10" unit="ng/d1”/>
J== F.1.3.2: Test Result (value / qualifier) #1 -—>
{!—— F.r.3.3: Test Result (unit) #1 —>
{/valua> '
L {interpretationCode code=" F.r. 31" codeSystem— 2.16.840. 1. 113883. 3. 989. 2. L. 1. 12"
codeSystemVersion="1, 0" />
' - F.r.3.12 Test Result (code} #1 ——
{referenceRange typeCode="REFV">
<observationRange classCode="0BS” moodCode="EVN.CRT">
¢value xsi:type="PQ” value="40" unit="mg/d1"/>
<l-- F.r.4: Normal Low Value #1 —>
{interpretationCode code="L" codeSystem="2. 16. 840. 1. 113883. 5. 83" />
{/observationRange>
| {/referenceRange> - -~
{referenceRange typeCode="REFV">
{cbservationRange classCode="0BS" mnodCode— EVN. CRT">
<value xsiitype="PQ" value="110" unit="mg/d1"/>
¢{!-- F.r.5: Normal High Value #1—> :
{interpretationCode code="] H codeSysten="2. 16. 840, 1, 113883, 5. 83" />
{/observationRange>
. </referenceRange>



<cutboundRelationship2 typeCode="PERT"> ) '
<observation classCode="0BS” moodCode="EVN"> : ’

{code code="10" codeSystem— 2.16.840.1. 113883.3.989. 2.1, 1. 19" cndeSystemVers:on— 1.17
displayName="comment” />
‘ " <yalue xsi:typé=”ED”>F.r.6(/va1ue>

{[-- F.r.6: Comments (free text} #1 —>
</observation> . '
</outboundRelationship2> ) '
-{outboundRelationship? typeCode="REFR"> S
{observation classCode="0BS" moodCode="EYN">
{code code="25" codeSjstem=”2 16 840. 1.113883.3.989, 2, 1. 1. 19* codeSystemVersion="1.1"
displayName= moreInformat1onAva1lable /)
¢value xsi:type="BL" valte="true />
¢!--F.r.T: More Information Available #1 -->
</observation> ;
</outboundRelationship2>
{/cbservation>
<{/component>
{component typeChde— CoMP*>
. {observation tlassCode="0BS” moodCode="EVN"> '
{code code="F.r. 2. 2b" codeSystem=’2.16.340.1.113883.6.163”xcodeSystemVersipn="Fhr.2.2a">
{l-- F.r.2.2a: MedDRA Version for Test Name #2 —>
¢l— F.r.2.2b: Test Namé¢ (MedDRA code) #2 —>
<origina1Text>F.r.2.1</uriginalText>
¢{!=—— F.r.2.1: Test Name (free text) #2 —>
{/code?
- CeffectiveTime value= 20090101"/)
<)== F.r.1: Test Date #2 -
<value xsi:type="IVL_PQ">
{low nullFlaver="NINE"/> .
. <high value="10" unit="mg/dl” inclusiye="false”/>
</value>
¢!~ F.r.3.2: Test Result (value / qualifier) #2 —>.
¢}— F.r.3.3: Test Result (unit) #2 —=>
<1— LT 10 mg/dl #2 —>
</observat1on>
{/component¥
{component typeCode="COMP*>
{observation classCode="0B5" moodCode="EYN">
_<code code="F.T.2.2b" codeSystem="2. 16,840, 1, 113883 6. 163" codeSystemVersion="F.r.2.2a">
<l— F.r. 2. 2a: MedDRA Version for Test Neme #3 ——> - ’
<l=— F.r.2.2b: Test Name (MedDRA code) #3 ——>
LoriginalTextOF. . 2. 1<{/criginalText>
¢— F.1.2.1: Test Name (free-text) #3 -
. {/coded .
<effectiveTime value="20090101"/>
¢]— F.r.1: Test Date #3'—>
{value xsi:type="IVL_PQ">
<low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inciusive=”true”/>
</value>
¢!-- F.1.3,2: Test Result (value / qualifier) #3 —>
<!=- F.r.3.3! Test Result (unit) #3 —> ' .
<]-- LE 10 mg/dl #3—> -
{/observation> . : )
{/component>
{component typeCode="COMP*> ‘
{observation classCode="0BS” mocdCode="EVN"> ‘
<code code="F.r.2. 2b" codeSystem="2. 16. 840. 1, 113883. 6. 163" codeSystemVersion="F.r.2.2a">
¢!— F.1.2 2a: MedDRA Version for Test Name 4 —> :
|-~ F.1.2.2b: Test Name (MedDRA code) #4 —>
{priginalText>F. r. 2. 1{/original Text>
{I— F.r.2.1! Test Name (free text) #4 -->
</code>
<effectiveTime value= 20090101”/)
¢l== F.1. 1! Test Date #4 —>
{value xsi:type="IVL_PQ">
{low value="10" unit="mg/dl” inclusive="false”/>’
~-<high nullFlavor="PINF"/>



</value>
<l-— F.r.3.2: Test Result {value / qualifier) #4 —)
<l-- F.z.3.3: Test Result (unit) #4 —
<l—— GT 10 mg/dl #4 —>
{/observation>
</component>
{component typeCode="COMP">
<ohservation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b"% codeSystem="2, 16, 840. 1. 113883. 6. 163" codeSystenVersion="F.r. 2. 2a">
{!— F.r.2 2a: MedDRA Versicn for Test Name H5 —>
<!~ F.r.2.2b: Test Name (MedDRA code) #5 —>
{originalText>F. r. 2. 1</originalText>
{l— F.r.2.1: Test Name (free text) #5 -->
<{feode>
{effectiveTime value— 20090101° />
{l— F,r.1: Test Date #5 —>
<value xsi:type="IVL_PQ™> :
<low value="10" unit="mg/d1” inclusive="true”/>
¢high nullFlavor="PINF”/>
{/value>
<) F.r.3.2: Test Resuit (value / qualifier) #5 —>
€1— F.r.3.3: Test Resnit (unlt) # —>
<{1-- GE 10 mg/dl #5 -~
{/observation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN” > .
,<code code="F. r. 2, 2b” codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2.2a">
<l=— F.r.2,.2a: MedDRA Version for Test Name #6 —=>
4= F.r.2.2b: Test Name (MedDRA code) #6 —>
{originaiText>F. r. 2. 1<{/originalText>
{l— F.r.2.1: Test Name (free text) #6 "-)
{/code>
<effectiveTime ‘value="200801017/> -
<{— F.r. 1: Test Date #6 —>
{value xsi:type="ED">F.r. 3.4</value>
¢l== P r/3.4: Result Unstructured Data (free text) #6 —>
{/observation>
{/component>
{/organizer>
{/subject0f2>
{subjectOf2 typeCode="SB]">
{organizer elassCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2. 16. 840 1.113883. 3. 989, 2, 1. 1 20" codeSystemVersion="1, 0"
- displayName="drugInformation”/>
¢l== 6.k Drug{s) Information (repeat as necessary) #l —>
{component typeCode="COMP">
" <substanceAdministration classCode="SBADM” moodCode— EVN™>
<id root= 3c91b4d5—3039—4a7a-9c30-67571b0ef9e4 )
{eonsumable typeCode="CSM">
<instance0OfRind classCode="INST”>
<kindQfProduct classCode="MMAT" determ1nerCude» KIND">
{code code="G.k.2.1.1b" codeSystem=" TBD-MPID” codeSystemVers1on— G k2.1, la”/>
<I— G, k.-2.1,1a: MPID Version Date / Number #1 —>
{l=— 6.k.2.1.1b: Medicinal Product Identifier (MPID) #1 -->
<{nane>G. k. 2. 2{/name>
<l-- G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 'l
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBI">
<approval classCode="CNTRCT” moodCode— EVN™
<id extension="G.k.3.1” root="2.16.840. 1. 113883, 3. 989, 2. 1. 3. 4" />
<{l-- 6. k.3.1: Authorisation / Application Number #1 ——>
<holder typeCode="HLD"™> -
{role classCode="HLD">
<playingOrganization classCode="0RG" determinerCode="INSTANCE">
<name>G. k. 3. 3¢/nane>
<l— 6.k 3.3: Name .of Holder / Applicant #1 —>
</playingOrganization>
{/role>

"



{/holder>
<author typeCode="AUT">
<territorialAuthority classCode="TERR™>
{territory classCode="NAT" determinerCode="INSTANCE”>
¢code code="G. k. 3. 2" codeSysten="1,0, 3168, 1.2.2"/>
" ¢l— 6.k 3.2: Country of Author1sat1on / Application #1 —>
{/territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode— PERT”>
<policy classCode="POLICY” moodCode="EVN">
{code code="J2.5. k" codeSystem="2. 16. 840, 1. 113883. 3. 989, 5. 1. 3. 2. 1. 4"
codeSystenVersion="1,0"/> _ ) '
<|— 08eJ2.5.k: —BEESECY AYELHE 1 —
{/policy? ~ ' "
{/pertinentInformation
' ¢/approval>
{/subject0f>
{subject0f typeCode=" SBI ?
{characteristic classCode="0BS” moodCode="EVN">

<code code="1" codeSystem="2. 15, 840, 1. 113883. 3. 989. 5. 1. 3.2, L, 107
codeSystemVersion="1.0" displayName= “HERREORAERN"/,>

<va1ue xsi:type="CE” code="J2.4.k" codeSystem— 2. 16, 840, 1. 113883. 3.989.5.1. 3. 2. 1. 37
codeSystemVersion="1.0"/>
: (Il @082 4. k: FHEESSORRES #1 —
{/characteristic>
£/subjectOf>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialKind classCede="MAT” determinerCode="KIND">
{code> ’
CoriginalText>]J2. 12¢/originalText>
<1-- @gy2. 12: BBREESRES —

{/coder
{/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI™>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
¢J— G.k. 2.3.7.3a! Strength (number) #1-1 ——>
© ¢l— G.k 2.8.1. 3b: Strength (unit) #1-1 >
{denominator value="1"/>
</quantity>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
. {code code="G.k.2.3.1.2b" codeSystem="TBD-Substance”
codeSystenVersion="G.k. 2. 3.r,2a"/> ’ :
. <l-- 6.%.Z.3.1. 2a: Substance / Specified Substance TernID Version Date / Number #1-1
-3 . .
<l— G.k 2.3.r. 2b! Substance / Specified Substance TernID #1-1 —>
<name>G, k. 2. 3. r. 1{/name>
<1-- G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
¢/ingredientSubstanced
¢/ingredient> ‘
{ingredient classCode="ACTI"> !
- {quantity> '
{npumerator value="10" unit="G.k.2.3.1.3b"/>
¢l-- G.k.2. 3.x.3a! Strength (number) #1-2 —>
<l— G.k.2.3.1.3b: Strength (unit) #1—2 —>
<denominator valus="1"/>
{/quantity>
{ingredientSubstance cldssCode="MMAT” determinerCode="KIND">
) ' Ceoda cede="G.k.2.3.1.2b" codeSysten="TBD-Substance”
codeSystemVersion="G. k. 2, 3. r. 2a" /> - " .
<F—Gk1&nki%MmMe/%wdeMMmmehmDVuﬂdDmgfmmu#kZ
-
I— G.k.2.3.r.2b Substance / Specified Substance TermID #1-2 > .
mmvﬁkZ&LKhmw
¢}— G.k.2.3.r.’1: Substance / Specified Substance Name #1-2 —>

{/ingredientSubstance>



{/ingredient>
</kind0fProduct> !
" {subjectOf typeCode="SBJ">
{productEvent classCode="ACT” moodCode="] EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. . 1. 18" codeSystemVer51on— 1.0"
displayName="retailSupply”/>
{performer typeCode=”PRF') :
{assignedEntity classCode="ASSIGNED">
{represented0rganization classCode="ORG” determinerCode="INSTANCE*>
<addr>
<country>G. k. 2, 4</country>
{l—— G. k. 2.4: Identification of the Country Where the Drug Was Obtained ¥l —>
~ {/addr> .
{/representedOrganization>
{fassignedEntity>
</performer>
{/productEvent>
</subjectpf>
{subjectOf typeCode="SB]">
{ohservationEvent classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2. 16.840. 1, 113883. 3. 989. 5. £. 3. 2. 1. 10"
codeSystemVersion="1. 0" displayName="—#kHEEROAERIE"/>
<whem1Wm—m code="J2.6. %" m%ﬁﬂmy216ﬂ011m%33%&&L&2L5
codeSystemVersion=”1.0”/>‘
- ‘ <I-- 888J2.6.k: —RMEZEROAFER #1 —
{/observaticnEvent>
<{/subjectOf>
{/instance0fKind>
{/consumable>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
d— G.%. 9.1.3,1a: Time Interval between Beginning of Drug Adm1nlstrat10n and Start of
Reaction / Event (number) Drug #1, Reaction #1—>
{I 6.k 9.1.8.1b: Time Interval between Beginning of Drug Adm1n1strat10n and Start of
Reaction / Event (unit) Drug #1, Reaction #1 —>
<actReference c¢lassCode="0BS" moodCode="EVN">
<id root="154eh889-068b=4512-a02f~4204d6L4657F" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode=" SAE >
{pauseQuantity value="10" unit="G.k 9.i.3.2b"/>
<|— 6.k.9.i.3.2a7 Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #1 —> -
¢{l—- G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1; Reactlon # — .
{actReference classCode="0BS” moodCode="EVN")>
, <id root= 154eb889—95Bb—45f2—502f—42d4d6f4557f"/>
{/actReference’ .
</outboundRelaticonshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit= G.k.9.1.3.1b />
¢l— (.k.9.1i.3.1a: Time Interval between Beg1nn1ng of Drug Adm1n1strat10n and Start of
Reaction / Event (number) Drug #1, Reaction #2 —>
I 6.k 9.1i.3.1b: Time Interval between'Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #2 —>
<actReference classCode="0BS" moudCude» EVN">
<id root="2baa28d6- 0998—4960—9399—5h860b314220"/>
{/agtReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">

{pauseQuantity value="10" unit="G.k.9.i.3.20"/"
- G.k.9.1.3.23 Time Interval between Last Dose of Drug and Start of Reactiun / Event
{number) Drug #1, Reaction #2 —>
. ¢l— 6.k 9.1,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #1, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVN">
" <id root="2baa28d6-c9eB~4e6c-33e9-6b860b314220" />
</actReference>
{/outboundRelationshipl>



{oputhoundRelationshipl typeCode="SAS"> .
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/"> !
¢!~ 6.k 9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (numher) Drug #1, Reaction §3 >
- G.k.9.i. 3, 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unlt) Drug #1, Reaction #3 —>
. ¢actReference classCode="0BS” moodCode="E¥N">
£id root= 3a8626cb-9f1b—4ea8—8a0f—e0ff34430&df />
{/actReference
</cutboundRelationshipl>
<outboundRelationshipl typeCode="SAE">

{pauseQuantity value="10" unit="6.k. 9. i.3.2b"/>

¢]— 6.k.9.4.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #3 —> :

¢{l-- 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #1 Reaction #3 —>
{actReference classCode="0BS” moodCode="EVN">
<id root= 338626cbr9f1b—4ea8-8a0f—e0ff344303df />
{/actReference’
</outhoundRe1at1onsh1p1>
* ¢outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" wnit="G.k. 9.i.3.1b"/>
<|~— 6. % 0.1,3.1a! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #4 —>
¢l~— G.% 9,i.3, 1b: Time Interval between Beginning of Drug Administration and Start of
Reactlon / Event (unit) Drug #1, Reaction #4 —>
¢actReference classCode="0BS” moodCode— EVN">
£id root="2¢99840f-08b4-499¢c-80ff~ddB415f4£8a5" />
{/actReference> .
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k. 9. 1. 3. 2b"/>
<|—— G.K. 9. i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #4 —>
{l— G. k. 9.i.3. Zb Time Interval between Last Dose of DruE and Start of Reaction / Event
{unit) Drug #1, Reaction #4 -
<actReference classCode="0BS” moodCode— EVN™>
. . ' <id root="2e89840f-08b4~-409c-80FF-ddR415f4F8a5" />
{/actReference>
{/outboundRelationshipl> - .
<outboundRelationshipl typeCode="SAS">
. {pauseQuantity value="10" unit= G.k.9.1.3.1b”/> :
<|-- 6. k.9.1.3. lat Time Interval between Beginning of Drug Adm1n1strat1on and Start of
Reacticn / Event (number} Drug #1, Reaction #5 —>
. =~ G.k.9.1i.3.1b: Time Interval betwegn Beginning of Drug Administration and Start of
_Reaction / Event (unit) Drug #1, Reaction #5'-—>
<actReference classCode="0BS” moodCode- EVN">
<id root="1071064c-c£10-4a3b-83c1-34f9ddbTeatd” />
{/actReference>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.%.9.i.3.2b"/>
. <= G.k.9.i.3.2a: Time Interval between Last Dose of Drug and. Start of Reaction / Event
(number) Drug #1 Reaction #5 —> .
~ &l=— G k.9.i.3.2b! Time Interval between Last Dese of Drug and Start of Reaction / Event
(unit} Drug #1, Reaction #5 —>
; ¢actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddhTeabd” />
{/actReference>
{/outboundRelationshipl>
.<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
' ¢!— .k 9.1.3 la: Time Interval between Beglnn1ng ‘of Drug Admlnlstrat1on and Start of
Reaction / Event (number) Drug #1, Reaction #6 —>
¢I— G.k 9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #6 —>
<actReference classCode="0BS" moodCode="EVN">
<id root='1f927283-10b§—4334—9d434e925640fb18f'/>
{/actReference>

N



{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G. k. 9.1.3.2b"/>
¢l=~ 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #6 —> . ' '
. {!— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #6 —>
. CactReference classCode="0BS" moodCode="EVN"> .
© <id root="1f927283-10b6-4334-9d43-e925640fb18E" />
</actReference>
{/ottboundRelationshipl> .
"¢outboundRelationshipl typeCode="SAS"> - ‘ - -
<pauseQuantity value="10" wnit="G.k. 9, i.3.1b"/> '
’ - ¢l 6,%.9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of
‘Reaction / Event (number) Drug #1, Reaction 7 —>
¢l— G.k.9.1.3.1b: Time Interval between Beglnnlng of Drug Administration and Start of
Reaction /' Event (unit) Drug #1, Reaction #7 -—>
<actReference classCode="CBS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb—cel4bc279dBe” />
{/actReference> M
</outboundRelationshipl)> '
{outboundRelationshipl typeGode="SAE">

{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
¢l— G k. 8.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event .
(number) Drug #1, Reaction #7 —>
¢l==G.k.9,i.3.2b: Tims Interval between Last Dose of Drug and Start of React1on / Event

(unit) . Drug #1, Reaction #7 ——>
<actReference classCode="0BS" moodCode— EWN"> .
{id root="e0342069-38be—423f-b6bb—ce14bc279d8e” />
{/actReference>
</outboundRelationshipl> '
<outboundRelatiohshipl typeCode="SAS")>
{pauseQuantity value="10" unit="G.k. 9.i.3.1b6"/> .
{I— 6.k 9.i.3. la: Time Interval between Beginning of Drug Adminlstrat1on and Start of
Reaction / Event (number)} Drug #1, Reacticn #8 ——>
i ¢!—- G. k. 9.1.3.1b! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #8 .- -
‘ {actReference classCode="0BS” moodCode="EYN">
<id root="al5be092~8070~426d-af(4~686326344320" />
{/actReference>
{/outhoundRelationshipl>
<{outboundRelationshipl typeCode="SAE">
{pavseQuantity value="10" unit="G. k.9, i.3.2b"/>
<l G.k.9.i.§.2a: Time Inteival between Last Dose of Drug and §tart of Reacticn-/ Event
(number) Drug #i, Reaction #8 —>
<l G. % 9 i. 3 2b: Tlme Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1 Reaction #8 ——> °
{actReference classCode="0BS™" moodCode="EVN" >
{id root= a1Sbe092-8070-426d-af04-6863263443e0"/>
{/actReference>
" ¢/outboundRelationshipl®
{outboundRelationship2 typeCode="FERT">
<observation classCode="0BS” moodCode="EVN" )
{code code="6" codeSystem— 2.16. 840, 1, 113883, 3. 989.2. 1 1. 19”7 codeSystemVer51on— 11"
displayName="blinded”/>
(value xsi: type— BL” value— true”/>
{l— G.k. 2.5 Investigational Product Blinded #1 ——>
{/observation .
</outboundRelat10nship2>
<outhoundRelationship? typeCode="COMP">
{1-— G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #1-1 ——
{substanceAdministration classCode="SBADM" moodCode="EVN">
<text>G. k. 4. r. 8</text>
¢l-- 6.k 4.r.8: Dosage Text #1-1 =->
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">
- {period value="10" unit="G. k. 4.r.3°/>
1= G.k 4.1.2: Number of Units in the Interval #1-1 -
<= G.k.4.r.3: Definition of the Time Interval Unit §1-1 —>



</comp>
{comp xsi:type="IVL_TS" operator="A">
<low value="20080101"/>

¢l-- G.k.4.r.4: Date and Time of Start of Drug #1-1 —>

<high value="200901017/>

¢l— G.k.4.7.5: Date and Time of Last Admlnlstratlon #1-1 ——>
{/comp? -

{comp xsiitype="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/> .
)= G.k. 4.r.6a: Duration of Drug Administration (number) #1-1 —>
{1— G.k.4.r.6b: Duration of Drug Administration (un1t) #1-1 —> !
{/comp>
(feffectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem=" 2 16, 840 1.113883. 3. 989. 2 1.1, 14"
codeSystemVerslon— G k. 4.1, 10. 2a">
{l~~ G.k.4.r.10. 2a: Route of Adwinistration TermID Version Date / Number #1-1 —>
¢!-— G.k.4.1.10.2b: Route of Administration TermID #1-1 —>
CoriginalText>G. k. 4. r. 10. 1<{/originalText>
<)== 6.k.4.r.10.1: Route of Aduinistration (free text) #1-1 --
{/routeCode> .
{doseQuantity value="10" unit="G.k. 4.1.1b"/">
<1-- G,k 4.r.1a Dose (number) #1-1 —>
<l-= G.k. 4.1.1b: Dose (unit) #1-1 -=>
{consumable typeCode="CSM">-
<instanceOfKind cldssCode="INST™> ,
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. 1. 7</lotNumberText>
¢!— G.k.4.7.7: Batch / Lot Number #l-1 -->
' ¢/productInstancelnstance®
£kindOfProduct classCode="MMAT” determznerCode— KIND”>

<formCode code="G. k. 4.1.9.2b" codeSystem="TBD-DoseForm”
codeSystenVersion="G, k. 4.r. 9.2a"> .

¢{l=="G.k. 4. 1.9 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 ——>
<l=— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-1 —>
{originalText>G. k. 4. r. 9. i{/originalText>
dﬂGkAJﬁJ-%mmw“mﬂDwe%m(ﬁutuﬂ#lln>

{/fornCode>

</kind0fProduct>
{/instance0fKind>
</censumable>

<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
; Lcode code="28" codeSystem- 2. 16. 840. 1 113883, 3.989.2.1,1.19" codeSystemVers1on— 1.1
displayName=" parentRouteDfAdm1n1stratlon "/
<value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16, 840, 1 113883. 3. 989. 2 1. 1 14"
codeSystenVersion="G. k. 4. r. 11, 2a”>
- ()= G.k,4,r_11,za: Parent Route of Administration TermID Version Date / Numbexr #1-1
__> . N M
<{l— G.k.4.7.11.2b: Parent Route of Administration TermID #1-1 —>
<originalText>G. k. 4. r. 11, 1<{/originalText>
¢{!—- G.k.4.1.11.1: Parent Route of Administration (free text) #1-1 —>
{/value>
{/observation>
</inboundRelationship>
¢/substanceAdministration) ’ .
</outboundRelationship2>
<outbounidRelationship2 typeCode="COMP">
¢l== G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1—2 —
<substanceAdm1nlstratlnn classCode=" SBADM moodCode="EVN">
. <text>G. k. 4. r. 8</text>
¢1— G.k 4.r.8! Dosage Text #1-2 —>
{effectiveTime xsi:@type="SKPR_TS">
<comp xsi:type="PIVL_TS">
{period value="10" unit="G.k. 4.r.3%/>

¥l G.k 4.r.2: Number of Units in the Interval #1-2 —> .
<I— 6.k 4.7.3: Definition of the Time Interval Unit #1-2 -
{/comp>

<comp xsi:type="IVL TS operatoru A7
£low value="20090101"/> i



{!— G.k.4.r.4: Date and Time of Start of Drug #1-2 ——>
<high value="20090101"/>
<!== G.k.4.r.5: Date and Time of Last Administration ¥1-2 —
{/comp>
{feffectiveTime>
<{routeCode code="G.k. 4.r.10.2b" codeSystem~ 2,186, B40 1,113883, 3.989. 2. 1 1. 14"
.codeSystemVersion="G. k. 4. 1. 10. 2a”>
<l-- G.k 4.r. 10. 2a: Route of Administration TermID Version Date / Number #1-2 ——)
<l=- G.% 4.r. 10, 2b: Route of Administration TermID #1=2 -
{originalText>G. k, 4.r. 10, 1</originalText>
<l-- G.k.4.1.10. 1 Route of Administration (free text) #1-2 ——>
{/routeCode> '
{doseQuantity value="10" unit="G. k.4 r, 1b”/>
! G.k.4.r.1a Dose (number) #1-2 ~—>
{!=- G.k.4. 1. 1b: Dose (unit} ¥i-2 ——>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotlumberText>G. k. 4. r. 7</lotNumberText>
{I— 6.k 4.z.7: Batch / Lot Number #i-2 ==
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determlnerCode— KIND”>
' {formCode code="G.k.4.1.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9, 2a™> '

{l== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
{I-—- G.k.4.r.9.2b: Pharmaceutical Dose Form TernID #1-2 --> .
{originalText>G. k. 4. 1. 9. 1{/originalText>
<! G k.4.71.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
¢/formCoda>
</kind0fProduct> ’
{/instance0fKind>
¢/consumable>

- {inboundRelationship typeCode="REFR">-
{observation c¢lassCode="0BS” moodCode="EWN">
{eode code="28" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
dlsplayName— parentRouteOfAdninistration”/>
' {value xsi:type="CE” code="G, k.4.r, 11, 2b” codeSystem="2. 16, 840, 1. 113883, 2. 989. 2. 1. 1. 14"
. codeSystenVersion="G. k. 4. r. 11. 2a">
. ¢{!=~ G.k.4.1. 11. 22’ Parent Route of Administration TernlD Version Date / Number #1-2
-2
{1— G.k. 4. r. 11. 2b: Parent Route of Administration TermID #1-2 -7
{originalText>G. k. 4. r. 11. 1{/originalText>
<1-- G.%. 4.r.11.1: Parent Route of Administration (free text) #1-2 —>
¢fvaluep
<{/observation>
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationshipZ>
<outhoundRelationship2' typeCode="COMP™>;
¢<!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 ==
<{substanceAdninistration classCode="SBADM” mondCode— EVN"> !
{text>G. k. 4. x. B/ /text>
«¢}-- G,k 4.1r.8: Dosage Text §1-3 —>
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4,r, 3"/>
¢!— G.k.4.r.2: Number of Units in the Interval #1-3 —>
o= G k4.1 3: Deflnltlnn of the Time Interval Unit #1-3 —>
{/comp>
{comp xsi:type="IVL_TS” Dperator= “AT>
<low value="20080101"/>
¢l=~ G.k.4.r.4: Date and Time of Start of Drug #1-3 -->
" (width value="4" unit="G.k. 4. r.6b"/>
¢!— G.k.4.r.6a: Duration of Drug Administration (number) #1-3 -—->
¢{l— G.k. 4. r.6b: Duration of Drug Administration (unit) #1-3 -->
</comp>
{/effectiveTime>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 14" !
codeSystemVersion="G. k. 4. r. 10. 2a"> .



<]-- G.k.4.7.10. 2a: Routs of Administration TermID Version Date / Number #1-3 -—>
. ¢l=— G. k. 4.7.10. 2b: Route of Administration TermID #1-3 —>
<originalText>G. k. 4.r. 10, 1¢/originalText> .
<l— G.k’4.r.10. 1! Route of Administration (free text) #1-3 -
. {/routeCode>
- {dJoseQuantity value="10" unit="G.k. 4 r. 167/
¢l—= G. k. 4.r.1a Dose (number) #1-3 —>
<1<~ G, k. 4.r.1b! Dose (unit) #1-3 —> )
{consumable typeCode="CSM™> . o
<instanceOfKind classCode="INST™> : '
<productInstanceInstance classCode="MMAT" determlnerCode— INSTANCE">
<lotNumberText>G. k. 4, r. 7</lotNumberText>
<l-- 6.k . 4.r.T: Batch / Lot Number #1-3 ——>
~ {/productInstancelnstance>
" <kindOfProduct classCode="MMAT” determinerCode=" KIND >

. <foraCode code="6. k. 4. 1. 9. 2b” codeSystem="TED-DoseForm”
codeSystemVersion="G. k. 4. 1. 9. 2a"> ‘ .
’ <l— 6.k 4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #$1-3 —>
<I— G.k.4. 1.9 2b: Pharmaceutical Dose Form TermID #1-3 ——>
{originalText>G. k. 4. r. 8. 1<{/originalText> -
d— G k4.1.0.1: Pharmaceutical Dose Form (free text) #1-3 —>
</formCode>
{/kind0fProduct>
{/instanceGfKind>
{/consumable>

{inboundRelationship typeCode— REFR">
{observation classCode="0BS” moodCode="EVN">, . : .
<code code="28" codeSystem="2. 16, 840, 1.113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration e
} <value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16. 840, 1, 113883. 3, 989. 2. 1. 1. 14"
codeSystenVersion="6. k. 4.1. 11, 2a">
' : <!— G.k.4.7.11.2a: Parent Route of Administration TermID Version Date / Number #1-3°
__> |
¢l—— G. k. 4.r.11.2b: Parent Route of Administration TermID #1-3 —>
{originalTextdG. k. 4.1. 11, 1</originalText>
L 6.k 4.r.11.1: Parent Route of Administration (free text) #1-3 —->
</value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢|— G.k 4 1: Dosage and Relevant Information (repeat as necessary) #l-4 —>
{substanceAdninistration classCode="SBADM” moodCode="EVN™> ;
{text>G. k. 4. r. 8{/text>
{1~ G.k.4.r.8: Dosage Text Hl-4 —> !
"CeffectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS™>
{pericd value="10" unit="G. k.4.r.3"/>

K== G.k 4.r.2: Number of Units in the Interval #1-4 —>
¢)=- G.k.4.r.3: Definition of the Time Interval Unit #1-4 ——>
{/comp?

<comp xsiitype="IVL_TS” operator="A">
{width value="4" unit="G.k. 4.r.6b"/>
¢!~ G,k 4.1.6a: Duration of Drug Administration (number): #1—4 -—
{l=- G.k 4.r.6b: Duration of Drug Administration (unit) #1-4 —->
<high value="20090101"/>.
¢{1— G.k.4.r.5: Date and Time of Last Admlnlstratlon #1-4 —>
{/comp>
{/effectiveTime> .
<routeCode code=" G k. 4.7.10. 2b” codeSystem=" 2 16. 840. 1. 113883. 3.989, 2. 1. 1. 14"
codeSystemVer51on— G. k. 4.r. 10. 2a">
¢!— G.k.4.r.10, 2a: Route of Administration TermID Yersion Date / Number #1-4 —>
¢4— G.k. 4. 1. 10. 2b: Route.of Administration TermID #1-4 -->.
{originalText>G, k, 4. r. 10. 1{/originalText>
<l-- G.k.4.r.10.1: Route of Administration (free text) #1-4 —>
</routeCode>
<doseQuantity value="10" unit="G.k. 4, r.1b"/>
<l— G. k. 4.1. la Dose (number) #1-4 —>



&!— G.k.4.r.1b: Dose (unit) #1-4 —>
{consumable typeCode="CSM"> -
LinstanceOfKind classCode="INST™>
<productInstancelnstance classCode="MMAT" determinerCode=" INSThNCE b
<lotNumberText>G. k. 4. v, 7</lotNumberText>
¢l— G.% 4.r.7: Batch / Lot Number #1-4 -->
{/productinstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode=" KIND >
<formCode code="G.k. 4.r.9.2b" codeSystei="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 8. 2a"> . .
¢]— G.k.4.r. 9. 2a: Pharmaceutical Dose Form TermlD Version Date / Number #l-4 —>
{l~— G.k.4.1. 9. 2b: Pharmaceutical Dose Form TermID #1-4 —>
<or131nalText>G.k.4.r.9.1</ur1g1nalText>
¢l G.k.4.1.0.1: Pharmaceut1cal Dose Form (free text) Hl- 4 —
{/formCode>
¢/kind0fProduct>
¢/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation class€ode="0BS" moodCode="EVN"> - :
- {code code="28" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName— parentRouteDfAdm1n15tratlon /> i : :
<value xsi:type="CE" code="G.k.4.r.1l,2h" codeSystem=’2.16.840.1.113883.3.989.2.1.1.14”

n

codeSystemVersion="6. k. 4. r. 11. 2a"> . .
' ' - ¢{l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-4
-—>
, <|—— G.k.4,r.11,2b: Parent Route of Administration TermID #1-4 —~>
<originalText>G. k. 4. r. 11. 1{/original Text> .
{1 G.k.4.1r.11.1: Parent Route of Administration (free text} #I-4 —>
{/valued ‘
_ </observation>
" </inboundRelationship)
{/substanceAdministration>
</outboundRelationship2>-
<outboundRelaticnship2 typeCode="COMP*>
{!— G.k.4.r: Dosage and Relevant Information {repeat as necessary) #1-5 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
<text>G. k. & r. 8¢/text> o
<1-- G.k.4.r.8: Dosage Text #1-5 —>
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS">
{low value="20090101"/>
{l— G.k. 4. r. 4: Date and Time of Start of Drug #1-5 =)
<high- value="20090101"/>
{l-- 6.k.4.r.5: Date and Time of Last Administration #1-5 ——
</comp>’
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.1.6b"/>
<!-- G k. 4.r. 6a: Duration of Drug Administration (number) #1-5 —->
(= G. k.t r. 6b Duration of Drug Administration (unit) #1-5 —
{/comp>
{feffectiveTime>
{routeCode code="G, k. 4, r, 10, 2b" codeSystem— 2. 16. 840 1.113883. 3,989. 2. 1. 1. 147
codeSystemVersion="G. k. 4. r. 10, 2a">
¢l~= G.k. 4. r. 10. 2a: Route of ‘Administration TeruID Version Date / Number #1-5 ~=>
<l-- G. k. 4.1.10.2b: Route of Adm1n1strat10n TernID. #1-5 ~=>
{originalText>G. k. 4.z. 10. 1</or1g1nalText>
<l— G.k.4.r.10,1: Route of Administration (free text) #1-5.-->
{/routeCode>
{doseQuantity value="10" un1t= "G k4. 1B/
{l— G.k. 4.r. 1a Dose (number) #1-5 -->
{I=- G.k 4.r. 1b: Dose {unit) #1-5 —>
<consumab1e typeCode "CSM”>
<instance0fKind classCode="INST">
<product1nstancelnstance classCode="MMAT” determlnerCode— INSTANCE >
{lotNumberText>G. k. 4. r. 7{/lotNunberText>
<!— G.k.4.r. 7! Batch / Lot Number #1-5 ~=>
{/productInstanceInstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND™>



<formCode code="G.k.4.r.9.2b" codeSystem=’TBD—DoseForm”

codeSystemVersion="G. k, 4. r. 9. 2a”>
- ¢l— G.k.4.7.9. 2a: Pharmaceutical Dose Form TermID Verzion Date / Number #1-5 ——>
¢<|— G.k.4.1.9.2b: Pharmaceutical Dose Form TermlID #1-5 —>
CoriginalText>G. k. 4. r. 9. 1{/originalText>
¢l=- G.k. 4.1r.9 1: Pharmaceutical Dose Form (free text) #1-5 -—>
. {/formCode>
</kindQfProduct>
</instance0fKind>
¢/consumable> !

{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" CGdeSystem="2.16.840.1.113883.3.989.2.1.1.19" codeSystemYersion="1. 1"

displayName="parentRouteOfAdministration "/

{value xsi:type="CE” code="G.k.4.r.1L. 2b codeSystem— 2. 16.840.1. 113883, 3. 989. 2. 1. 1. 14"

codeSystenVersion="G.k. 4. r. 11. 2a">

-

codeSystemVer51on- G. k.4.1r.10.2a™>

codeSystenVersion="G. k. 4.r. 9. 2a™>

C Ll G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-5

¢!-- G.% 4.r. 11.2b: Parent Route of Administration TermID #1-5 —>
{originalText>G. k. 4. r. 11. 1<{/original Text>
<— G.k 4.7.11,1: Parent Route of Administration (free text) #1-5 -->
{/valued oo -
</observation>
{/inbhoundRelaticnship>
{/substanceAdministration> *
{/outboundRelationship2>
<outboundRelatlonsh1p2 typeCode="COMP">
<}~ G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 -
{substanceAdministration classCode="SBADH" moodCode=" EVN >
{text>G. k. 4. r. 8¢/text>
¢l-— G.k.4.r,8: Dosage Text #1-6 -->
{effectiveTime xsi:type=”SXPR_TS”>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.1.3"/>

{I=- G.k. 4.r.2: Number of Uhits-in the Interval #$1-6 —->
<!—- 6.k 4. 1.3 Definition of the Time Interval Unit #1-6 —>
</comp>

{comp xsi:type="IVL_TS" operator="A">
<¢low value="20090101"/>
¢l— G.k.4.r.4: Date and Time of Start of Drug #1-6 =
{width value="4"' unit="G, k. 4.1, 60"/>
- ¢l— G.k. 4.r.6a: Duration of Drug Adninistration (number) #1-6 —>
¢!—— G.k 4.r.6b: Duration. of Drug Administration (unit) #1-6 —>
</comp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
¢l~= G.k.4.1r.5: Date and Time of Last Administration #1-6 -->
{/comp>
{/effectiveTime> - : : :
<routeCode code="G. k. 4.r.10.2b" codeSystem="2, 16, 840. 1. 113883, 3.989. 2. 1. 1, 14"

¢]=~ G.k. 4.1.10.2a: Route of Administration TermID Version Date / Number #1 6 —>
<l— 6.k 4.1.10.2b: Route of Administration TexmiD #1-8 —>
<originalText>G. k. 4. . 10. 1{/originalText>
<I-- G.k. 4.r. 10. 1! Route of Administration (free text) #1-6 —>
</routeCode’
{doseQuantity value="10" unit="G.k. 4.1.1b"/> '
{l-- 6.k 4.r.1a Dose (number) #1-1 —>
{)—- ¢. k. 4.1.1b: Dose (Gnit) #1-1 -->
{consumable typeCode="CSM">
{instance0fKind classCode="INST">
{productInstancelnstance clqssCode="MMAT”'determinerCude=”INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<l— 6.k. 4.r.7: Batch / Lot Number #1-1 —>
{/productInstanceInstance> '
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<hm%®cﬁﬁ%&AiﬂJHcwﬁwmmqmﬂuwuﬁ

¢!— G.k 4.r.9.2a: Pharmaceutical Dose Form TernmID Version Date / Number #1-6 —>



<!~ G.k. 4.1.9.2b: Pharmaceutical Dose Form TernID #1-6 —>
<originalText>G. k. 4. r. 9. 1{/originalText>
<l== G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #I-6 —>
</formCode>
{/kind0fProduct>
</instance0fKind>
{/consumable)
<inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2: 16. 840. 1. 113883 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1
dlsplayName— parentRouteOfAdministration”/>
{value xsi: type— "CE” code="G.k. 4. r. 11 2b” codeSystem— 2. 16. 840, 1. 113883 3.980.2. 1.1, 14"
codeSystemVer31on= G.k.4.r.11. 2a">
' . {!— G.k. 4.7 11.2a: Parent Route of Administration TermID Yersion Date / Number $1-6
__> X . .
{!— G.k.4.7r.11.2b: Parent Route of Administration TermID #1-6 —>
<originalTexi>G. k. 4.1, 11, I</original Text>
¢I— G.k.4.r. 11.1: Parent Route of Administration (fres text) #1-6 ——>
{/value> - _
{/obhservation) ‘
{/inboundRelationship
{/substanceAdministration>
</outboundRe1at10nsh1p2> .
<outboundRelat10nsh1p2 typeCode="COMP™> -~
<l— G k.4.r: Dosage and Relevant Information (repeat as necessary) #1-7 —>
{substanceAdministration. classCode="SBADM" moodCode=" EVN >
Ctext>G. k. 4. . BS/toxt)>
¢!-- G.k.4.1.8: Dosage Text 1-7 —>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS">
{low value="20090101"/>
¢{l— G.k.4.r.4: Date and Time of Start of Drug #I-7 —>
<width value="4" unit="G. k. 4.r.6b"/> ,
¢l=- G.k.4.r.6a: Duration of Brug Administration (number) #1-7 —>
{l— G.k.4.r.6b: Duration of Drug Admlnlstratlon (unit) #1-7 —>
</comp>,
{comp xsi:type="IVL_TS" operator= A"
<high value="200801017/> -
<l— G.k.4.r.5: Date and Time of Last Admlnlstrat1on #1-1 —
</comp>
{/effectiveTimed
<routeCode code="G.k.4.r.10.2b" codeSystem=" 2 16. 840. 1; 113883 -3.989.2.1.1.14"
codeSystemVer51on— Gk 41 10.2a">
<l-- G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #1—7 —>
¢l=- G. k. 4.r.10.2b: Route of Administration TermID #1-7 —>.
{originalText>G. k. 4. r. 10, 1{/originalText>
¢l—— 6.k 4.r.10.1: Route of Administration (free text) #1 7 -
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-- G.k.4.r. la Dose (number) #1-7 —>
{l— G.k.4.r.1b: Dose (unit) #1-7.—>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstanceInstance classCode="MMAT” determlnerCnde- INSTANCE™ >
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l-- 6.k.4.1r. 7: Batch / Lot Number $1-7 -=>
{/productInktancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">

y

S . {formCode code="G,k.4,r.9.2b" codeSystem="TBD-DoseForn”
codeSystenVersion="6. k. 4. r. 9. 2a™>
¢{l— 6.k 4.r.9. 2a: Pharmaceutical Dose Form TermiD Version.Date / Number #1-7 —>
<I-= G.k.4.1.%. 2b: Pharmaceutical Dose Form TermID #1-7 —>
{originalText>G. k. 4.r. 9. 1</originalText>
U—GkAJJJ-%Mmm“uﬂﬂwe%m(ﬂ%tuﬂ#17“>
¢/formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>

-{inboundRelationship typeCode="REFR">



ohservation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem— 2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1. 1"
d1splayName- parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.1.1l: 2b codeSystem— 2. 16. 840, 1. 113883, 3,989, 2, 1, 1. 14"
godeSystemVersion="G. k. 4. r, 11. 2a”>
] ¢1— G.k 4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-7
.——) . ! s
¢<]— G.k. 4.7.11.2b: Parent Route of Administration TermiD #1-7 --> '
{originalText>G. k. 4. r, 11 1{/originalText>
¢l== G. k. 4.1.11.1: Parent Route of Administration (free text) #1—7 -
</value>
{/observation>
{/inboundRelationship> ~
{/substanceAdrinistration>
{/outboundRelationship2> -
<outboundRelaticnship2 typeCode=" SUMM pJ
{observation classCode="0BS" meodCode="EVN">
<code code="14" codeSystem— 2, 16. 840 1.113883. 3.989.'2. 1. 1. 19* codeSystemVersion="1. 1
dlsplayName— cumulativeDoseToReaction”/>
<value xsi:type="PQ" value="10" unit="G. k. 5b"/>
4l-- G.k.5a: Cummlative Dose to First Reaction {(humber) #l —>
¢<l—— G.k% 5b: Cumulative Dose to First Reaction (unit) #1 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">-
{observation classCode="0BS” moodCode="] BN
{code code="16" codeSystem="2.16.840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVerslon- 1.17

. displayName="gestationPeried”/>

<yalue xsi: type— "PQ” value="10" unit="G.k. 6b"/>
¢l-~ G.k.6a: Gestation Period at Time of Exposure (number) #1 -—>
d— Gk 6b: Gestat1on Period at Time of Expobure (unit) #1 -
¢/observation)
{/outboundRelationship2>
(outbnundRelatlonshlpZ typeCode="PERT” >
<observation classCode="0BS" moodCode="EVN">
{code code=" 31 codeSystem— 2.16, 840, 1, 113883. 3. 989 2.1.1. 19" codeSystemVersion="1.1"
displayName="recurrance0fReaction”/>
<value xsi: type— "CE” code="G.k.9.1.4" codeSystem= 2.16.840.1.113383.3.939.2.1.1.16
codeSystenVersion="1,0"/> ’ '
¢]— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction fl —-)
{putboundRelationshipl typeCode="REFR">
{actReference classCode="0BS" moodCode="EVN">
<id root="154eb889~958b-45f2—a02f-42d4d6f4657F" />
{/actReferencé’
{/outboundRelationshipl>
{/observation>
{/outhoundRelationship2> ' .
<outboundRelationship2 typeCode="PERT"> .
<observation classCode="0B8" moodCode="EVN">
{code code="31" codeSystem="2. 16, 840. 1. 113883, 3. 989 2.1.1.19" codeSystemVersion="1.1"
dlsplayName- recurranceGfReaction W
<{value xsi:type= CE’ code— G. k.9, 1. 4" codeSysten="2. 18. 840 1. 113883, 3.989.2.1. L. 16"
codeSystenVersion="1, 0"/>
’ ¢}-- 6.k. 9. i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 -
. <outhoundRelationshipl typeCode— REFR™>
{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9eB-4efc—-93e3-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
{/observation)
{/outboundRelationship2>
<outboundRe1at10nsh1p2 typeCode="REFR">
_ {observation elassCode="0BS" moodCode="EVN">
‘ {code cede="9" codeSystem="2. 18. 840. 1. 113883, 3,089, 2. 1.1, 19" codeSystemVersion=”1 1"
displayName="codedDrugInformation”/>
<value xsi: type="CE" cude— G. k. 10. 7" codeSystem="2. 16. 840. 1. 113883, 3. 980.2. 1. 1. 17"
cheSystemVersion=”1.0”/)
{l-= G. k. 10.r: Additional Information on Drug (coded)(repeat as necessary) #1-1 ——>
{/observation>



{/outboundRelationship2>
{outboundRelationship2. typeCode="REFR">
{observation classCode="0B5" moodCode="EVN">
{code code="9" codeSystem="2, 16,840, 1. 113883, 3. 889. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
<value xsi:type="CE” code=7G.k.10.1" codeSystem="2.16.840.1.113883.3.989.2, 1.1.17"
codeSystenVersion="1.0"/> i S .
¢l-= G.k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-2 —>
</chsérvation> .
{/outboundRelationship2>
{outboundRelationship2 tvpeCode="REFR">"
<obgervation classCode="0BS” moodCode="EVN">
: {code code="2" codeSystem="2.'16, 840. 1. 113883. 3. 980. 2. 1. 1. 19" - codeSystenmVersicn="1. 1"
displayName="additionalInformation”/>
{value xsi: type— "ST">G k. 11</value>
<!~ G.k. 11: Additional Information on Drug (free text) # —
{/observation>
</outboundRe1atlonsh1p2>
{inboundRelationship typeCode=" RSON >
" <ohservation classCode="0BS" moodCode="EVN">
. {eode code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/>
<{value xsi: type— "CE” code="G.k. 7.1, 2b" codeSystem="2. 16. 840 1.113883. 6. 163
codeSystemVersion="G. k. 7. 1. 2a">
{l== G.%. 7.1.2a: MedDRA Version for Indication #1-1 —>’
<l-— G,k 7.1.2b: Indication {(MedDRA code) #1-1 —>
. <orlglnalText>G k. 7.1, 1{/originalText>
I~ 6.k 7.7.1: Indication as Reported by the Prlmary Source #1 1 =>
{/value> .
<{performer typeCode="PRF">
(asslgnedEntlty classCode="ASSIGNED™>
_<code code="3". codeSystem="2.16: 840. 1, 113883, 3,989, 2, 1, 1. 21" codeSystenVersion="1.0"
displayName="sourceReporter”/> - . '
{/assignedEntity>
{/performer>
{/observation>
_</inboundRelationship>
{inboundRelationship typeCode="RSON">
<observation classCode="0BS" moodCode="EVN">
{eode code="19" codeSystem="2.16.840. 1. 113883, 3. 989, 2. 1. 1. 19 codeSystemVer51on— .1"
displayName="indication”/>
‘ <value xsiitype="CE" code="G.k. 7.7.2b" codeSystem="2. 186, 840, 1. 113883, 6, 163"
codeSystemVersion="G. k. 7. r. 2a”> . ’ .
{1-- G.k.7.r. 2a MedDRA Version for.Indication #1-2 —>
{}=- G. k. 7.r.2b: Indication (MedDRA code) #1-2 —>
{originalText>G. k. 7.r. 1{/originalText>
- 6.k T.r. 1t Indlcatlon as Reported by the Primary Source: #1 2>
</value>
{performer typeCode="PRF")>
<assignedEntity classCode="ASSIGNED™> .
{code code="3" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1. 0"

4

displayName="sourceReporter”/»
’ {/assignedEntity>
{/performer>
{/observation> )
{/inboundRelationship>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT” moodCode="EVN">
.<code code="G.k.8" codeSystem="2.16.840. 1. 113883. 3.980.2. 1.1, 15" codeSystenVersion="1.0"/>
<!—— G.k. 8! Action(s) Taken with Drug #1 —
‘ . {/act>
. {/inboundRelationship>
</substanceAdministration>
<{/component>
¢l-— G.k Drug(s) Informatien (repeat as necessary) H2 ——-
<component typeCode="COMP">
{substahceAdministration classCode="SBADM" moodCode— EVN"™>
¢id root="68d6f5ce—3b3b—45¢T-02dd-B9e06730c3a9"/>
{consumable typeCode="CSM">

.



{instenceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
Seode code="G. %, 2.1. 2b” codeSystem="TBD-PhPID” codeSystemVersion="G.k.Z. 1. 23”/)
¢!-= G.k.2.1.2a: PhPID Version Date / Number #2 —>
{}— G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>G. k. 2. 2</name) .
{l—— G, k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
{asManufacturedProduct classCode="MANU">
<subject0f typeCode="SBJ">
<approval . classCode="CNTRCT” moodCode="EVN">
¢id extension="G.K. 3. 1" root="2.16.840. 1,113883.:3.988. 2.1, 3. 4"/>
{}-- G.k. 3.1: Authorisatien / Application Number #2 -->
<holder typeCode="HLD">
<role classCode="HLD"> .
<p1a#ing0rg§nizatipn classCode="0RG" determinerCode="INSTANCE">
<name>G. k. 3. 3</name>
<l-- 6.k.3.3: Name of Holder / Applicant #2 -->
{/playingQOrganization>
</role>
</holder> )
. <author typeCode="AUT"}
{territorialAuthority classCode="TERR">
<{territory classCode="NAT”' determinerCode="INSTANCE">
{code code="G. k. 3.2" codeSysten="1.0, 3166.1.2.2"/>
{)—- 6.k 3.2: Country of Authorisation/ Appl1cat10n #2 —> |
</terr1tory>
{/territorialAuthority>
</author> ,
<pértinentInformation typeCode="PERT">
¢poliey classCode="POLICY” moodCode="EVN">
<code code="}2.5.k" codeSystem="2. 16,840, 1, 113883.3.980.5.1.3.2.1.4"
codeSystemYersion="1. 0"/ :
: (- B8eI2.5.k: —REAEERKEDY 27 KL% 82
</policy>
{/pertinentInformation>
</approval>
</subject0f>
{subjectOf typeCode— SBI">
{characteristic classCode="0BS" moodCode="E¥N">
: <code code="1" codeSystem="2. 16.840. 1. 113883 3. 989.5.1.3.2.1.10
codeSystemVersion="1. 0" dlsplayName-"%ﬂﬁﬁnu%@«lﬁmE% 5
. ’ <value xsiitype= “CE" code="T2.4.k" codeSystem="2. 16. 840, 1. 113883. 3, 989.5.1.3.2. 1. 3"
codeSystemVersion="1,0"/>
<l--'@@@J2. 4. k: %ﬂiﬁmiﬁa)«wﬂﬁﬁ #2 -3
{/characteristic?
{/subject0f>
{/asManufacturedProduct>
{ingredient classCode="ACTI">

{quantity>
<numerator value="10" unit= G.k.2.3.r.3b />
. <|— G.k.2.3.r.3a: Strength (number} #2-1 —> .
, © ¢l=- G. % 2.3.r.3b: Strength (unit) #2-1 -
<dencminator value="1"/>
</quantity> ‘ )
{ingredientSubstance ¢lassCode="MMAT" determinerCode="XIND">
: o {code code="6.k. 2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="G, k. 2. 3. r. 2a"/> ‘ :
ﬂ“&k&&h%t%&ﬁme/hmﬁﬁd&wwMehmmVﬂﬂmDne/MmH#PI
- L.
!-- G. k. 2. 3.r. 2b Substance / Spec1f1ed Substance TermID #2-1 -—>
<name>G. k. 2. 3. r. 1</name>
! <l— 6.k.2.3.r.1: Substance / Specified Substance Name ﬁ2—1 —>
{/ingredientSubstance>
{/ingredient>
, {ingredient classCode="ACTI"™>
{quantity>
{numerator value="10" unit="G.%k.2.3.r. 3"/
<]— 6.k 2.3.7.3a! Strength {nuwber) #2-2 —>

<l=— G.k.2.3.r.3b: Strength (unit) #2-2 —>



{denvminator value="1 '/>
(/quantlty)
-¢ingredientSubstance classCode="MMAT" determinerCode="KIND">
: Qﬁew@-&k&&thcMﬁmmmTwﬂﬁﬁmw
codeSystenVersion="G. k. 2.3.x.2a"/>
{l— G.k.2.3.r. 23" Substance / Specified Substance TermID Version Date/Number #2-2 —
>
U—&k&&n%S%ﬂmwlSmmﬁﬁsmﬂmwTﬂMDﬁﬂ-ﬁ
<{name>G. k. 2. 3. r. 1{/name>
<J—G.k23r1: mmmme/ﬁuﬁmd&mmmeMM#%2—>
{/ingredientSubstance>
{/ingredient> °
</kind0fProduct>
{subjectOf typeCode="SB]">
{productEvent classCode="ACT" moodCode="EVN" )
{code code="1" codeSystem— 2,16, 840, 1. 113883, 3.989.2.1. 1, 18" codeSystemVer51on— 1.0"
displayName="retailSupply”/>
. ¢performer typeCode="PRF” >
{assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG” determlnerCode- INSTANCE” )
<addr> .
<country>G. k. 2, 4</country>
{I=~ 6.k 2.4: Identification of the Country Vhere the Drug Was Obtained #2 —>
¢/addr> .
{/representedOrganization>
{/assignedEntity>
{/performer>. .
</productEvent>
{/subjectOf>
<subjectOf typeCode="3BJ">
<observationEvent classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2. L. 10
codeSystemVersion="1. 0" displayName="—ftFAIEERLDOAERE"/>
{value xsi:type="CE” code="]2.8,%" codeSystem="2, 16, 840, 1. 113883, 3. 989,5,1,3,2.1.5"
codeSystemVersion="1.07/>
’ {l-- 8@8J2.6.k: —FHEELKDATER #2 —>
{/observationEvent>
{/subject0f>
</instance0fKind>
{/consumabled 4
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k. 9.1.3.16"/>
. <{}— G.k.9.i.3.1a: Time Interval between Beginning of Drug Admlnlstrat1on and Start of
Reaction / Event (number) Drug #2, Reaction #1—> . . '
<!-- 6.k.9.1.3.1b! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (umit) Drug #2, Reaction #1 —>
{actReference classCode=" OBS -moodCode="EVN">
¢id root="154eb889-958b-45f2-a02f-42d4d6f4657F" />
{/actReference> :
' </outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>

<pauseQuant1ty value="10" unit="C. k. 9.1.3. 26"/

{l— . k.9.i.3. 2a! Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #2, Reaction #1 —>

<I— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

{unit) Drug #2, Reaction #1l —>
<actReference classCode="0BS” moodCode="EVN"> )
<id root=" 154ebB89-958b-45f2“302f"42d4d6f4657f /> ¢
</actReference> :
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
' <pauseQuantity value="10" unit="G.k. 9. i.83.1b"/>
¢1— 6.% 9.1,3.1a: Time Interval between Beginning of Drug Administration end Start of
Reaction / Event (number) Drug #2, Reaction #2 —>
¢]—- 6.%.9.1.3. 1b: Time Interval between Beginning of Drug Admlnlstratlon and Start of
Reaction / Event (unit) Drug #2, Reaction #2 —>
_<actReference classCode="0BS" moodCode="EVN" 5
{id root= 2ba328d6—c9e8—4e6c—93e9 5b860b3142207 />
{/actReferenced



</outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
. <pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
{l— 6.k 9.1.3. 2a: hmlmumlmenmquedDmgmd&utMRmmmn/&mt
(number) Drug #2, Reaction #2 ==
¢l— Gk, 9.1, 3. 2b: T1me Interval between Last Dose of Drug and Start of Reactlon / Event
(unit) Drug #2, Reaction #2 =->
{agtReference classCode=" 0BS” moodCode="EVN">
<id toot="2baa28d6-cDe8-defic-03e9-5haG0L3142207 />
{/actReference>
<{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k 9.1i.3.1b"/>"
{le=6.%9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reactlon / Event (number) Drug #2, Reaction #3 -->
I—- G.k.9.4. 3 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #3 ~—>
<actReference classCode="0BS” moodCode="EVN">
: <id root= 3a8626cb-9flh-4e38-8a0f—e0ff34430adf />
{/dctReference>
</outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE"™>
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/> :
¢l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #3 —>
¢l== 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of React1on / Event
(unit) Drug #2, Reaction #3 ——>
<actReference classCode="0BS” moodCode=" EVN >
<id root="3a8626ch-9f1b~4eal3-8a0f-e0ff34430adf” />
{/actReference> .
{/cutboundRelationshipl> -
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k 9.1.3.1b"/>
¢l— 6. % 9.i.3. 1a: Time Interval between Beginning of Drug Admlnlstratlon and Start of
Reaction / Event (number) Drug #2, Reaction #4 —>
6.k 9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reactlon / Event (unit) Drug #2, Reaction #4 —> )
actReference classCode= OBS moodCode="EVN">
{id root="2e99840f-08b4~40%c-80ff-ddB415£4f8a5" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
{l— G.k.9.1.3.2a: Tinme Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #4 —>
¢{!— G, k.9, 1,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
. (unit) Drug #2, Reaction #4 ——> '
<actReference classCode="0BS” moodCode="EVN">
<id root="2099840f-08b4-49%-B0ff~ddB415F4fBaE" />
{/actReference’
- {/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS"> .
{pauseQuantity value="10" un1t"G.k.9.1.3.1b"/>
€¢l— G.% 9.i.3.1a: Time Interval between Beginning of Drug Adm1nlstrat10n and Stert of
Reaction / Event (number) Drug #2, Reaction #5 —=
I G.k.9.i.3.1b: Time Interval between Beginning of Drug Admlnlstratlon and Start of -
Reaction / Event (unit) Drug #2, Reaction 85 —> ‘ N
{actReference classCode="0BS" moodCode="EVN"> .
<id root="1071064c-cf10-4a3b=83c1-34f9ddb7eatd” /> . v
, ' {/actReference> i :
-{/outboundRelationshipl>
SoutboundRelationshipl typeCode="SAE">
<patseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢l— G }.9.i.3.2a: hmIMuleanmanaﬁDmgmd&MtﬁRwﬁmn/hmt
(number) . Drug 42, Reaction #6 ——
<]— 6. k.9.1.3.2b: Time Interval between Last Dese of Drug and Start of Reactlon / Event
(unit) Drug #2, Reaction #6 —>
<actReference classCode="0B5" moodCode="EVN">
<id root="1071064c-cf10-4a3b—83c1-34f9ddbTeabd” />

-~



{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{!— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Prug #2, Reaction #6 —>
<{!— G.k.9.i.3.1b: Time Interval between Beglnnlng of Drug Administratien and Start of.
Reaction / Event (unit) Drug 2, Reaction #6 -
<actReference classCode="0BS" moodCode="EVYN">
{id root="1f927283-10b6-4334-3d43-025640Fb18E" />
{/actReference>
¢/outhoundRelationshipl> R
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9,i.3.2b"/> ‘
{l— 6. k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #6 —>
<J=- 6.k 9.4, 3.2h: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drog #2, Reaction #6 —>
{actReference classCode="0BS" moodCode— EVN">
<id root="1f927283~ 1Db6—4334—9d43—e‘325540fb18f 5
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k. 9.1.3. 1b"/>
¢l=- 6.k 9.1.3.1a! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #7 -—>
¢l— ¢.k.9.i.3.1b: Time Interval between Beginning of Drug Admlnlstratlon and Start of
Reaction / Event {unit) Drug #2, Reaction #7 -=>
¢actReference classCode="0BS™ moodCode="EVN">
<id root="e0342969~38be-423f-bbbb-celdbe279d8e” />
{/actReference?
" ¢/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE"> .
<pauseQuantity value="10" unit="C.k.9.1i.3.2b%/>
¢l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / ‘Event
(number) Drug #2, Reaction #7 —>
¢l=— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reamction #7 —
{actReference classCode="0BS" moodCode="EVN">
. <id root="e0342969- 38be—423f—b6bb celdbe279d8e” />
</actReference
</outboundRelationshipl>
<outboundRelationshipl typeCode="548" >
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/">
¢l— G.k.9.i.3.la: Time Interval between Beglnnlng of Drug Administration and Start of
Reaction / Event (number} Drug #2, Reaction #8 —> -
¢l— 6.k 9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #8 —>
LactReference classCode="0BS" moodCode— EYN">
<id root="al5be032-8070-426d-af04-6863263443e0" />
{/actReference’
{/outboundRelaticnshipl® .
<outboﬁndRelationship1 typeCode="SAE">

{pauseQuantity value="10" unit="G.k. 9.i.3.2b"/> ‘

<!— G k.9.1,3.2a: Time Interval between, Last Dose of Drug and Start of Reaction / Event-
(number) Drug #2, Reactlon s —>

<J— 6.k 9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug’ #2 Reaction #8 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e0"/>
{/actReference>
{/outboundRelationshipl>
(outboundRelationshlpZ typeCode="" PERT >
{observation classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="blinded"/>
~ <value xsl-type- “BL* value="true”/>
¢l-- 6.k.2.5: Investigational Product Blinded #2 ——>
{/observation>



{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢l— G.k. 4.1 : Dosage and Relevant Information (repeat as necessary) #2-1 —>
{substanceAdministration classCode— SBADM” moodCode="E¥N">
{text>G. k. 4. r. 8</text>
- G.k 4.r.8: Dosage Text #2-1 —>-
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
"¢l G.k.4.r. 4 Date and Time of Start of Drug #2-1 —>
<high value="20090101"/> -
{l==G.k.4.r.5: Date and Time of Last Admlnlstratlon #2-1 -
{/effectiveTime>
{routeCode code="G.k. 4.1, 10 2b” cndeSystem— 2. 16, 840, 1 113883, 3. 989..2. 1. 1. 14"

codeSystemVersion="6. k. 4. I 10.2a">

codeSystemVersion="6. k. 4. 1. 9. 2a">

¢l-= G.k. 4.7, 10, 2a: Route of Administration TermID Version Date / Number #2-1 -=>
{l-- G. k. 4.1.10, 2b: Route of Admiriistration TermID H#2-1 —>
<originalText>G. k. 4. 1. 10. 1</original Text>
¢}=- G.k.4.r.10. 1: Route of Administration (free text) #2-1 ——>

{/routeCode>

¢doseQuantity value="10" unit="G.k. 4.r.1h"/>

{I—— G.k.4.r.la Dose (number) #2-1°—>

(!~ G. k. 4.r.1b: Dose (unit) #2-1 —>

{eonsumable typeCode="CSM">
{instanceCfKind classCode="INST">

{productInstancelnstance classCode=" MMAT determinerCode="INSTANCE">
<lotNumberText>G. k. 4. . 7</lotNumberText>
¢l= G,k.4.7.7: Batch / Lot Number #2-1 ——>

{/productInstanceInstance>

<kindOfProduct classCode="MMAT” determinerCode="KIND"> -
<formCode code="G.k. 4.1.9.2b" codeSystem="TBD-DoseForm” '

¢l== G.k 4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1 —
¢]— 6.k 4.1.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
<originalText>G. k. 4, r. 9. 1{/originalText>
¢l== G. k. 4.1.9.1: Pharmaceutical Dose Form {free text) #2-1 -->
{/fornCode>
</kind0fProduct>
{/instanceOfKind>
¢/consumable®
{inboundRelationship typeCode="REFR™>
{chservation classCode="0BS" moodCode="EVYN">
¢code code="28" codeSystem="2, 16. 840. 1. 113883. 3. 989, 2. 1 1. 19" codeSystenVersion="1.1"

displayName=" parentRouteOfAdm1n1strat1on “fy

codeSystemVersionz”G.k.4.r.11.2& b

- ‘

¢valud xsiitype="CE” code="G.k.4.r. 11 2h” codeSystem="2. 16. 840, 1, 113883, 3. 989, 2.1.1, 147
<)-— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-1 |

<=~ G,k 4,r.11.2h: Parent Route .of Administration TermID #2-1 —>
{originalText>G. k. 4. r. 11, 1{/originalText>
" |- G.k./4.r.11,1: Parent Route of Administration (free text) #2-1 —=>
</value>
{/observation>
\ ’ </inbotndRelationship>
{/substanceddninistration>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢l=— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-2 —>
<substanceAdm1nlstrat10n classCode="SBADM" moodCode="EVN">
C{text>G. k. 4.1, 8</text>
¢~ G. k. 4.r. 8% Dosage Text #2-2 —-> -
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
{l— G.k.41.4! Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k, 4.r.6b"/>
¢}~ G.k.4.1.6a: Duration of Drug Administration (number) #2-2 -->
¢l== G.k 4.1.6b: Duration of Drug Administration (unit) #2-2 —>
{/effectivelime>
» <routeCode code="G.k.4.r.10.2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"

codeSystenVersion="6. k. 4. r..10. 2a*>



¢I-— G. k. 4,1.10,2a: Route of Administration TermID Version Date / Number #2-2 —>
¢{l— G.k.4.1.10. 2b: Route of Administration TermID ¥2~2 ~~>
<originalText>G. k. 4. r. 10. 1{/originalText>
<l-- G.k.4.7.10. 1: Route of Admlnlstrat1on (free text) H#2-2 —>
(/routeCode)
{doseQuantity value="10" unit="G.k 4.r.1b"/>
{l— G.k.4.r.la Dose (number) #2-2 —>
<l— G.k.4.r.1b: Dose (umit) #2-2 ——>
{consumable typeCode="CSM™>"
{instanceOfKind classCode="INST"> .
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE"™>
¢lotNumberText>G. k. 4. r. 7</TotNumberText)
{1~ G.k. 4.7. T Batch / Lot Number #2-2 —>
{/productInstancelnstance> .
<kindOfProduct classCode="MMAT” determinerCode="KIND™>

{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”

. codeSystemVersion="G.k. 4. r. 9. 2a™> . )

’ - {!=- G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 ——>
{!— G, k.4.r. 9. 2b: Pharmaceutical Dose Form TermID #2-2 —>
{originalText>G. k. 4. 1. 9. 1<{/originalText>
<!=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-2 —=>

{/fornCode '
{/kind0fProduct>
{/instance0fKind>
{/consumable>

<inboundRelationship typeCode="REFR"> :
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSysten="2. 16. 840. 1. 113883. 3. 580 2. 1 1.19” codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
’  Cvalue xsi:type="CE” code="G.k.4.T.11.2b" codeSystem="2.16.840. 1. 113883, 3. 989. 2. I.-1. 14"
codeSystemVersion="G. k. 4.r.11. 2a™> i .
<l-="G.k. 4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-2
__> ! * .
¢l-— 6.k 4.7.11.2b: Parent Route of Administration TermID #2-2. —>
(orlglnalText)G k.4 1, 11, 1</original Text>
{-—-G.k4dr 11.1: Parent Route of Administration (free text) #2-2 -3
. </value>
{/ohservation>
i </inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP”»
{!-~ G, k.4.r: Dosage and Relevant Information (repeat as necessary) i2-3 —> [
{substanceAdministration classCode="SBADM" moodCode="EVN"> J
<textdG. k. 4. r. B /text> ]
<=~ G. k. 4. 1.8 Dosage Text #2-3 —> R
{effectiveTime xsi:type="IVL_TS™>
{width value="4" unit="G.k. 4.r.6b"/>
{l=— G.k. 4.r.6a: Duration of Drug Administration (number) ﬂ2—3 -
¢l-— 6.k 4.r.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
€|-— G.k. 4.r.5: Date and Time of Last Administration #2-3 —>
{/effectiveTime> .
{routeCode code="G.k.4.1.10.2b" codeSystem="2. 16. 840, 1. 113883, 3,988.2. 1, 1, 14"
codeSystemVers1on— G. k. 4. r. 10. 2a"> .
K== G.k.4r. 10 2a: Route of Administration TermID Version Date / Number #2-3 —>
<l=~ G.k.4.x.10.2b: Route of Administration TermID #2-3 —>
<originalText>G. k. 4.r, 10, 1<{/originaiText>
{I— 6G.k.4.1.10. 1: Route of Administration (free text) #2—3 ——>
{/routeCode>
{doseQuantity value="10" unit="G.k.4 r.1b"/>
{!-— G.k.4.r.la Dose (number} #2-3 —>
=~ G.k.4.7.1b! Dose (unit) #2-3 -
<consunmable typeCode="C5M™>
{instance0fkind classCode="INST">"
<productInstancelnstance classCode=" NMAT” determ1nerCode— INSTANCE b
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l G.k.4.r.7: Batch / Lot Number #2-3 —>
' </productInstanceInstance>



<kind0fProduct classCode="MMAT" determinerCode="KIND">

{formCode code="G.k. 4.r.9.2b" codeSysten="TBO-DoseFora”-
codeSystemVersion="G.k. 4.r. 9. 2a"> s
¢l— 6.X.4.r. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 -3
- ¢l— G,k 4.r.9. 2b: Pharmaceutical Dose Form TermID #2-3 —->
{originalText>G. k. 4. 1. 9. 1{/originalText>
{!-— G.k 4.r.9.1% Pharmaceutical Dose Form (free ‘text) #2-3 —>
¢/formCode>
{/kind0fProduct>
.{/instance0fKind>
{/consumable> -

<inboundRelationship typeCode="REFR">
' {observation classCode="0BS” moodCode="E¥N">
{code code="28" codeSystem=”2 16.840. 1.113883.3.989.2. 1. 1. 19’ codeSystemVersion="l 1"
dlsplayName— parentRouteOfAdministration”/>
) <value xsi:type="CE” code=" G k. 4.x.11. 2b” codeSystem— 2 16. 840. 1. 113883. 3, 939. 2, 1 1.14"
codeSystemVersion=2G. k. 4. 1. 11, 2a"> _
o ' - - p.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-3
— - )
¢!— G.k.4.1.11,2h: Parent Routs of Adninistration TermID #2-3 -3
{originalText>G. k. 4. 1. 11. 1</or1g1na1Text>
<!— 6.k 4.1.11.1% Parent Route of Administration (free text) #2-3 —>
</value>
¢/observation
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2> ) .
<oputhoundRelationship2 typeCode="COMP™> : .
¢I-- G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —->
<substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8{/téxt>
<I-- G.k 4.r.8: Dosage Text #2-4 -
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/> ) .
{1—- G.k. 4.r.2: Number of Units in the Imterval #2-4 —> .
¢l=- G.k.4.r.3: Definition of the Time Interval Unit #2-4 ——>
</comp>
{comp xsi:type="IVL_TS” operator="A">
{low value="20080101"/>
¢!— G.k. 4.r.4: Date and Time of Start of Drug #i2-4 —>
¢feompy
{/effectiveTime>
¢routeCods code="G.k. 4. r.10.2b" codeSystem="2. 16, 840. 1. 113883, 3, 989. 2. 1. 1. 14"
codeSystenVersion="6G, k. 4. r. 10, 2a”>
{l=- G.k.4.7.10. 22" Route of Administration TermID Version Date / Number #2-4 —
¢l—'G.k 4.1, 10. 2b: Route of Administration TermID #2-4 -=>
<originalText>G. k. 4. r. 10, 1{/originalText>
" (l-~ G k.4.r.10.1: Route of Administration (free text) #2-4 —>
{/routeCode> -
<{doseQuantity value="10" mm=&kénw7)
<!-- G.k.4.r.1la Dose (number) #2-4 —>
¢l-- 6.k 4.r.1b: Dose (unit) #2~4 -
{constmable typeCode="CSK™>
{instance0fKind classCode="INST"> .
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G, k. 4. r. 7¢/1otNumberText>
{f{— G.k.4.r. 7 Batch / Lot Number #2-4 —>
{/productInstanceInstance>
- <kindOfProduct classCode="MHAT” determanerCode— KIND >
<formCode code="G. k. 4.r.9. 2b" codeSystem="TBD-DoseForn”
U—GkAJJJaPMmmwmwlM%mehmmVuumDme/WmH#%4->
¢l-- G,k 4.7. 9. 2b: Pharmaceutical Dose-Form TermID #2-4 —>
- - <originalText>G. k. 4.r. 9. 1</originalText> .
¢<!-- G.k 4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 —>
{/formCode> )
</%ind0fProduct>
</instanceOfKind>

codeSystemVersion="G. k. 4. 1. 9. 2a">



{/consumable>
<inboundRelationship typeCode=" REFR >
{observation classCode="0BS" mocdCode="EVN™>

<code code="28" codeSystem="2. 16.840. 1.113883. 3.980. 2, 1.1. 18" codeSystemVers1on- 1.17
d1sp1ayName— parentRouteOfAdmlnlstrat1on ”

{value xsi:type=“CE” code="G.k.4.r.11. 2b" codeSystpm=”2.16.840.1.113883.3.989.2.1.1114”
codeSystemVersion="G. k. 4.r. 11. 2a"> . )
¢{l=~ G, k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-4
_> .

¢{1— G.k.4.r.11.2b: Parent Route of Administration TermID #2-4 —>
{originalText>G. k. 4. 1. 11. 1{/originalText>
<d=— G.k.4.r. 11, 1: Parent Route of Adwinistration (free text) #2-4 —>
<{fvalued . N
{/observation> ’
</inboundRelationship>
{/substanceAdministration> ) -

</outboundRelationship2> ) . .

{outhoundRelationship2 typeCode=" COMP > ’ . N
<|== G.k.4.r: Dosage and Relevant Information (repest as necessary} #2-5 -->
<substanceAdm1nlstrat10n classCode="SBADM” moodCode="E¥N">

{text>G. k. 4. r. 8</text>
|- G.k.4.r.8: Dosage Text #2-5 —>
<effectiveTime xsi: ‘type="SXPR_TS">
{comp xsi:type="PIVL_TS">
- {period value="10" unit="G.k. 4.r.3"/>
<1— G k. 4.r.2: Number of Units in the Interval #2-5 ——
J—Gkdr3: Deflnltlon of the Time Interval Unit #2-5 ——>
(/comp) '
Ccomp xsiitype="IVL_T5" operator="A">
<high value="20090101"/>
<= G. k. 4.r.5: Date and Time of Last Adm1nlstrat1on #2-5 —
<{/comp>
{/effectiveTime>
: ! ) <routeCode code="G.k.4.r.10.2b" codeSystemu 2.16. 840. 1 113883. 3. 989, 2, 1: 1.. 14"
codeSystemVersion="G.k. 4. r. 10. 2a">
<l-~ 6.k 4.1.10. 2a: Route of Administration TermID Version Date / Number #2-5 —>
<l-— 6.k 4.1.10.2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4 r. 10. 1{/originalText>
_ «I-- G.k. 4.1.10. 1: Route of Administration (free text) fi2-5 ——>
{/routeCode>
<doseQuantity value="10" unit="¢. k. 4.r. 1b" />
<|-- G.k.4.r,1a Dose (number) #2-5 ——>
{!-- G.k.4.r.1b: Dose {unit) #2-5 —>
<consumable typeCode="CSM">
{instanceQfKind classCode="INST">
(prnductInstanceInstance classCode="MMAT" determlnerCode- INSTANCE >
.. - <{lotNumberText>G.k. 4.r. 7</lotNumberText>
<= G, k.4. 1.7 Batch / Lot Number #2-5 -->
¢/productInstanceInstance?
<kindOfProduct’ classCode="MMAT" determinerCode="KIND">

) <{fornCode code="G.k. 4.1.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. 1. 9. 2a”> o o . :

’ ¢|— G.k 4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 —>
<I=- G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-5 —> '
CoriginalText>G, k. 4.1.9. 1</originalText>
U= G.k. 4 1.9.1: Pharmaceutical Dose Forn (free text) #2—5 —>

{/formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCodeﬂ REFR ? ) L

{observation classCode="0BS” moodCode="EVN"> .
' ‘{code code="28" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 197 codeSystemVersion="1. 1"

displayName= parentRouteOfAdm1n1strat1on />

{value xsi:type="CE" code="G.k.4.r.11. 25" codeSystem="2.16. 840. L. 113883, 3.989,2. 1. 1. 14"
codeSystenVersion="G. kK. 4. r. 11. 2a”> ’ :
; <{I-- G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-5
'l

¢!— 6.k 4.7.11. 2b: Parent Route of Administration TermID #2-5 —>



{originalText>G. k. 4 r. 11, 1<¢/originalText>
¢<!— G.k.4.r.11.1: Parent Route of Adm1n1strat1on (free text) #2-5 -
<fvalued
{/observation>
{/inboundRelationship>
{/substanceAdministration
{/outhoundRelationship2>
‘<nutboundRelatiunship2 typeCode="COMP">
¢|— G.k 4. r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
. <substanceAdministration classCode=" SBADM moodCode="EVN">
(text?G. k. 4. 1. 8</text>
{l— G.k. 4.r.8' Dosage Text #2-6 —>
{effectiveTime xsi:type= SXPR_TS")
{eomp xsiitype="PIVL_TS™>
{period value="10" unit="G.k. 4.1.3 /> .
¢l— G.k 4.r.2: Number of Units in the Interval #2-6 ——>
{!— G. k4.1 3" Def1n1t1on of the Time Interval Unit #2-6 -~
{/comp>
<comp xsi:type="IVL_TS” operator="4">
{width value="4" unit="G.k. 4. r.6b"/">
¢J-- G.k 4:r.6a: Duration of Drug Administration (number) #2-6 —>
4!— G.k.4.1.6b: Duration of Drug Administration (unit) #2-6 “>
{/comp?
{/effectiveTime>
{routeCode code="G.k.4.r.10.2b” codeSystem="2. 16. 840, 1 113833 3,089, 2.1.1. 14"
codeSystenVersion="6. k. 4.1, 10. 2a">
¢l=— G. k. 4.r. 10, 2a: .Route of Adm1n1strat10n TernID Version Date / Number #2-6 —>
¢l-= 6.k 4.1.10. 2b: Route of Administration TermID #2—6 -
<originalText>G. k. 4. x. 10. 1</or1g1nalText> .
{!— G.k.4.1.10.1: Route of Administration (free text) H2-6 —>
¢/routeCode> )
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<I— 6.k 4.r. 1a Dose {number) #2-6 —>
¢l— G. k. 4.r.1b: Dose (unit) #2-6 —>
<consumable typeCode="CSM">
¢instanceOfKind classCode="INST"> A
<¢productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
' <lotNumberText>G. k. 4. r. 7</lotNumberText>,
¢{!-- G, k.4, r.7: Batch / Lot Number #2-6 ——>
</productInstanceInstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">

<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a™> ‘

. ‘ ¢1— G.k.4.1.9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 -
<l— G.k.4.1. 9. 2h: Pharmaceutical Dose Form TermID #2-6 -->
{originalText>G. k. 4. r. 9, 1</originalText>

. <l-— G.% 4.r.9.1: Pharmaceutical Dose Form {free text) #2-6 —>
. </formCode> - ‘
</kind0fProduct>
</instanceOfKind>
<{/consumable> -

<inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16 840. 1. 113883. 3. 989 2.1.1, 19" codeSystemVersion="1, 1
displayName=" parentRouteOfAdm1nlstrat1on Wl
<valué xsitype="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16. 840, 1. 113883. 3.989, 2. 1. 1. 14"

codeSystenVersion="G. k. 4. r. 11. 2a"> .
¢l G.k.4.1.11.2a: Parent Route of Administration TermID Version Date:/ Number H#2-6

_> .
: , - ¢l— G.k.4.1r.11.2b: Parent Route of Administration TermID #2-8 -—>
CoriginalText>G. k. 4. r. 11. 1{/originalText> E
¢!— G,k 4.r.11.1: Parent Route of Administration (free text) #2-6 ——>
¢/value>
{/observation’

¢/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢!— G k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —>



{substanceAdministration classCode="SBADH” moodCode="EVN™>
{text>G. k. 4.1, B</text>
' ¢!— G.k.4.r.8: Dosage Text #2-7 —>
‘ <effectiveTime xsi:type="PIVL_TS3">
<period value="10" unit="G k.4.r. 37/>
<!-- G.k.4.r.2: Number of Units in the Interval #2-7 —>
<!-—-G.k.4.1r.3: Deflnltlon of the Tlme Interval Unit #2-7 —>
{feffectiveTime>
{routeCode code="G.k. 4.r. 10. 2b" codeSystem="2. 16. 840, 1. 113883. 3,989, 2. 1. 1. 14"
codeSystemVersion="G. k 4.1,10, 22"
<{!=- G.k.4.1.10, 2a: Route of Administration TermID Yersion Date / Number #2-7 —>
{l=~ G. k. 4.1.10.2b: Route of Administration TermID #2-7 bl
{originalText>G. k. 4. 1. 10. 1<{/original Text>
-~ G k4.1, 10.1: Route of Administration (free text) #2-7 -
{/routeCode>
<doseQuantity value="10" unit="G. k. 4.r.1b"/>
{l==.G.k.4.1.1a Dose (number) #2-7 —>
© &l-— G.k.4.7.1b: Dose {unit) #2-7 —
{consumable typeCode="CSM™>
<instanceOfKind classCbde="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</1otNumberText> . R
<I-- G.k.4.1. 7 Batch / Lot Number #2~7 -=>° '
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode=" KIND >

. . {formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”™
codeSystenVersion="G. k. 4. r. 9. 2a">- _ )

' <|— G.k.4.1.9.2a: Pharmaceutical Dose Form TermiD Version Date / Number #2-7 -=>
¢I-- G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-7 —>
<originalText>G. k. 4. 1. 9. 1<{/originalText>
{l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-7 —>

</formCode>
€/%ind0fProduct?
</instanceCfKind>
</consumabled ' o

{inboundRelationship typeCode="REFR">
'{cbservation classCode="0BS" moodCode="EVN">
<eode ' code="28" codeSysten="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="] parentRouteOfAdmlnlstratlon D
{value xsi:type="CE” code="G.k.4.r.1L.25" codeSystem=”2.16.840.1.113883.3.939.2.1.1.14’

L

codeSystemVersinn=”G.k.4.r.11.2&’) .
{!~~ G.k.4.7.11,2a: Parent Route of Administration TermID Version Date / Number #2-7
—>
<f—- G.k. 4.r.11. 2b: Parent Route of Admlnlstratlon TernID #2-7 —>
<ur1§1nalText>G k. 4.1. 11, 1{/original Text>
" d—-G.k 4T 1.1 Parent Route. of Administration (free text) #2-7 —>
</valued
{/observation>
</inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
<outboundRe1ationship2 typeCode="COMP">
* ¢}=~ G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-8 -->
{substanceAdminisiration c¢lassCode=" SBADM moodCode="EVN">
{text>G. k. 4. 1. 8¢/ textd .
{!— G.k.4.r.B: Dosage Text #2-8 —>
{effectiveTime xsiitype="IVL_TS">
<low value="20090101"/>
{!— G.k.4.r.4: Date and Time of Start of Drug #2-8 —>
{/effectivelime> ’
{routeCode code="G. k. 4.r.10.2h" codeSystem=" 2 16. 840, 1. 113883, 3.989, 2,1, 1, 14"
codeSystemVers1on— G. k. 4. r. 10, 2a">
<!— G,k 4.1.10, 2a: Route of Administration TermID Version Date / Number #2-8 —>
<Y— G.k-4.r.10.2b: Route of Administration TermID #2-8 —>
<originalTextG. k. 4. r. 10. 1<{/originalText>
<1-- 6. k.4 r.10.1: Route of Administration (free text) #2-8 -
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
<l-- G.k"4.r. 1a Dose (number) #2-§ —>



('-— G.k.4.r. 1b: Dose (unit) #2-8 ——>
<consumable typeCode="CSH">
<instanceOfKind- classCodes"INST™>
<productInstancelnstance classCode="MMAT” determinerCode=" INSTANCE >
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l-- G k.42, 7: Batch / Lot Number #2-8 ——>
} ) {/produttInstancelnstance>
! <kind0fProduct classCode="MMAT" determinerCode="KIND">

¢formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r.9.2a"> S . ,

’ “¢l— G.k. 4. r. 0, 2a: Pharmaceutical Dose Form TernID Version Date / Number #2-8. —>
{!I-- 6.k 4.1.9.2b: Pharmaceutical Dose Form TermID #2-8 —>
<originalText>G. k. 4. 1. 9. 1¢/originalText>
{l=- 6.k 4.r.9. 1 Pharmaceutical Dose Form {(free text) #2-8 —>.

{/formCode> '
</kind0fProduct>
{/instence0fKind>
</consumable>

{inboundRelationship typeCode— REFR”>
{observation classCode="0BS" moodCode="E¥N™>
<eode code="28" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName= parentRuuteOfAdm1n1strat10n W
{value xsi:type="CE" code="G.k. 4.1, 11.2b"™ codeSystem="2. 16. 840, 1, 113883. 3. 989.2.1. 1. 14"
codeSystemVersion=”G.k.4.r.11.2a >
- . «l-— 0.k 4.1r.11.2a: Pareat Route of Administration TermID Version Date / Number #2-8
L= " .
{!— G.k.4,7.11.2b: Parent Route of Administration TeralD #2-8 —>
<originalText>G. k. 4. r. 11. 1{/originalText>
{1— G.k.4.r.11.1: Parent Route of Administration (free text) #2-8 ——)
</value> '
{/observation>
</inboundRelationship>
{/substanceAdministration>
¢/outboundRelationship2> -
<outboundRelationship2 typeCode="COMP” >
<|— G.k. 4.1 Dosage and Relevant Information (repeat as necessary) #2-9 ——>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
<text>G. k. 4. r. B¢/text> ‘
¢!— G.k. 4. r.8: Dosage Text #2—9 - '
CeffectiveTime xsi:type="IVL_TS">
<high value="20090101"/> .
¢l=~ G.k.4.1.5: Date and Time of Last Admlnlstrat1on #2-9 -~>
¢/effectiveTime>
‘<routeCode code="G. k 4,1, 10 %h” codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 14”7
codeSystemVersion="G. k. 4. . 10. 2a">
{!-- G.k.4.7r.10.2a: Route of Administration TermID Version Date / Number #2-9 —> |
<!-- G, k. 4.r.10.2b: Route of Administration TermID #2-9 ——>
{originalText>G. k. 4. 1. 10, 1{/originalText>
¢1=- G.k.4.1.10.1: Route of Adm1n15trat1on (free text) fiz-9 —>
{/routeCode> .
{doseQuantity value="10" mn=&k¢nw7> . . v
<!-- G.k.4.7.1a Dose (numbexr) #2-9 —>
* ¢l-= G.k.4.1.1b: Dose (unit) #2-9 -->
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<¢productInstancelnstance classCode="MMAT”- determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
¢{l— G.k.4.r.7: Batch / Lot Number #2-9 —=>
¢/productInstanceInstance>
<k1nd0fProductfclassCode—"MMAT determinerCode="] KIND >

{formCode code="G.k. 4.r.9:2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a™> ' _ ) )
o ¢1— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9 —>
“¢]— G, k.4.r.9.2b: Pharmaceutical Dose Form TermlD #2-9 —>
CoriginalText>G. k. 4.r. 9. 1{/originalText> .
- ' <l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-9 -—>
</fornCode>
</kindOfProduct>

{/instance0fKind> | ' .



{/consumable>
<inboundRelationship typeCode="REFR"™>
{cbservation classCode="0BS". moodCode="EVN">
{code code="28" codeSystem="2. IE 840, 1. 113883, 3,089, 2. 1. 1. 19" codeSystenVersion="1. 1
displayName=" parentRouteOfAdm1n1stratlon “/y
{value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem— 2 16.840.1.113883.3.989.2.1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a">
¢l=~ G.k 4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-9
-—>
¢|— G.k.4.1.11.2b: Parent Route of Administration TermID #2-9 --»
originalText>G. k. 4. r. 11. 1{/original Text>
| G.k 4.7.11. 1: Parent Route of Administration (free text) #2-9 —>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode=" COMP™>
d=-G.k 41 Dosage and Relevant Information (repeat as necessary) #2-10 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8¢/text>
{l==G.k 4.r.8: Dosage Text #2—10 -
h <effectiveTime xsi:type="IVL_TS™>
<width value="4" unit="G.k. 4.r.6b"/>
<I-- G. k.4 r. 6a! Duration of Drug Administration (number) #2-10 —>
¢{l— G.k.4.r.6b: Duration of Drug Admlnlstratlon (unit) #2-10 —>
LSeffectiveTime>
{routeCode code="G. k 4.1.10, 2b codeSystem— 2. 16. 8B40, 1 113883.3.989.2.1. 1. 147
codeSystenVersion="G. k. 4. r. 10. 2a”> .
¢l-- G, k. 4.1.10,2a: Route of Administration TermID Version Date / Number: #2-10 —>
{l— G.k. 4.r.10.2b: Route of Administration TermID #2-10 -)
{originalText>G. k.4.r, 10, 1</originalText>
<I-- G.k.4.r.10. }: Route of Administration (free text) #2 10 —>
{/routeCode’
{doseQuantity value="10" unit="G.k.4.r.1b"/> ~
¢l=- G. k. 4.1. la Dose (number) #2-10 —>
<]— G.k. 4.'r. 1b: Dose (unit) #2-10 ~->
<consumable typeCode="CSM"> '
<instance0fKind classCode="INST">
<prodictInstancelnstance classCode="MMAT” determinerCode="TINSTANCE™>
<lotNumberText>G: k. 4. 1. 7</lotNumberText>
<|— G.k 4.r.7: Batch / Lot Number #2-10 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
: ‘ <mm%®chW$Am3£Vcwﬁnmwﬂwﬂwﬁwf'
codeSystemVersion="G. k. 4. r. 9. 2a”> .
¢!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 —>
¢!— G.k.4.1. 9. 2b: Pharmaceutical Dose Form TermID #2-10 —>
{originalText>G. k. 4. 1. 9. 1{/originalText>
= G.k.4.r.9.1: Pharmaceutical Dose Form (free text} #2-10 -
{/fornCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
code code="28" codeSystem="2, 16, B40. 1. 113883. 3. 989. 2. 1, 1, 19" codeSystenVersion="1, 1"
displayName= parentRouteOfAdmlnlstratlon’/)
) <value xsi:type="CE” coda- G.% 4.1.11. 2b" codeSystem="2, 16. 840, 1, 113883, 3,980, 2, 1. 1, 14"
codeSystenVersion="G.k. 4. r. 11. 2a”> ]
. . ¢1=- G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / tumber #2-10
— L . ' ’
- <!~ G.k.4.r.11.2b: Parent Route of Administration TermID #2-10 -->
{originalText>G. k. 4. r. 11. 1{/originalText>
{l— G.k.4.r.11,1: Parent Route of Administration (free text) #2-10 -->
{/value>
<{/observation>
</inboundRelationship>
{/substanceAdninistration>

LI



</outboundRelationship2>
<putboundRelationship2 typeCode="SUMM™>
<observation classCode="0BS” moodCode="EVN">
{code code="14" cadeSystem="2. 16, 840. 1. 113883. 3. 989.2.1.1.18" codeSystemVers1on— L1
displayName="cumulativeDoseToReaction”/> .
<value xsi:itype="PQ" value="10" tnit="G.k. 5b"/>
{l=— G.k Ba: Cumulative Dose to First Reaction (number} #2 —>
¢]-—"G.k 5b: Cumulative Dose to First Reaction (unit) #2 --=>
© {/observation>
{/outboundRelationship2>
"CoutboundRelationship2 typeCode="PERT">
-{observation classCode="0BS” moodCode="EVN">
‘{code code="16" codeSystem=”2.15.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1, 1"
displayName="gestationPeriod”/> .
¢value xsi:type="PQ” value="10" unit="G.k. 6b” />

v : ) "¢1-- 6.k 6a: Gestation Period at Time of Exposure (number) #2 ——>
a - {l-- G.k.Bb: Gestation Period at Time of Exposure (UHlt) #2 -
: {/observation>

¢/outhoundRelationship2>
<outboundRelatidnship2 typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN"> .
. <code code="31" codeSystem="2.16. 840, 1. 113883.-3.989. 2. 1. 1. 19 codeSystemVersion="1.1"
d1splayName— recurrance0fReaction”/>
. {value xsi:type="CE” code~ G.k.9.i.4" cndeSystem— 2.16. 840, 1.113883. 3. 989, 2. 1. 1. 16
codeSystemYersion="1. 0"/
¢l-- 6.k 9.1 4: Did Reaction Recur on Re~administration? Drug #2, Reaction #1 —>
<outboundRelationshipl typeCode="REFR">
{actReference classCode="0BS” moodCode="EVN">
<id root="154ehB89-068b-45f2—-al2f~42d4d6f4657" /> o
{/actReference> ,
= - ¢/outboundRelationshipl>
¢/observation>
{/outhoundRelationship2> . '
<outboundRelationship2 typeCode="PERT"> .
{observation c¢lassCode="0BS" moodCode="E¥YN™> .
{code code="31" codeSystem="2.16. 840, 1, 113883.3.989.2. 1. 1 19” codeSystemVerslon— 1.1"
d1splayName— “recurraticeQfReaction”/>
<value xsi:type="CE” code="G.k. 9.i.4" codeSystem— 2. 15 840, 1. 113883.3.989.2. 1. 1. 16"
codeSystemVersion="1.0”/> .
<!— G.k.9.i.4: Did Reaction Recur on Re-administiration? Drug #2, Reaction #2 ->
<outboundRelationshipl typeCode="REFR"} .
{actReference classCode="0BS" moodCode="EVN"}
¢id root="2baa28d6-cYeB-4e6c-93e9-5b860b3142207 />
</actReference
{/outboundRelationshipt>
</observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 19 codeSystemVerslon— 1.17
displayName=" codedDrugInformat1on "
{value xsi: type— "CE” .code="G. k. 10. r* cudeSystem— 2.16,840,1.113883.3.989. 2. 1. 1. 17"
codeSystenVersion="1,0/>
¢I— G.k.10.r: Additional Information on Drug (coded)(repeat as necessary) #2-1 =—>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS™ moodCode="EVN">
{code code="9" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1,1"
dlsplayName- codedDrugInformatlon el .
<value xsi:type="CE” code="G. k. 10. " codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. L. 1. 17",
codeSystemVersions”t. 0°/> '
‘ <I= G. k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2'-=>
{/ohservation
<{/outboundRelationship2>
<outboundRe1at10nsh1p2 typeCode="REFR">
{cbservation classCode="0BS" moodCode=" EVN >
: <code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2, 1, 1. 19" codeSystenVersion="1,1"
displayName="additicnalInformation”/>



<value xsi:type="ST">G.k.11</value>
<l-— 6.k 11 Additional Information on Drug (free text) #2 —>
{/observation>
‘¢/outboundRelationship2>
{inboundRelationship typeCode="RSON"> :
{observation classCode="0BS” moodCode="EVN"> ) .
. <code code="19" coedeSystem="2. 16.840. 1.113883.3.989.2.1.1.19" codeSystemVersion=”1.1”
displayName="indication”/>
{value zsi:type="CE” code="G,k.7.r.2b" codeSystem— 2 16. 840. 1. 113883, 6. 163"
codeSystemVers1on— Gk7.r.22™
- G.k.7.r.2a: MedDRA Version for Indication #2-1 ——>
<I-- G.k 7.7.2b: Indication (MedDRA.code) -#2-1 —>
<originalText>G. k. 7.t. 1</originalText>
¢!— G.k.T.r.1: Indication as Reported by the Primary Source #2-1 —>
{/value>
<{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED"> .
{code code="3" codeSystem="2.16. 840, 1. 113883, 3.989. 2. 1. 1. 21" codeSystemVersion="1.0"

-

displayName="sourceReporter”/> .
{/assignedEntity>
{/performer>
{/observation>
</inboundRelationship>
<inboundRelationship typeCode="RSON">
<observation' classCode=" 0BS” moodCode="EVN">
¢code code="19" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2. 1. 1, 19 codeSystenVersion=" 1. 1”
displayName="indication”/>
<value xsi:type="CE" code— G.k 7.z 2b codeSystem=”2.16.840.1.113883.6‘163”
codeSystemVersion="G. k. 7.1. 2a"> ' :
<F-&klnh:M@MVuﬁmwamnmhnmﬂ—ﬁ
- ¢l— G.X.7.r.2b: Indication (MedDRA code) #2-2 -->
<originalText>G. k. 7.1, 1</originalText>
¢I-- 6.k 7.r.1: Indieation as Reported by the Pr1mary Source #2-2 —>
¢/value>
. {performer typeCode— PRE">
{assignedBntity classCode="ASSIGNED"> )
{code code="3" codeSystem="2, 16, 840. 1. 113883, 3. 989. 2. 1. 1. 21" .codeSystemVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT" moodCode="EVN"> .
{code code="G, k.8” codeSystemn="2. 16, 840, 1. 113883. 3.989. 2. 1. 1. 15" codeSystemVerslon— 1L.0"H
¢{1— G.k.8: Action(s) Taken with Drug #2 -->
{/act>
</inboundRelationship> ~
{/substanceAdministration>
{/component>
{/organizer>
{/subject0f2>
<subject0f2 typeCode="SB]">
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2, 16, 840, 1, 113883, 3. 989.5.1.3.2. L. 11" codeSystemVersion="1. 0"
dlsplayName—”ﬁéikﬂ)#EEE />
{component typeCode="COMP*>
{observation classCode="0BS” moodCode="EVN"> . .
<code code="7" codeSystem="2.18, 840. 1. 113883. 3,989, 5. 1.3, 2. 1. 10" codeSystemVersion="1.0"
displayName="/3 HEF"/> c
<vdlue xsittype="INT" value="1"/>
- (l— @agrz, 13.r. 11 BHEK #1 —
‘ {/observation>
! </component>
<component typeCode="COMP”>
<{cbservation classCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2. 16. 840. 1. 113883, 3.989. 5.1, 3. 2. 1. 10" codeSystemYersion="1, 0"
displayName="%}2JR&B"/>
{value xsi:type="ED">J2.13.r.2¢{/value> .



Cl— @88)2.13. 1. 20 RHEIRE #1 -
{/observation>
</component? ’ . !
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2. 16,840, 1. 113883, 3.989. 5.1, 3. 2. 1, 10" codeSystemVersion="1. 0"
displayName="BR%E4H" /> ' ‘
: {value zsi:type="CE" code="J2.13.1.3" codeSysten="2. 16. 840, 1. 113883. 3.989. 5. 1.3, 2. 1, 7"
codeSystemVersion="1.0"/> .
' ‘ <l— @@@J2.13. 1. 3: Bﬁ?é*ﬁ #1 —>
{/observation>
*{/component)
{component typeCode="COMP*>
{observation classCode="0BS” moodCode="EVN">
<code code="10" éodeSystem="2. 16.840. 1. 113863, 3. 989, 5. 1, 3. 2. 1. 10" codeSystemVersion="1,0"
dJ.splayName‘ BEPOEMOFE"
<value xsi!type="BL" value="true el
<1-- @0aJ2. 13.r: 4: WEF OEFIOFE 1 —
{/ohservation®
{/component>
- <forganizer>
) {/subject0f2>
<{subjectOf2 typeCode="SB]">
<organizer classCode="CATEGORY” moodCode="EVN"> » )
. . <code code="1" codeSystem="2. 16, 840.1.113883. 3.989. 5. 1. 3. 2. 1. 11” codeSystenVersion="1. 0"
displayName="{R8kDIEE"/> . .
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN"> )
o {code code="7" codeSystem="2. 16, 840. 1. 113883. 3. 989.5.1.3.2.1.10 codeSystenVersion="1. 0"
displayName="/& 4 [E18" />
<value zsi:type="INT” value="1"/>
<) @08J2.13.r. 1! JBHIELE #2 —
{/observation>
¢/component>
<compenent typeCode="COMP">
<ohservation classCode="0BS” moodCude— EVN">
<code code="8" codeSystem= 2.16.840.1.113883f3.989.5.1.3.2.1.10"-codeSystemVersion=”1.0"
‘displayName="3t&HRE"/> v
. <value xsi:types"ED*>J2.13.r. 2¢/value>
<l-- @@z, 13. 1. 2: RHBEA 42 -

{/observation>
</component>
! {component typeCode="COMP”>
<observation classCode="0BS” moodCode=" EVN >
: {code code="9" codeSystem~ 2. 16 840. 1. 113883, 3. 989.5.1.3.2.1.10 codeSystemVersLon— 1. 0"
displayName="B8%48" />

{value xsi:type= CE” code=" 12.13.r.3 codeSystem="2. 16, 840. 1, 113883. 3. 989.5.1.3.2.1. 7"
codeSystemVersion="1.0"/> . a :
‘ <l— @@eJ2.13.r.3: MFE #2
{/observation>
</component>
{component typeCode="COMP™>
{ohservation classCode="0BS” moodCode="EVN"> )
<¢code code="10" codeSystem— 2, 16, 840, 1. 113883. 3. 989.5.1.3.2.1.10 codeSystemVersion="1. 0"
displayName="#FE DEMOFTE"/> :
¢value xsi:type="BL” value="false”/>
<I-- @8eJ2. 13.r. 4 BENDEFADOFE #2 —>
{/observation>
</component>
</organizer>
</subject0f2>
{/primaryRole> )
{/subjectl>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” mocdCode="EVN"> )
<code code="20" codeSystem="2. 16. 840, 1, 113883. 3, 682, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="interventionCharacterization”/>
. {value xsi:type="CE" code— 6.k 17 codeSystem— 2.16.840,1.113883,3,980.2.1. 1. 137
codeSystenVersion="1.0"/> :



<!——_G.k.1: Characterisation of Drug Role Drug #1 —>
<subject2 typeCode="SUB]">
{productliseReference classCode="SBADM” moodCode="EVYN">
<id root="3c81b4d5-e039-4a7a~9c30-67671b0ef9ed” />
<{/productUseReference>
{/subject2> : '
{/causalityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode- EVN™>
. <eode code="20" codeSystem="2. 16. 840. 1. 113883 3.989.2.1.1. 19" codeSystemVers1on— .17
. displayName="interventionCheracterization”/>
{value xsi:type=" CE code="G.k, 1”7 codeSysten=" 2. 16, 840, 1, 113883, 3,0809.2.1.1.13"
codeSystemVers1un- 1.0%/> . ' -
) {3~ G.k.1: Characterisation of Drug Role Drug #2 -->
{subject2 typeCcde="SUBJ]"> .
<productUseReference classCode="SBADM” mochode— E¥N™>
<id root="68d6f5ce-3b3b—-45c7-92dd-69e06730c3a8” />
</productlUseReference
.{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP">
<cadbalityﬁssessment classCode="0BS"” moodCode="EVN">
<code code="39" codeSystem="2. 16, 840. 1, 113883, 3.98%. 2. 1.1. 19" codeSystemVersion="1,1"
dlsplayName- causality”/>
<value xsi:type="ST*>6.k.0.1i.2. r. 3¢/value>
,<?-- G k.9.i,2,x.3: Result of Assessment Drug #1, Reactlon #1, Assessment #1 -—>
{methodCode
<or1g1nalText>G.k.9.1.2.r.2(/orlglnalText>
¢]— G.k.9.1.2 r.2: Method of Assessment Drug #1, Reaction #1, Assessment #l ——>
{/methodCode>
<author typeCode="AUT"> -
<assignedBntity classCode="ASSIGNED">
<code>
<originalText?G. k. 9. 1. 2. 1. 1{/originalText> s
<}~ G.k.8.1,2. 7.1 Source of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/code>
{/assignedEntity}’
</author>
. {subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0B3" moodCode="EVN">
<id root="154eb889~958b-45f2~202f-42d4d6F465TE" />
{/adverseEffectReference)
{/subjectl>
{subject2 typeCode="SIB]">
{productlUseReference classCode="SBADM" moodCode="EVN">
{id root="3c91b4d5-e039-4a7a-9c30-67671b0efBed” />
</productUseReference>
</subject2> . ’ -
{/causalityAssessment>
{/component) )
{component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN™>
{code code="39" codeSystem="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1".
displayName="causality”/> . .
Wmemtm&SkaJJJJﬁqwm@
<I--G.%.9,1.2.1. 3! Result of Assessment Drug #1, Réaction #2 Assessment #1 —>

<{methodCode>

<or1g1nalText>G.k.9.1.2.r.2</or1g1nalText>

{1--6.k.9.1.2.1.2: Method of Assessment Drug #1, Reaction #2 Assessment #1 —>
{/methodCode>

<author typeCode="AUT™>
{assignedEntity classCude— ASSIGNED™>

Leode
<or1g1nalText>G.k.9.1.2.r.1</or1g1nalText>
<= G.k.9.1.2.1.1: Source of Assessment Drug #1, Reacticn #2,; Assessment #1 ——>
) </code>

{/assignedEntity>



{/author>
¢subjectl typeCode="SUBJ"> _
<adverseEffectReference classCode="0BS” moodCode="EVN">
<id root=”2baaZEd6—c9e8—4eﬁc-93e9-5b860b314220”/)\
{/adverseEffectReference>
<&/subjectl>
{subject2 typeCode="SUBJ">
.. <preductlUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4aTa-9:30-67671b0ef9ed” />
{/productUseReference>-
{/subject2>
{/causalityAssessment> : !
{/component> ’
{component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN™>
<code code="39" codeSystem="2.18. 840. 1. 113883 3,980, 2,1, 1. 19" codeSystemVersion="1.1"
displayName=" causallty />
{value xsi: type— ST >G.k.9.1.2.r.3</va1ue)
<}-6.%k.9.1.2.7.3: Result of Assessment Drug #2, Reaction #2 Assessment #1 —>
<methodCode>
<originalText>G. k. 9. i. 2. 1. 2¢/originalTekt>
<I—6.%.9.1.2.1.2: Method of Assessment Drug #2, Reaction #2, Assessment # —>
o {/methodCode>
v ' <author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
(code)
i : "CoriginalText>G. k. 9. 1. 2. r.-1<¢/original Text>
{l— G.k.9.1.2.7. 1! Source of Assessment Drug #2 Reaction #2 Assessment #1 -,
<{/code> .
{/assignedEntity>
</author>
{subjectl typeCode="SUBJ">
<adverseEffectReference classCode="0BS™ moodCode="EVN">
. <id root= Zbaa28dﬁ-c9e8—4e6c—93e9—5b850b314220 e
</adverseEffectReference>
{/subjectl>
{subject? typeCode="SUBJ">
{productlUseReference classCode="SBADM" moodCode="EVN™> .
 £id roct="6Bd6f6ce—3h3b-45¢7-92dd-69e06730c3ad"/>
{/productlUseReferenced .
{/subject2>
¢/causalityAssessment?
{/component>
{component typeCode="COMP">
{cansalityAssessment classCode=" OBS” meodCode="EVN™>
{code code="39" codeSystem="2. 16. 840, 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="causality”/> . '
<yalue xsiitype="ST">G.k.9.1i.2 r.3¢/value> '
{!—G.k.9.1.2.r.3: Result of Assessment Drug #2, Reaction #2, Assessment #2 —>
<{methodCode? .
CoriginalTextG. k. 9. 1. 2. r. 2¢/originalText>
{—G.k. 9.i.2.r,.2: Method of Assessment Drug #2, Reaction #2 Assessment #2 ——>
{/methodCode>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
£code> :
{originalText>G. k. 9.1. 2, r. 1{/originalText>
¢0--6.%9.1.2.1.1: Source of Assessment Drug #2, Reaction #2, Assessment #2 ——>
{fcode> ’
{/assignedEntity>
{/author>
{subjectl typeCode— SUBJ >
¢adverseEffectReference classCode="0BS" moodCode="EVN">
{id root= 2baaZBd6—c9e8—4e6c-93&9"5b860b314220 s
{/adverseEffectReference’
¢/subjectl>
{subject? typeCode="SUBJ">
{productlUseReference classCode=" SBADM moodCode- EVN">
{id rooct="68d6f5ce-3b3b-45c7— 92dﬂ—699067300359'/>

'



(/productUseReference>
{/subject2>
</causalityAssessment>
</compenent>
{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
" <code code="10" codeSystemh 2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
dxsplayName- comment”/>
<{value xsi:type= ED"1. 2</va1ue)
<!-- H.2: Reporter's Comments —> -
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™> .
{code code="3" codeSystem="2, 16, 840, 1. 113883.3.989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter”/>
{/assignedEntity>
(fauthor>
{/cbservationEvent>
¢/component1>
{component} typeCode="CONP">
{observationEvent classCode="0BS" moodCDdlu EVN™>
<code code="15" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="diagnosis”/> ' -
{value xsi:type="CE” code="H. 3. r.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163"
codeSystemVer51on— H3.r.1a"/"
<|— H. 3. r.1a: MedDRA Version for Sendér's Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #1 —> "\ : . ’ .
‘ <l~= H. 8. r.1b: Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA-
code) #1 —> :
{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{code code="1" codeSystem="2.16. B840, 1. 113883.3.989.2.1. 1. 21" ccdeSystemVer51on= 1. 0%

A

displayName="sender”/>
(/a551gnedEnt1ty)
© {Jauthor>
¢/vbservationEvent>
{/componentl>
{componentl typeCode="COMP”">
{observationEvent classCode="0BS" moodCode=" EVN > o
. {code code="15" codeSystem="2. 16. 840. 1. 113883. 3,985.2, 1. 1. 19" codeSystemVarsion='1.1”
dlsplayName—”dlagn051s Fa
<value xsirtype="CE” code="H. 3.r. 15" codeSystem— 2. 16 840, 1. 113883, 6. 163"
codeSystemVersion="H. 3. r. 1a”/>
{!=— H.3.r. la: MedDRA Version for Sender's Diagnosis / Syndrome and / or Reclassification of Reaction /
.Event #2 —> . ’
' ¢!== H.3.r. 1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #2 —>
{author typeCode="AUT">
. assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 1B, 840, 1 113883,3.989.2.1, 1. 21" nodeSystemVer51on— 1. 0
dlsplayName— sendexr”/>
{/assignedEntity>
{/author>
{/observationEvent>
{/component1>
{compecnentl typeCode="COMP”> i
<observationEvent classCode="0BS” moodCode="EVN">
{code code="10" codeSysten="2. 16. B40. 1. 113383 3.989.2. 1. L. 19 codeSystemVers1on— .17
dlsplayName- comment” />
<value xsi:type="ED">H. 4<{/value>
¢1-— H.4: Sender' s Comments —>
{author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
R . ‘ <codé code="1" codeSystem="2, 18, 840, 1. 113883.'3. 989, 2, 1. 1. 21" codeSystemVersion="1. 0"
displayName="sender”/> ’
{/assignedEntity>
{/author>
{/observationEvent>
{/componentl>
Ccomponentl typeCode="COMP”>



{observationEvent classCude- 0BS” moedCode="EVN">
{code code="3" codeSystem— 2. 16. 840, 1. 113883, 3. 989.5.1.3.2.1.10

RETIHTHIAAY N

BlEOMBRE >

. <code code="5" codeSystem="2.16. 840. 1. 113883. 3, 989, 5. 1.3.2.1. 10*
B ORI : :
<value xsiitype="ED">J2.10</value> ,
<I— gogge. 10: SO —>
"'¢/ohservationEvent>
{/component1>
<componentl typeCode="COMP™>
{abservationEvent classCode="0BS” mondCode— EVN>
{code code="6" codeSysten="2. 16. 840, 1. 113883, 3. 989.5.1.3.2.1.10
ZOMBEERE"/> o
<value xsi'type="ED">J2. 11</value>
¢l-- @08J2. 11: THMBEHEHE —
</observationEvent>
, &/componentl>
{componentl typeCode="COMP">
{ochservationBvent classCode="0BS” moodCode="EVN">
: <code code="12" codeSystem="2. 16, 840. 1. 113883, 3. 989, 5, 1. 3. 2. L. 1o”
HEREDEL"/
<value xsiitypes"ED">JZ. 16</value>
<l-- @6aJ2, 16: MEAFOER —>
{/observationEvent>
{/component1>
_ {componentl typeCode- COMP™>
{observationEvent classCode="0BS" moodCode— EVN">
<code code="13" codeSystem="2. 16.840..], 113883. 3. 889.5.1.3. 2, 1. 10"
#5177 _
<yalue xsi:type="ED">J2.19</value>
<l— @geyz. 19 {EE1 —>
{/observationEvent>
{/componentl>
<{componentl typeCode~ COMP”>
{ohservationEvent classCode="0BS" moodCode=" EVN >
_ <code code="14" codeSystem="2. 16, 840 1.113883. 3. 989.5.1.3.2.1.10
R :
<va1ue %sittype="ED" >J2.20</value>
. <l— 88T 20 EEZ —
{/observationEvent>
{/componentl>
{componentl typeCode=" COMP >
" <{observationEvent classCode="0BS" moodCode="EVYN">
{code code="15" codeSystem="2, 16. 840, 1. 113883.3.98%.5.1.3.2.1. 10"
wE/H . :
{value xsi:type="ED">J2.21<{/value>
<l— @eayz. 2i: %3 —
{/observationEvent>
{/component1>
{componentl typeCode="COMP™> _
¢observationEvent classCodé="0BS” moodCode="EVN"> - )
- ¢code code="16" codeSystem="2. 16, 840. 1. 113883, 3, 989. 5. 1. 3. 2. 1. 10"
g4 :

<value xsi: type— 'ED” >IZ 7. 2¢/value>
<|— @@er2. 7.2: ﬁ%mTLi’i"Q‘Z}-ﬂ)‘ ¥ b=
{/observationEvent>
{/component1>
. Seomponentl. typeCode="COMP">
“observationEvent classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16, 840. 1. 1123883, 3.989.5.1.3. 2. 1. 107

<value xsi:type="ED">J2. 9</va1ue>
<1— 888J2.9: BUECMRNHE —
{/observationEvent>
{/conponent1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">

<value. xsittype="ED">J2. 22{/valued
<~ BABJ2. 22: fEE 4 —>

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1, 0"

codeSystemVersion="1, 0"

codeSystemVersion="1, 0"

codeSystenVersion="1, 0"

codeSystemYersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1, 0"

displayNeme="

displayName="

displayName="

displayName="

displayName="

displayName=" -

displayName="

displayName="

displayName="



{/observationEvent>
</component1>
{/adverseEventAssessment)
</component>
{component typeCode="COMP">
CobservationEvent classCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2. 16. B40, 1. 113883, 3. 989, 2. 1, 1. 19" codeSystemVersion="1.1"
dlsplayName— addltlonalDocumentSAva11able e
* <value xsi: ‘type="BL" value="true”/>’
¢l— C.1.6.1: Are Additional Documents Available? -->
</observationEvent>
{/component> i
{component typBCode— COMP >
<ohservationEvent classCode="0BS" moodCode="EVN">
{code code="23" codeSystem— 2. 16, 840, 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVer51on— 1:1"
displayName="localCriteriaForExpedited”/>
{value xsi: Itype= "BL” value="true”/> .
¢l-— €. 1.7: Does This Case Fulfil the Local Criteria for an Expedlted Report? —>
{/observationEvent>
</component>
{component typeCode=" COMP >
CobservationEvent classCode="0BS* moodCode="EVN"> :
<code code="36" codeSystem="2, 16, 840. 1. 113883, 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="summaryAndComuent” />
<value xsi:type=“ED” language="H.5.r. 1b">H. 5. r. 1a$/value>
<] H.3.r.la: Case Summary end Reporter’s Comments Text #1 —>
<|— H.5.1.1b! Case Summary and Reporter’ s Comments Language #1 —>
<author typeCode="AUT">
{agsignedEntity classCode— ~ ASSTGNED™>
{code code="2" codeSystem="2. 16. 840. 1. 113883 3. 989 2,11, 21 codeSystemVersion="1.0"
d1sp1ayName— reporter” />
</assignedBntity
{/author>
{/observationEvent)
</component>
{component typeCode="COMP™> .
{observationEvent classCode="0BS” moodCode="EVN">
<code code="36" codeSystem="2.16.840. 1. 113883, 3, 980.2. 1. 1. 19 codeSystemVersion=" 1 1”
displayName="summaryAndComment” />
{value xsi:type="ED” language="H.S5.r.1b">H. 5. r. la{/value>
<l== H.5.r.1la: Case Summary and Reporter’s Comments Text #2 —>
<l-- H.5.r. 1b: Case Summary and Reporter’s Comments Language #2 —>
{author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
<eode code="2" codeSystem— 2.16,840.1, 113883. 3. 989 2. 1. 1. 21 codeSystenVersion=" 1 0"
displayName="reporter”/> :
‘ {/assignedEntity>
</author>
{/observationEvent>
{/component>
{outboundRelaticnship typeCode="SPRT">
<relatedInvestigation classCaode="INVSTG” moodCode= EVN”) , :
{code code="1" codeSystem="2. 16.840. 1. 113883, 3. 989, 2: 1. 1, 22" codeSystemVersion=”1.0”
displayName="initialReport”/>
{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
<code code="C,1.8.2" codeSystem="2. 15, 340, 1, 113883. 3., 989, 2, 1. 1. 3" codeSystemVersion="1.0"/>
<l-- C.1,8.2: First Sender of This Case —>-
{/assignedEntity>
</author>
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation> .
{/outboundRelationship>
{outboundRelationship typeCode="SPRT">
<relatedInvestigation classCoede="INVSTG" meoodCode="EVN">
<code nullFlavor="NA"/>



{subjectOf2 typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode- EYN">
<id extension="C.1.10.1" root="2, 16. 840, 1. 113883. 3,989, 2. 1. 3. 2" />
('—— C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
1 >
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelatienship typeCode=" SPRT™>
<re1atedInvestlgat1on classCode=" INVSTG moodCode— EVN™>
‘¢code nullFlavor="NA"/>
<subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT" moodCode=" EVN >
¢id extension="C. L. 10.T" root="2. 16, 840.1.113883.3,989.2.1.3.2"/>
¢]— C.1,10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary}
#2 —> - N - '
{/controlActEvent>
</subject0f2>
, </relatedInvestigation>
{/outboundRelationship>
' {outboundRelationship typeCode— SPRT">
{priorityNumber value="1"/>
<!— . 2. r.5: Primary Seurce for Regulatory Purposes #l —>
¢relatedInvestigation classCode="INVSTG" moodCode="EVN">
<code code="2" codeSystem="2.18. 840, 1. 113883, 3. 989 2.1, 1 22 codeSystemVersjon=’1.0”
displayName="sourceReport”/>
<subjectOf2 typeCode="SUB]™> .
" ¢eontrolActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedBntity classCode="ASSIGNED">
{addr> -
{streetAddressLine>C. 2. 1. 2, 3¢/streetAddressLine> .
{l== C,2.1.2.3: Reporter’s Street #1 —> '
<eity>C. 2.1, 2. &¢/city> .
<l-- C.2.r.2.4: Reporter’s City #1 -=>
{staterC. 2, r. 2. 5</state>
<|-~C.2.7.2.5: Reporter’s State or Province #1 —>
 {postalCode>C. 2. 1. 2. 8</postalCode>
¢l== C.2.r.2.6: Reporter's Postcode #l —>
</addr>
{telecom value="tel:C.2.r.2.7°/>
 «l— €.2.1.2. 7 Reporter’ s Telephone #1 —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name> :
<prefixdC. 2. r. L. 1{/prefizx> : ‘ W
{{— C.2.r.1.1: Reporter's Title #1 ——>
{given>C. 2.1.1. 2</given>
¢}~ C.2.r.1.2: Reporter’ s Given Name #1 —>
<given>C.2. 1. 1. 3(/g1ven>
<]— C.2.1.1.3: Reporter's Middle Name #1 ==
(FamilydC. 2. v 1. 4¢/family)
{I—C.2.r.1.4: Reporter's Famlly Name #1 -
<{/name> .
<asQualifiedEntity classCode="QUAL"> .
{eode code="C.2.1.4" codeSystem="2. 16. 840 1. 113883, 3. 989 2.1.1.6” codeSystemVersion="1,0"/>"
l-=C.2.r.4: Qualification 1 —>
</asQualifiedEntity>
<asLocatedEntity classCode="LOCE">
Clocation classCode="COUNIRY” determinerCode="INSTANCE™>
<{code code="C.2.1.3" codeSysten="1.0.3166.1.2.2"/>
¢}-- C.2.1.3: Reportar’ s Country Code #1 —>
</location> .
</aslocatedEntity> - ’ :
(/assignedPerson>
{representedUrganization classCode="0RG” determinerCode="INSTANCE">
<{name>C, 2. r. 2. 2{/name>
¢l-— C.2.1r.2.2: Reporter’ s Department #1 —>
<assignedEntity classCode="ASSIGNED">



<represented0rganlzat10n classCode="0RG” determinerCode="INSTANCE™>
<name>C. 2, r. 2. 1{/name>
l— C.2.r.2.1: Reporter’ s Organisation £l ——>
(/representedOrganlzatlon)
{/assignedEntity>
{/representedOrganization>
</assignedEntity>
{/author>
</cantrolActEvent> S :
</subject0f2> ' .. -
¢/relatedInvestigation> :
{/outhoundRelationship> :
‘{outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 22" codeSystemVersion="1, 0"
displayName="sourceReport”/>
<subjectOf2 typefode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN">
" <author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED">
<addr>
{streetAddressLine>C. 2.r. 2, 3</streetAddressL1ne>
<!=- C.2.1.2.3: Reporter's Street #2 —=>
{eity>C. 2.1, 2. 4¢/city>
¢l-—— C.2.r.2.4: Reporter’s City #2 -->
{statedC. 2. r. 2 5¢/state>
¢{I-——C.2.r.2.5: Reporter’s State or Province #2 —> .
<postalCode>C. 2. 1. 2. 6{/postalCode>

|-~ C. 2.1 2. 6! Reporter’s Postcode #2 ——>
{/addr>
<telecom value="tel:C.2.1.2.77/>

1=~ (. 2,7.2.7 Reporter's Telephone #2 —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name> ‘
<prefix>C. 2. r. L. 1{/prefix}> .
{l-- C.2.r.i.1: Reporter’s Title #2 —>
{givendC. 2. 1. 1. 2{/given>
{l— C.2.r.1.2: Reporter’ s Given Name #2 —->
‘ <given>C. 2.r. 1. 3</given>
- ¢l== C.2.r.1.3: Reporter' s Middle Name #2 —>
© Lfamily>C. 2. 1. 1. 4</fanily> : .
¢l— C.2.r.1.4: Reporter’ s Family Name H2 ~> . :
{/name>
<asQualifiedEntity classCode="QUAL">
{code code="C.2.r.4" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1, 1, 67 codeSystemVersion="1.07/>
d—C.2r4: Qual1f1cat1on #2 —>
(/asQualifiedEntity>
<asLocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="C.2.r.3" codeSystem="1.0.3166. 1. 2.2"/> -
- C.2.1.3: Reporter s Country Code #2 ——>
¢/location>
</asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode— ORG” determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2{/name>
<!=- (. 2.r.22: Reporter’ s Department #2 —> )
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG" determ1nerCode— INSTANCE™>
{name>C. 2. 1. 2. 1{/name>
¢l-- C.2.r.2.1: Reporter’ s Organisation #2 ——>
</representedOrganizationd
{/assignedEntity>
{/representedOrganization>
{/assignedEntity> ‘
</author> e
{/controlActEvent>
{/subjectQf2> ) i -
{/relatedInvestigation> -



{/outboundRélationship>
{subject(fl typeCode="SUB]™>
{controlActEvent classCode="CACT” moodCode="EVN">
<author- fypeCode="AUT">
<assignedEntity classCode="ASSIGNED">
{code code="C.3.1" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 7" .codeSystemVersion="1. 0"/>
¢l—'C.3.1: Sender Type ——> -
<addr> ‘
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
<l— €.8.4.1: Sender’ s-Street Address —>
<city>C. 3. 4. 2</city> )
¢l— C.3.4.2: Sender’s City —
{state>C. 3. 4, 3{/state>
¢}— C.3.4.3: Sender’ s State or Province ——>
<postalCode>C. 3. 4, 4¢/postalCode>
{l=- (.3.4.4: Sender's Postcode —>
{/addr>
<telecom value="tel:C.3.4.6"/>
¢l-- (.8.4.6: Sender’ s Telephone —»
{télecom value="fax:C.3.4.7"/>
<!-— C.3.4.7: Sender’s Fax —>
{telecom value="mailto:C. 3, 4,8"/>
<)-- C.3.4.8: Sender's E~mail Address ——>
<assignedPerson classCode="PSN" determinerCode="INSTANCE™>
<name? . ) )
{prefix>C. 3. 3. 2¢/prefix>
<|— C.3.3.2! Sender’s Title —
<given>C. 3. 3, 3¢/given>
{l-= C.3.3.3: Sender's Given Name —>
<given)C. 3. 3. 4{/given>
<l C.3.3.4: Sender's Middle Name —> -
{family>C. 3. 3. 5</Tamily>
¢l--(C,3.3.5: Sender’s Fanily Name ——>
{/name> . . -
{asLocatedEntity classCode="LOCE™>
' <location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.3.4.5" codeSystem="1.0.3166.1.2.2"/>,
- C.3.4 5: Sender’ s Country Code ——>
{/location> . L .
</asLocatedEnt1ty> -
{/assignedPerscn} - ' ' . T
{representedirganization classCode="0RG” determlnerCode— INSTANCE™>
<name>C. 3. 3. 1</name>
¢l— (.3.8.1: Sender’s Department —>,
<assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG” determinerCode=" INSTANCE >
<{name>C. 3. 2¢{/name>
<l— C.3.2: Sender's Organisation —>
{/representedOrganizationd
¢/assignedEntity>
. {/representedOrganization> -
{/assignedEntity>
{/author>
<{primaryInformationRecipient typeCode="PRCP">
{assignedEntity classCode="ASSIGNED"> o
<gssignedPerson classCode="PSN” determinerCode=" INSTANCE >
{name>
<pref1x>12.18.2</prefix>
<l— 08812, 18.2: BE¥ Bz
{family>J2, 18. 3</family>
<l— 888J2.18.3: ZiEF M —
{given>J2. 18. 4{/given> .
<}— @e8J2.18.4: Bl £ ‘ '
4 /name>
{/assignedPerson?
{representedOrganization classCode="0RG” determinerCode=" INSTANCE™ .
<name>J2. 18. 1{/name> -
<!-- @8eJ2.18.1: REF HEMe —

</representedOrganization>

hY



{/assignedEntity>
{/primaryInformationRecipient>
¢/controlActEvent>
{/subject0f1>
<subject0f1 typeCode="SUBT"> .
<controlActEvent classCode="CACT” moodCode="EVN">
{id assigningAuthorityName="C.1.9.1.r. 1" extension="C.1.9. L. r. 2" root="2. 16. 840. 1, 113883, 3,989.2.1.3.3" />
{I-- €. 1.9.1.r.1: Sotrce{s) of the Case Identifier (repeat as necessary) #1 -->
¢l-— C.1.9. L.r.2 Case Identifier(s) #1 —>
{/econtrolActEvent>
</subject0f1>
{subject0fl typeCode="SUB]">
{controlActBvent classCode="CACT” moodCode="EVN">

{id assigningAuthorityName="C.1.9.l.r,1" extension="C.1,9.1.r.2" mu‘2m8m11H533%92133ﬂ
<l— €. 1.9.1.1. 1! Source(s) of the Case Identifier (repeat as necessary) #2 -->
¢l== €. 1,9.1.1.2 Case Identifier(s) #2 -
{/controlActEvent>
{/subjectOf1>

<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSysten="2. 16. 840, 1, 113883. 3, 989. 2. 1. 1. 23" codeSystemVerslon~ 1.07
displayName="1ichReportTypa”/> -
<value xsi:type="CE” code="C.1.3" codeSystem="Z2.16.840.1,113883.3.989.2.1.1.2" codeSystenVersien="1.0"/> -
¢{]=— . 1.3 Type of Report —>
{/investigationCharacteristic>
{/subject0f2> .
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode=" EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989, 2, 1. 1. 23" codeSystenVersion="1.0"
displayName="othexCaselds”/>
: {value xsiitype="BL” value="true />
¢l-- C.1.9.1 Other Case Identifiers in Previous Transmlsslons -—>
</1nvest1gat1onCharacterlst1n>
{/subject0f2>
{subjectOf2 typeCode=" SUBI > :
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2.16.840. 1. 113883. 3. 989, 2 1.1.23" codeSystemVersion=" 1.0"
displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1" codeSystem="2. 16. 840, 1. 113833 3.989.2.1. 1.5” codeSystemVer51on— 1.07/>
{1-- C.1.11.1: Report Nullification / Amendment —>
(/1nvest1gat10nCharacterlst1c> .
¢/subject0f2>
{subject0f2 typeCode— SUBI”>
(1nvestlgat1onCharacter1st1c classCode="0BS" moodCode="EVN" >
{code code="4" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1.1, 23" codeSystemVer51on— 1.0"
d1sp1ayName— nullificationAmendmentReason”/>
{value xsi:type="CE™>
{originalText>C. 1. 11, 2¢/originalText>
<|-- €. 1.11. 2! Reason for Nullification / Amendment —=>
</value> -
{/investigationCharacteristic>
<{/subject0f2>
{subjectOf2 typeCode="SUBJ">
<1nvest1gat10nCharacterlst1c classCode="085" moodCode— EVN™>

~

{code code="1" codeSystem="2, 16, 840, 1 113883, 3.980.5. 1. 3. 2. 1. 127 codeSystemVersion="1.0" displayName="HER!l
5 (WELH8) S
<value xsi: type— “CE” code="J2. 1a” codeSystem— 2, 16 840, 1 113883 3. 989,5.1.3.2.1.1

codeSystemVersion="1. 0" />
<l— @@erz. 1a: HERUES (HELE) —
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode=" EVN >
<code code="2" codeSystem="2. 16, 840, 1. 113883, 3. 989,5.1.3,2.1. 12" codeSystemVersion="1.0" dlsplayName— He

mEAS.
Cvalue xsi:type="T8" value="20130107"/>
y <|-- gBeJ2.2.1: HEHEKE —>
* {/investigationCharacteristic>
{/subject0f2>

Pl



¢subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="3" codeSystem=”2.16.840.1.113883.3.989.5.1.3.2.1.12” codeSystenVersion="1.0" displayName="344
BEACETZaAY S :
{value xsi:type="ED">J2. 2, 2¢/value>
<|— geajz. 2.2: ﬂ*ﬁﬁﬁl@?éﬂi/k-ﬁ
{finvestigationCharacteristic>
{/subject0f2> ' . ‘
.-¢subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2. 16. 840. 1. 113883.3.989. 5, 1.3, 2.1, 12" codeSystemVarsion="1.0" displayName="Ef¥
eI ’ '
<value xsi:type="CE” code="J2.3" codeSystem="2, 16,B40. 1. 113883.3,089.5.1.3.2.1.2" codeSystenVersion="1,07/>
<l-- @e@J2.3: ENERE7I S —> ‘
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode~ SUBT”>
<investigationCharacteristic classCode="0BS" moodCade="EVN"> i ’ . :
{code -code="5" codeSystem="2. 16. 840, 1, 113883. 3.989. 5. 1. 3. 2. 1. 12" codeSystemVersicn="1.0" displayNa@e=’§E%?

wHENTI SN

<value xsidtype="CE” code="J2.8.1" w%ﬂﬂm—ZlGMDl1B%33%&&L&&L6
cndeSystemVers1on— i.0"/5 .
<l— @eerz.8.1: HEHEHAZSS —
</inyestigationCharacteristic>
{/subject0f2>
' {subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN"> .
! {code code="6" codeSystem="2. 16. 840. 1. 113883, 3,080, 5, 1. 3, 2.1. 12” codeSystenVersion="1.0" displayName="%R4%
HENOEH",H : : T
<value xsi:type="ED">J2. 8. 2<{/value>
<|— 888)2.8.2: BENRIOBEH —>
¢/investigationCharacteristic) -
{/subject0f2>
{/investigationEvent>
</subject>
</controlactProcess)
</PORR_INO49016UV>
{!— Message #1 —>
¢1-- Message #2 —>
¢!~ PORR_INO49016UV —> .
¢]— /PORR_INO49016UV —>
{l— Message {2 —>
<receiver typeCode="RCV">
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N. 1. 4" root="2. 16, 840, 1, 113883, 3, 989, 2. 1. 3. 14" />
¢l-~ N.1.4: Batch Receiver Identifier ——>
{/device>
{/receiver>
<sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
{id extension="N.1.3” root="2. 16.840. 1. 113883.3. 989.2. 1. 3 137/5 . )
¢l== N.1.3: Batch Sender Identifier --> .
</device>
{/sender> ] : !
</MCCI_IN200100UVOL>
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AR Bllkk 5 288

XPath /MCCI IN200100UV01[@ITSVer310n—'XML 1. 0][@x51 schemaLocatmn—'urn h17-
orgiva ‘ .
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT][@moodCode="EVN/subject[@typeCode="SUBJ'l[1)/investigationEvent.
[@classCode=TNVSTG'[@moodCode= '"EVN'l/subjectOf2[@typeCode="SUBJ'[inve
stigationCharacteristic/code[@code='1'] [@codeSystem—’2.16.840.1.113883.3.989.5.
1.3.2.1.12']1[1)/investigationCharatteristic[@classCode="OBS'l [@mood Code="EVN'
Mvaluel@xsitype="CE'll@codeSystem="2.16. 840-1 113883.3.989.5.1.3.2.1.1'1/@code

XPath /MCCI IN200IOOUVOI[@ITSVersmn—'XML 1. 0][@x51 schemalocation="urn:hl7-

(dodeSystem orgvd '

Version) MCCI_IN200100UV01.xsd'l/PORR IN049016UV[r]!controlActProcess[@classCod_

e="CACT1[@moodCode="EVN'l/subjectl@typeCode="SUBJ'1[1)/investigationEvent

- [@classCode="INVSTG][@mood Code='"EVN'l/subjectOf2[@type Code="SUBJ'][inve

stigationCharacteristic/code[@code="11 [@codeSystem="2.16.840.1.113883.3.989.5.
1.8.2.1.127{1)investigationCharacteristic[@classCode='OBS'l[@mood Code='"EVN'

valuel@xsi'type='CE] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.11/@code

SystemVersion

BB E L BAEE TR,

HEHH

BEFE | F-HOVTR, BTHE - RETHEOIMMICEH 53, ZMET5, £, &
THUBIZOWTHE, SRS LEBRNESEERT 5, RTHRE. RETHET
BHBIHHD b TE—REREI, ¢ﬁa&¢ma¢5 L, B L amRES
®H5%%0Tmﬁm7&&5

F—x A 8N

BEE L

XPath /MCCI_IN200100UV01{@ITSVersion="XML,_L.0l[@xsi:schemaLocation="urn‘h17-

org:vd

MCCI_IN200100UVO01. xsd‘]/PORR INO49016UV[r]/controlActProcess{@classCod
e='CACT'][@moodCode="EVN")/subject[@typeCode="SUBJ[1}/investigationEvent
[@classCode=TNVSTG1] [@ﬁlOOdCOde='EVN'] Ad[@root='2.16.840.1.113883.3.989.5.
1.3.2.3.11{1]/@extension




T o\ T, BRI L5 R LR, B, REI% 22850 0% 1 HE
O SIEE 2 B b U< 1 273 4 1 IR A EEE Mok B L 25,

BT I

B/EMR CCYYMMDD % TR#iT5 2 k.,
7 — &5 CCYYMMDDhhmmss. UUUU+ | -ZZzz]
HEE =26
| XPath /MCCI IN200100UV01[@ITSVersmn—'XML 1.0M@xsi:schemal.ocation="urnh17-

‘ [@classCode=TNVSTG l[@mood Code="EVN'l/subjectOf2[@type Code='SUBJ | [inve

value [@xs1 type="TS'l/@value

| a8e

orgvd
MCCI_IN200100UVO01. xsd]/PORR IN04901GUV[r]/controlActProcess[@classCod
e='CACT"[@moodCode="EVN"V/subject[@type Code='SUBJ'l[ 1)/investigationEvent

StigationCharacteristic/code [@code='2 1[@codeSystem='2.16.840.1. 113883.3.989.5.
1.3.2.1.121[1V/investigationCharacteristic[@classCode="OBS' [@mood Code='EVIN'

fﬂ21ﬁ¢@EHJkOWT DTCRTHEe%. BASLERGSICERT S,
cE-BUZBVT, m14FﬁW#6%HLﬁ¢#A$éntijFﬂZlﬁ*@
BB BERDESR ,
HLAIE 228 %0 20 8 LV ER U 58 2 B0 b L <138 273 5 L FCED 51
EMRERIE L TV 5 T & %, PHERTRE R B PIRR RS SR L T

- 30 (Xix 15) Huﬁwﬁ&ﬁﬁfﬁék%xfwtk N %1%&%¢T6m
IEMERIZE Y 15 (X 7) BRAOBEORETHDZ 2:73#!15)3 L&

BRI IR

L

F— 2 E

| 10000AN

FRAE

B M T

XPath -

/MCCI IN200100UV01[@ITSVersmn“'XML 1.0'l[@xsi:schemalocation="urn:hl7-

orgiv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess[@classCod .
e='CACT{@moodCode="EVN'/subject(@typeCode="SUBI1[1)/investigationEvent
[@classCode="INVSTG[@mood Code="EVN/subjectOf2[@typeCode="SUBJ | [inve
stigationCharacteristic/code [@code="3[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12]1[1//investigationCharacteristi¢[@classCode="OBS'] [@moodCode="EVN'
Iivaluel@xsi:type="EDV/textO | '

BIERERRE . BIEEAIRE, AESEREICR T, TRERBERAOIED
9 (1) OKHSTAHEDHE. AEEEHT S,

WU HHADS [1=HIAE] 2ERTH L,
‘ 2



| erEs

F—HE 1IN

AR 1=fRiFERE _

XPath /MCCI_IN200100UV01{@ITSVersion=XML_1.0{@xsi:schemalocation="urn‘hl7-
org-v3 . ‘
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{x]l/controlActProcessl@classCod
e="CACT'[@moodCode="EVN/subject(@typeCode='SUBJII[1]/ investigationEvent
[@classCode=INVSTG' [@mood Code="EVNl/subjectOf2[@typeCode="SUBJ'llinve
stigatiopCharaéteristic/ code[@code='4"l[@codeSystem='2.16.840.1.113883.3.989.5.

"1.3.2.1.127][1}/investigationCharacteristic[@class Code="OBS [@mood Code="EVN'

Iivaluel@xsiztype="CEH@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.21@code

XPath’ /MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemalocation="urn:hl7-

(codeSystem | org:v3 .

Version) MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcess[@classCod

e='CACT'][@moodCode="EVNl/subject@type Code="SUBJ'[1)/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVNV/subjectOf2[@typeCode="SUBJ H{inve

y stigationCharacteristic/code [@code=f4'] [@codeSystem='2.16.840.1.113883.3.989.5.

| 1.3.2.1.12'l{1}/investigationCharacteristic[@classCode='"OBS'l [@mood Code='"EVN'

| Ivaluel@xsiztype="CE][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.2 1@
codeSystemVersion

bt

RBOBESETT,

| 805 Xy EgR = — FEEBRLCERT 5.

-2 TORREERICOVT, —RAEESRUVERNERR IS OEESOBAII,
T=MRERRED) 25 =L L] OPF1LLENETNERLEHT S L,
"2 TOHHERRISOWT, —RAEES I EREERS OB AL 5=R%2 L)
b [7=PMS HiflH (EHR#E) OF»re6ZThERBRLERTH L,

5— & Kl 1N :

FFAE Ak 5 W

XPath /MCCI_IN200100UV01[@ITSVersion=XMIL, 1.01] [@xsi1schemaLocation'—;'urnihl7-
org-v3

MCCI_IN200100UV01.xsd'l[/PORR_IN049016UV[r])/controlActProcess@classCod
e='"CACT'|[@moodCode="EVN')/subject[@typeCode="SUBJ"|[1)/investigationEvent |
[@classCode="INVSTG][@moodCode='EVN/component[@typeCode='COMP] [adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode="INVSTG'][@mo
odCode="EVN'//subject1[@typeCode="SBJI[1)/primaryRole[@classCode="TNVSBJ'
VsubjectOf2[@typeCode="SBJ'l [organizer/code[@code='4'T[@codeSystem="2.16.840.
1.113883.8.989.2.1.1.2011[1)/organizer{@classCode='CATEGORY'| [@mood Code='E

VN'l/component[@typeCode="COMP'][substanceAdministration/id][kl/substanceA’

3




dministration[@classCode="SBADM')[@mood Code="EVN/consumable[@typeCode
=CSM[1VinstanceOfKind[@class Code="INSTV/kindOfProduct[@classCode="MM
AT'l[@determinerCode="KIND')/asManufacturedProduct[@classCode="MANU/su
biectOfl@typeCode="SBJ1[characteristicl[1]/characteristiclcode[@code="1'][@code

System='2.16,840.1.113883.3. 989.5.1.3.2.1.101][1}[@classCode="OBS'l [@mood Cod

e='EVN'/value[@xsi: type"CE][@codeSystem—'Z 16.840.1.113883.3.989.5.1.3.2.1.

3'/@code

XPath
(codeSystem

Version)

/MCCI IN200100UV01[@ITSVer310n—'XML L.0l{@xsi: schemaLocation="urn’ h17-
org-vd

MCCI_IN200100UV01.xsd'}/PORR_ IN049016UV[r]/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'//subject@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG][@moodCode="EVN/component[@typeCode="COMP'} [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG1[@mo
odCode='EVN‘]fsl,ubject1 [@typeCode="SBJ'l{1)/primaryRole[@classCode='INVSBJ'
V/subjectOf2{@typeCode="SBJl[organizer/codel@code='4]{@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[1)/organizer[@classCode='"CATEGORY'l [@mood Code="E

' VN'l/component[@typeCode="COMP] [substanceAdrinistration/id][kl/substanceA
: dm1mstrat10n[@classCode—'SBADM'] [@moodCode="EVN'l/consumable[@typeCode
='CsM [1)/instanceOfKind[@classCode="TNST)/kindOfProduct [@classCode—'MM

AT'][@determinerCode="KIND'l/ asMan_ufactpredProduct[@classCode='MANU']lsu
bjectOf[@typeCode="SBJ'| [characteristic][1)/characteristiclcode[@code="1"l [@code
System='"2.16.840.1.113883.3.989.5.1.3.2.1.101][1][@class Code='OBS'l[@mood Cod
e—’EVN]fvalue[@xm type—'CE][@codeSystem—'Z 16.840.1.113883.3.989.5.1.3.2.1.

E*ﬂ:[’é‘%ﬁﬂ?\ —RAERLOREOY R Y Ry, ERERBEREEREME L<
FEREEELTHEZLETT,
mRITE Bl 5 & v EE R =a— }"f@&':@%ﬂ LTRETH &, _
- BREEELS A @%an@%’b‘ﬁi FNEThD ﬁ'ﬁ:lﬁ%nnkob\’c rOl‘%’“ﬁ
EER) 2o [03=B=HERR RV 2S=REE_RELER OF,HLBERLE
Wrazy, | |
- HHEESAERNERGEERLOBAE. ThehoB~ERR ZonT [04=
ERSNEREEES] 2ERT AL,
g*ﬂ:@%nu?ﬁ‘%ﬁ%&%uu@%’&m %ﬂ%a"b@ﬁﬁ:[ﬁ%nuh’)l{\f f05—§;’l§l§
|ER&) #EBTBZL.
F—&E | 2AN
FAEE A 5 &R




XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'1[@xsi:schemaLocation="urn:hl7-

org'v3

MCCI_IN200100UV01.xsdl/PORR IN049016UV[r]IcontrolActProcess[@classCod
e='"CACT"] [@moodCode—'EVN']lsubJect [@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG' [@moodCode="EVN'l/component[@type Code="COMP'l[adv
erseEventAssessment][1}/adverseEventAssessment[@classCode=TNVSTG1[@mo

odCode='"EVN'/subject1 [@t‘ype Code="SBJ'I[1]/primaryRole[@classCode=TNVSBJ*
VsubjectOf2[@typeCode="SBJ'llorganizer/codel@code="¢l[@codeSystem="2.16.840.

1.113883.3.989.2. 1.1.20']][1)/organizer(@classCode="CATEGORY'] [@moodCode='E

VN'/component[@typeCode='"COMP'l[substanceAdministration/id] [kl/substanceA
dministration[@classCode='SBADM[@mood Code="EVNY/consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode="INST'l/kindOfProductl@classCode="MM |
AT[@determinerCode="KIND'l/asManufacturedProduct(@classCode="MANUI/su
bjectOfl@type Code="SBJ'l [approvail [1)/ approval{@classCode="CNTRCT'l[@mood

Code="EVN'/pertinentInformation[@typeCode="PERT'][1]/policy[@classCode="PO
LICY1[@moodCode="EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

1#| 4')/@code

XPath -
(codeSystem

Version) -

| IMCCI IN200100UV01[@I’I‘SVersmn—‘XM'L 1.0'[@xsi:schemaLocation="1rn:hl7-

orgv3 \ :
| MCCI_IN200100UV01.x5dV/PORR, INO49016UV[r]/controlActProcess[@classCod

| e='CACT1[@moodCode="EVN' ]lsub_]ect[@typeCode=‘SU_BJ [1}/investigationEvent

[@classCode=TNVSTG'l{@mood Code="EVN'l/component [@typeCode=‘COMP'] [adv

-| erseEventAssessment][1)/adverseEventAssessment[@classCode="TNVSTG'] [@mo

odCode="EVN')/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode="INVSBJ'
VsubjectOf2[@typeCode="SBJ'l[organizer/code[@code="4'[@codeSystem='2.16.840.
1.113883.8.989.2.1.1.20'1][1)/organizer[@classCode="CATEGORY'] [@mood Code='E
VN'V/component[@type Code='COMP'] [substanceAdininistrationlid] [kl/substanceA
dministration[@classCode='SBADM'][@mood Code="EVN'//consumable[@typeCode
='CSM'][1)/instance OfKind[@classCode="TNST')/kindOf Product[@classCode=MM

AT'l[@determinerCode="KIND}/asManufacturedProductl@classCode=MANU/su
bjectOfl@typeCode="SBJ'l[approvalll1l/approvall@class Code='CNTRCT][@mood

Code="EVN/pertinentInformation[@typeCode="PERT' [ 1)/policy[@classCode="PO
LICY1] [@moodCode—'EVN]/code[@codeSystem—'2 16.840.1.113883.3.989.5.1.3.2.1.
4 ]f@codeSystemVersmn

EERE | BEEERS—REERL SR ERADEA DATEE R R,
THHE | AEERLS—RAEES I EERERREOEASIE. FRENO B EEERICo

THIHES K V@Yl — FEZBR L TRE&ET I L,

5




F— A

1A

REER(E

BfE 5 2R

XPath

(value)

/MCCI_IN200100UV01[@IFSVersion="XMI,_1.0] [@xsiischemaLocation='urn1h17-
orgiva

MCCI_IN200100UV01.xsd'I/PORR._ IN049016UV[r]/controlActProcess[@classCod
e='CACT][@moodCode="EVNT/subject [@typeCode="SUBJ'I[1}/investigationEvent.
[@classCode=TNVSTG] [@moodCode='EVN/component[@typeCode='COMP 1 [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG 'l [@mo

1 0dCode="EVN'l/subject1[@typeCode="SBJ'[1]/primaryRole[@classCode=TNVSBJ"

V/subjectOf2 [@typeCode="SBJ"] [orgamzerlcode [@code='4T[@codeSystem="2.16.840.
1.113883.3.989.2.1.1. 20']][1]/orgamzer[@classcode—'CATEGORY'][@moodcode-'E
VN'/component[@iypeCode='COMP'I[substanceAdministration/id] (kl/substanceA
dministration[@classCode="SBADM'] [@moodCPdefEVN']/gonsumabl_e[@typeCo'de
='CSM'1[1)/instanceOfKind[@class Code="INST'l/subject Of{@type Code="SBJ")/obse

.| rvationEvent[code[@code='2][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'

lli1l[@classCode="OBS'] [@moodcode—'EVN']/value[@xsi:typez.'c_E'] [@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.51/@code

| XPath
(null

flavor) |

/MCCL_ IN200100UV01[@ITSVerS1on='XML 1.0' ][@xm schemal:ocation="urn:hl7-’

orgv3
MCCI_ IN200100UV01 xsd'l/PORR. IN049016UV [l/controlActProcessl@classCod
e='CACT'][@mood Code="EVNV/subject[@typeCode="SUBJ'|[1}/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN'l/component[@typeCode='"COMP'] {adv
erseEventAssessment]{1] ladverseEventAssessment[@classCode-'INVSTG H@mo
0dCode="EVN'l/subject1[@typeCode='SBI'1[1}/primaryRole[@classCode=TNVSBJ'
J/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="4"l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.2011[1)/organizer[@classCode="CATEGORY'] [@moodCode="E
VN'Y/component[@typeCode="COMP'][substanceAdministration/id][1]/substanceA
dministration[@classCode='SBADM'][@moodCode="EVN'/consumable[@typeCode
='CSM'l{1)/instanceOfKind[@classCode="INST'l/subjectOf[@typeCode="SBJ'l/obse
rvationEvent[code[@code='2'] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
T[1l@classCode="0BS'l[@moodCode="EVN']/valuel@xsitype='"CE][@codeSystem
~9.16.840.1.113883.3.989.5.1.3.2.1.51/@null Flavor .




XP ath
(codeSystem
Version)

2

Ak

.| 0dCode="EVN"/subject1[@typeCode='SBJ'[1}/primaryRole[@classCode=TNVSBJ"

/MCCI_IN200100UV01l@ITSVersion=XML_1.0'1[@xsi:schemal.ccation="urn‘hl7-
orgiv3 :

MCCI_IN?.OO 100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcess(@classCod
e='CACT'] [@mood Code="EVN')/subject(@typeCode="SUBJ'[1}/investigation Event
[@classCode=TNVSTG'][@moodCode="EVN/component[@typeCode="COMP'][adv
erseEventAssessment]{1]/adverseEventAssessment[@classCode=TNVSTG'] [@mo

l/subjectOf2[@typeCode="SBJ'l[organizer/code[@code='4"[@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20"1] [1}/organizerf@classCode="CATEGORY' [@mood Code="E
VN'J/component[@type Code="COMP'] [substanceAd ministrationfid][k]/substance A
dministration[@classCode="SBADM'l[@mood Code="EVN/consumable [@typeCode
='CSM'[1)/instance OfKind[@class Code="INST'//subjectOff@type Code="SBJ')/obse
rvationEventleodel@code="21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10
N(1][@classCode="0BS ] [@mood Code="EVNT/value [@xsi:type="CE1[@codeSystem

='9.16.840. 1.113883.3.989.5.1.3.2.1.5"/@codeSystem Version

|HERA | YEEECOVT, RETHEUIETHEORS BTT,
RHFE. | BETREBEOWENET LTORVESIL. RETEEL LTHRETS - L, &
B, BETHERICHZRIEFREARLEEEAIR. XD TRTHREEL LTHEST S,
- I HLTZ AW EREShEZa— FEAWTERT S 2 &,
F—g® |HL7=—F 10A
FrefE active=3£5ET
_ completed=5T
XPath

/MCCI_IN200100UV01 [@ITSVersion=XML_1.0{@xsi:schemaLocation="urn:h17-
orgiv3 o ' ' ‘
MCCI_IN200100U0V01.xsd' VPORR_IN049016UVI[rl/controlActProcess@classCod
e='CACT][@moodCode="EVN'] /subject(@typeCode="SUBJ'l{1)/investigationEvent
[@classCode="INVSTG'[@moodCode='"EVN'/statusCode/@code

S
5 B 28 RETHEOESIZ, RETHECEAZRT,
LEFE L |
5z Rl 10000AN
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XPath fMCCI_INZOO100UV01[@ITSVersion='XML_1.0'.][@xsiischemaLocation='urnfh17-
orgv3 ' '
MCCI_IN200100UV01.xsd /PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT| [@moodCode="EVN/subject[@typeCode='SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'//component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG'li@mo
0dCode="EVN ]/componentl[@typeCode-‘COMP "TobservationEvent[code[@code="

31[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 1011 [1)/observationEvent[@c
lassCode—'OBS ][@moodCode"'EVN ]lvalue [@xs1 type—'ED']ftextO

MRS R E T
SRR | GRS X B IR T, RETEA BSOS AT

: Do .
ik Wk MU BEEOL N=BENEN) ERBT 2L,
F—2F |IN '

FEE | 1=SEatsst
XPath - | MCCL_ IN200100UV01[@ITSVersmn"XML 1. 0][@XSI schemaLocatlon""urn hl7-
org: w3

MCCI_ IN200100UV01 xsd'l/PORR_ INO49016UV[r]/contro]ActProcess[@classCod
e='CACT][@mioodCode="EVN'l/subject[@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="TNVSTG' [@mood Code="EVN"/subjectOf2[@typeCode="SUBJ l[inve
stigationCharacteristic/code[@code="5'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristic[@classCode="OBS'| [@mood Code="EVN'
Iivaluel@xsi:type='CE[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.6'/@code
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0][@xsi:schemalocation="urn:h17-
(codeSystem | orgiv3 . :

Version) MCCI_IN200100UV01.xsdl/PORR_ IN049016UV[r]!controlActProcess[@classCod
' | e='CACT'1[@moodCode="EVN' ]/sub]ect [@typeCode="SUBJ")[1)/investigationEvent
[@classCode=INVSTG'[@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ][inve
stigationCharacteristic/code{@code="5][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127)(1investigationCharacteristic[@classCode="0BSl [@moodCode="EVN'
Ivaluel@xsi: type—'CE][@codeSystem—'z 16.840.1.113883.3. 989.5.1.3.2.1.6‘]/@

v d SystemVersmn

R @H'Emrmaﬁbmm;ferﬁmﬁaﬁtuonvc A S
| AR TH DR ERRT B,
TEAE | %L

F—&% | 10000AN
1 HFAE H i Eesk




XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemal.ocation="urn:hl7-

orgiv3
MCCI_IN200100UV01.xsd'l/PORR,_IN049016UV[r)/controlActProcess[@classCod
e='CACT'][@moodCode='"EVN'V/subjectl@typeCode='SUBJ'I[1)/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVNH/subjectOf2[@typeCode="SUBJ ] [inve
stigationCharacteristic/code[@code='6'] [@codeSystem_'2 16.840.1.113883.3.989.5.
1.3.2.1.121] [1]llnvest1gat1onCharactenstlc[@classCode—'OBS][@moodCode"'EVN'

I~valuel@xsiitype="ED'|text(

U IS DAL, ThR 24 .3 A 6 HNEAR 0306 BEA X HEEELDD

. | Orgv3
=i MCCI_ IN200100UVO1. xsd'l/PORR IN049016UV[r]/con1:rolActProcess[@classCod
+ | e="CACT][@moodCode="EVN' ]/subject[@typeCode—'SUBJ 1{1]/investigationEvent
| [@ctassCode=INVSTG'] [@moodCode—'EVN']!component[@typeCode 'COMP'[adv

| S ams OBIER SR 5 %I

HE A
B [TRRRHS R BRAEY A FFA ] O—HEERDVT) ORI ML
BRABICRLIBERBENA FIA ] KEDRINERENTLTEHT 5,

RCE TR L

F—58 | 10000AN

HAE B HET#R . L

XPath /MCCI IN200100UV01{@ITSVersion='XML_1.0'] [@xsi:schemaLocation="urn:hl7-

1

erseEventAssessment] [1]/adverseEventAssessment[@classCode—'INVSTG T[@mo

odCode—'EVN']lcomponentl [@typeCode—'COMP'] [observationEventlcode [@code='
4'{@codeSystem="2.16.840. 1.113883.8.989.5.1.3.2.1.10T]1[1]/observationEventl@c
lassCode—'OBS][@moodCode 'EVN'/valuel@xsitype="ED'l/text()

FHOFHMICES BB & SR ORBITOVTCRE

|5,
SRR E 2L
F—F8 | 10000AN
FAE H B




XPath

/MCCI IN200100UV01[@ITSVersmn—'XML 1.0'[@xsi: schemaLocatmn“'urn hl7-
orgva .
MCCI IN200100UV01 xsd']/PORR_ INO49016UV[r]!controlActProcess[@classCod

e="CACT'][@moodCode='"EVN'I/subject[@type Code="SUBJ'] [1}investigationEvent
[@classCode=TNVSTG [@moodCode='EVN/component[@typeCode="COMP"] [adv
‘erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG] [@mo

0dCode="EVN'l/component1[@typeCode='COMP'l [observationEvent[code [@code='
5'[@codeSystem="2.16.840.1.113883.8.989.5.1.3.2.1.101]1[1}/observationEvent[@c
lassCode='"0BS[@mood Code="EVN'l/valuel@xsi:type="ED')/text(

78 A 35 %@M#%&&é%@%ﬁﬁ?b

T IE 2L

F—& 8 10000AN

BAE EJ::Eat

XPath /MCCI IN200100UV01[@ITSVersmn*'XML 1.01 [@xs1 schemaLocation="urn:hl7-
org: v3

erseEventAssessment][1]/adverseEventAssessment[@classCode——-‘INVSTG'] {@mo

6[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'11[1)/observationEvent[@c

MCCI_IN200100UV01.xsd'lVPORR_IN049016UV/[x] /controlActProcess[@classtd
e='CACT'] [@moodCodé='EVN']/subject[@typeCode='SUBJ M1l/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component(@typeCode="COMP'l[ady

odCode='"EVN'l/coraponent1 [@typeCode="COMP"][observationEventlcode [@code="'

lassCode="0BS1[@mood Code="EVN'/value[@xsi:type="ED'V/text0

7‘*?&—1‘ JEEIZEE# LT3 BRROTEETETT

BREHEEEL R L TORVEEICH, Zﬁﬁﬁ%ﬁ@%ﬁl‘%k’ﬂﬁbflﬂéﬁﬁ%U“* K

. RERTHL,
F—H A TOAN
FrAE B B
XPath /MCCI IN200100UV01[@ITSVersmn—'XML 1.0[@xsi:schemalocation="urn:h17-
orgiva

MCCI_IN200100UVO01.xsd/PORR,_ IN04901GUV[r]/controlActProcess[@classCod
e="CACT@moodCode="EVN'/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="INVSTG' [@moodCode="EVN/component[@typeCode="COMP][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo
odCode=EVN/subject1[@typeCode="SBd 1[1)/primaryRole[@classCode=TNVSBJ’

l/subjectOf2[@typeCode='SBJ'l [organizer/codel@code='4l[@codeSystem="2.16.840.
10



| Code“'KIND lfcodeforiginalText/text()

1.118883.3.989.2.1.1.207] [1]/organizer[@classCode='"CATEGORY'l[@mcod Code='E
VN'Feomponent[@type Code="COMP'l [substanceAdministration/id]/substanceAd
ministration[@classCode="SBADMl@moodCode="EVN'[consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/original Te
xt][1)/consumable[@type Code="CSM1[1l/instanceOfKindi@classCode=TNST'Vkin
dOfProduct@classCode="MMAT'][@determinerCode="KIND')/asSpecializedKind[
@classCode='GEN'[1)/generalizedMaterialKind{@classCode="MAT") [@determiner

“%ﬁ Lic. MR EE SR A BT B,

FERLSTE BREAEEE LR L TWRWEEICR, ZEWET 3L,

F—%8 | 9N : |

EM FERL : - :

XPath MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemal.ocation="urn:hl7-
orgv3

5 B

| [@classCode=TNVSTG[@moocdCode="EVN/component[@typeCode="COMP Tadv
"| erseEventAssessment]{1/adverse EventAssessment[@classCode=INVSTG] [@mo

| VsubjectOf2[@typeCode="SBJ'l[organizer/codel@code="1"] [@codeSystem='2.16.840.
11.113883.3.989.5.1.3.2.1.11'1] [tVorganizer[@classCode="CATEGORY'l [@mood Code

MCCI_IN200100UV01.xsd' ]/PORR INO49016UV[r]/controlActProcess[@classCod
e="CACT'] [@moodCode '"EVN'V/subject[@typeCode="SUBJ'][1)/investigationEvent

0dCode="EVN"/subject1 [@typeCode='$BJ'] [1/primaryRole[@classCode=TNVSBJ'

='EVN')/component[@typeCode="COMP")/observation[@classCode="OBS'| [@mood
Code="EVN1[code[@code="7[@codeSystem="2,16.840.1.113883.8.989.5.1.3.2.1.10'
ll/valuel@xsi:type=TNT'l/@value

MR LIT, BRAEREBCERS ATV DA RERLERT 5,

REFYE | WREEBLELRELCOIHAICE. BREEETHIERTES, 2B, BB
FHERERZEE L TORAVWEAICE, BRERSESCER L OV A0SR E TR
TAHIE, F— @?Aﬁﬁ%ﬁﬁ”r@i'@miﬁwﬁéaéﬁ% ETBBAE. A= TR

1> TRE#ETHZ &, ,

F—a 8 | 1000AN

HAME =Rz

XPath /MCCI IN200100UVOl[@ITSVers1on—'XML 1.0[@xsi: schemaLocatlon“'urn h17
org:v3

MCCI_INEOOIOOUVO1‘.xsd']/PORR_,INO49016UV[r]/dontrolActProcess[@classdod
e=~'CACT][@mood Code="EVNY/subject[@typeCode="SUBJ1[1V/investigationEvent

[@classCode="INVSTG'][@mood Code="EVN'/component[@type Code="COMP'l[adv
1 ' '



| erseEventAssessment] [1]/adverseEve‘ntAssessment[@classCode='INVSTG'] [@mo

s ?v-ﬁ&” i

odCode—'EVN']/subJectl[@typeCode"‘SBJ][1]lpr1maryRole[@classCode='INVSBJ'
]/sub]ectOfZ[@typeCode—'SBJ 1forganizer/code [@code—‘l'] [@codeSystem“'Z 16.840.
1.113883.3.989.5.1.3.2.1.11] [r]/orgamzer[@classcode_'CATEGORY I[@moodCode
='EVN']!component[@typeCode—'COMP']/observation[@classCode“'OBS'] [@mood
. Code="EVN[code[@code="8'] [@codesystem—'z 16.840.1.113883.3.989.5.1.8.2.1.10"
]]/value[@xs1t pe—'ED']/te t0

3or.

THEREA 7::15&*1'@?@& IEBHENTBHRBERERT,

E AR REHEREHEEZRH L TV ABREICIE, Eﬂﬁﬁ’&ﬁﬂ]ﬁ?‘é LT "a“ B, 728, IRER
FrEEEEZED L/'Cb\&lf\%““idi BURES & v R = — Hﬁ?i’l%?ﬂ LCR#TS
Z &,

T E 1IN

HEE Bl 5 B .

XPath /MCCI_ IN200100UV01[@ITSVer31on—'XML 1.0l [@xsi: schemaLocatlon— urn:hl7-
orgiv3

MCCI,_INZOOIOOUVOl.xsd']/PORR;INOdLQOlSUV[r]/controlActProcess[@classCod
e='CACT'I[@moodCode="EVN'V/subject[@typeCodé="SUBJ'|[1]/investigationEvent
[@classCode=TNVSTG'] [@n:ioodCode='EVN']/component[@typeCdde='COMP_'] fadv
erseEventAssessment][1]/ adverseEventAésessment [@classCode="INVSTG'][@mo
0dCode="EVN'l/subject1 [@typeCode—'SBJ 1[1}/primaryRole [@classCode="INVSBJ'
]!subJectOfZ [@typeCode—'SBJ Tlorganizer/code{@code="1"] [@codeSystem="2.16.840.
1.113883.3.989.5.1.8.2.1.11" ]][r]/orgamzer[@classCode"'CATEGORY][@moodCode
='EVN'l/component[@typeCode='COMPl/observation[@classCode="OBS'l[@mood

Code="EVN'l[code[@code='9'l{@codeSystem=2.16.840.1.113883.3.989.5.1.3.2.1.10'
ll/valuel@xsi:type='CEl[@codeSystemn="2.16.840.1.113883.3.989.5.1.3.2.1.7}/@cod
e

12



XPath
(codeSystem

Version)

1 MCCI_IN200100UV01.xsd'/PORR, INO49016UV[r]lcontrolActProcess[@classCod

Code="EVN[codel@code='9"][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"

/MCCI IN200100UV01[@ITSVersmn—’XML 1. 0][@x31 schemalocation="urn:hl7-
org-v3

e="CACT'l[@moodCode="EVN'/subject(@typeCode='"SUBJ'I[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVNI/component[@typeCode="COMP"{adv
erseEventAssessment][1]/adverse EventAssessment[@classCode=TNVSTG1[@mo

0dCode="EVN'V/subject1{@type Code="SBJ1[1]/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ"l [organizer/code[@code="1"] [@codeSyst‘em=‘2. 16.840.
1.113883.3.989.5.1.3.2.1. 111 [xl/organizer(@classCode='CATEGORY ] [@mo0d Code
='EVN'l/component[@typeCode='"COMP'l/observation[@classCode='OBS [@mood

Nivaluel@xsi:type="CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7 ]/@cod

eSystemVersmn

IHE A égyﬁﬁ‘t’:@‘?“ﬁﬁiﬁ?%?&%q’@%ﬁﬁ%‘@ﬁﬂ%z‘?
RE ik o— RIETHR2< Boolean TREUEMNWVAEAE True=f) %. VWRWEEI
-} [False=f#] 2BRIT5Z &,
5 — &% .. ;| Boolean 10A
HEE | true=F
’ - .t false=4 . : '
XPath /MCCI_IN200 IOOUVOI[@ITSVersmn—‘XML 1.01 [@x51 schemaLocatmn—'urn h17-

org:v3d

MCCI_IN200100UV01.xsd' /PORR INO49016UV[r]/controlActProcess[@classCod
e="CACT'l[@moodCode="EVN'l/subject@typeCode="SUBJI[1VinvestigationBEvent
[@classCode="TNVSTG] [@moodCode='EVN']!component[@typeCode='COMP’] {adv
exrseEventAssessmentl[1]/adverse EventAssessment[@classCode=TNVSTG][@mo |
odCode='"EVN'/subject1[@typeCode="SBJ'l[1]/primaryRolel@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ'l{organizericode[@code="11 (@codeSystem='2.16.840,
1.11‘3883.3.989.5. 1.3.2.1.111][x)/organizer[@classCode='"CATEGORY'l[@mood Code
='EVN' ]/component[@typeCode—'COMP']lobservation[@classCode—'OBS li@mood
Code="EVN[code[@code="10"[@codeSystem="2.16.840.1. 113883 3.989.5.1.3.2.1.1
0'lvaluel@xsi:type='BL)/@value,

IBROBE, YHSEORMERSRBREEES) L FHTI RN LD THSBRARE
REN, EDMDBEIIBER & 5, ICSR A D E.i.2.1b BYEA /B HEHS (MedDRA

a—F) CEESH b, BEREICR - BERENET 5, (TRIEOHBELEL,
ABABIFD 8. %@ﬁﬂwiﬁﬁﬁﬂﬁﬂﬂ%ﬁmhﬁgﬁL'C@E‘é‘gfﬁj » (1) 238
T52L,)
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FLal TR

o A D RIR L CRRT B T L,

N T

1N

FrAE

1=K
2=BEA

XPath

@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'}{1]/observation[@classCode=

/MCCI IN200100UV01[@ITSVer510n"‘XML 1.01 [@x51 schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01:xsd'//PORR_ INO49016UV[r]lcontroLActProcess[@classCod
e='"CACT'] [@moodCode—'EVN']/subJect[@typeCode=‘SUBJ 1[1)/investigationEvent
[@classCode="TNVSTG@mood Code="EVN1/component[@typeCode='"COMP[adv
erseEventAssessment][1/adverseEventAssessment[@classCode=TNVSTG] [@mo
0dCode="EVN")/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode="TNVSBJ'
J/subjectOf2[@typeCode='SBJ'] [observationfidl [code[@code='29'l[@codeSystem="2.
16:840.1.113883.3.989.2.1.1.191]] (il /observation[@classCode='OBS [@mood Code=
'EVN']foutboundRelationshipZ[@typeCode='PERT'] [observation/codel@code="111[

'0BS'][@mood Code="EVN/valuel@xsi:type='CE] [@codeSystem—'Z 16.840.1.11388
3.3.989.5:1.3.2.1.8)@code

XPath
(codeSystem
Version) -

HE B

| '"EVN'//outboundRelationship2[@type Code="PERT'| [observation/code[@code='11][

MCCI IN200100UV01[@ITSVer31on='XML 1.0’ ][@xs1 schemaLocat1on='urn h7-
org:v3d

MCCL_IN200100UV0Lxsd/PORR_ INO49016UV[r]lcontrolActProcess[@classCod ‘
e='CACT'][@mood Code="EVNl/subject{@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="TNVSTG][@moodCo de="EVN'l/component{@typeCode="COMP"l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG {[@mo
0dCode=‘EVN']/subject1[@typqudefSBJ'][1]lprimaryRolé[@classCodeé'INVSBJ '
J/subjectOf2l@typeCode='SBJ' [observation[id] [code[@code='29"1[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19 1] lil/chservation[@classCode="0BSl [@mood Code=

@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'/[1]/observation[@classCode=
'0BS1[@moodCode="EVN'l/value [@xsi:type="CE1[@codeSystem="'2.16.840.1.11388
3.3.989.5.1.3.2.1.8'1/@codeSystem Version

sk

m%ﬁmﬁuﬂﬁﬁﬁﬁihkwf AEIZBOTHERNERARENTWDIEE
| ARERRT, . '
@z-b#&@@&n~b%&ﬁbrﬂﬁ?é &

| RBEOFE, BEEIREETOFEXIL, ﬁ%%ﬂ"%ﬁ@@%‘ﬁ%ﬁf%’)_ o

itmﬂﬁﬁﬁﬁmw%I\%%%ﬁotﬁéﬁﬁfé &, _
EEHEICRWT, GEEORBYSBIZL » CTR—DEERRINEEE. 1 20OH

By LTHELTELELR, FOREIAREY 1 BRICHRHEL. BELEF
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RLT, ZEHUBICEOBOARELZRMETHI L.

#®E., F— ®1"*E7bk{ﬂ3@1f£éﬂ’bf_%A‘Li HHAREICOWTEMEET 5, %
DRHTIE, FIEHRE DRICHIT CYEMBEORREXERTH 2 &, YHHED
AREPEEHSHEEITHRVRLZFIRATH L,

B, SEOHEBENENERLIFHEE. JRELTHIL,

EEEE |
FFEE ISO 3166°1 7AZ7 7-2 DE=—F, EU
XPath , IMCCI _IN200100UV01[@ITSVersion=XML_1.0[@xsi:schemaLocation="urn:h17-

3| nl@classCode="COUNTRY'] [@determmerCode—'INSTAN CEY/code [@codeSystem—
; '1 0.3166.1.2.2'l/@code

e='CACT l[@moodCode="EVN'}/subject [@typeCode="SUBJ'][1)/investigationEvent

‘ment/code[@code="21] [@cbdeSystem=‘2.16.840. 1.113883.3.989.2.1.1.2711[¢]/docum

org:v3d .
MCCI IN200100UV01 xsd'l/PORR. IN049016U'V[r]/controlActProcess[@classCod

[@classCode="TNVSTG1[@moodCode='"EVN'I/reference[@typeCode="REFR] [docu
ent[@classCode="DOC[@moodCode='EVN']/participation[@typeCode="AUT)/assi

gned Entity[@classCode='ASSIGNED)/representedOrganization[@classCode="OR
G'l[@determinerCode=INSTANCE/asLocatedEntity[@classCode="LOCE/locatio

ECLY

HEMHA :ﬁﬁ%ﬁﬁ:&t}ﬂ@ﬁﬁﬁﬂ:@% . BEUREORBEOESRE R,

SCE 2L ‘

F— A 500AN

FAE =h:Eak

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.01 [@xs1 schemal.ocation="urn:hl7-
orgvd

MCCI_IN200100UV01, xsd]/PORR IN049016UV[r]lcontrolActProcess[@classCod
e='CACT'l[@mood Code="EVN"l/subject{@typeCode="SUBJ'][1])/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'/component[@typeCode='COMP] [adv
erseEventAssessment][1)/adverse EventAssessment[@classCode=TNVSTG'] [@mo
odCdde*‘EVN‘]lcompone nt1{@typeCode='"COMP'] [observationEventlcode[@code=
121 [@codeSystem="2.16.840.1.113883.3. 989.5.1.3.2.1.10']]][1]/observatmnEvent[@
classCode='OBS'l[@moodCode="EVN'l/valuel@xsi:type=EDVtext)

WEREDOEE. [BRRR B Xt TEERRR T oRlzTT,
TETE 7L :
F—&#% | IN
HAE 1=HsERRER, /TS

2=FERRRER, W50
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1 XPath

/MCCI_IN200100UV01 [@ITSVersioﬁ='XML_1.0_'] [@xsi'schemalocation="urnhl7-
orgiva _ '

MCCI_IN200100UV01.xsd'l/PORR_IN048016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'Vsubject[@typeCode='SUBJ']|[1)/investigationEvent
[@classCode=TNVSTG'] [@moodCode="EVN/reference[@type Code=REFR1[docu
ment/code[@code="2]{@codeSystem="2.16. 840.1.113883. 3. 989.2.1.1.2711xl/docum

: ent [@classCode—'DOC l[@moodCode= EVN'ititle/textQ

ICSR 0);“2'{"'%‘ DS T T .

HB#HHA

R MM TEIEABESEREER RS ‘Eﬁ?‘é

F—R R 100AN

TAE Efz:E

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.01 [@x51 schemaLocation="urn:hl7-

orgvd

MCCI_IN200100UV01.xsd'V/PORR_ INO49016UV[r]/controlActProcess[@classCod
e='CACT"][@mood Code='"EVN'Vsubject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="TNVSTG'] [@mooddee=‘EVN']lsubjectOf 1[@typeCode="SUBJl[cont
rolActEventlprimaryInformationRecipié nt][1]/controlActEvent[@classCode='"CAC
T [@moodCode='EVN']!primaryInformationRecipientf@typerde=‘PRCP’]léssign
ed’Entity[@classCode=‘ASSIGNED']lrepresentedOrganization[@classCode='ORG'].‘

[@determinerCode='INSTAN CE'l/mame/text(

HEBHH -

18 B ICSR GD’“'{H%‘ODE %% 7&’71"'9'9

FoE Tk BERLERT S, .
F— 100AN

M Ez: ik A

XPath

/MCCI_IN200100UV01[@ITSVersion=XML _ 1 0'][@xsi: schemaLocatlon—'urn hl7-
org: w3 ‘

MCCI_IN200100UV01.xsd' ]/PORR INO49016UV[r]lcontrolActProcess[@classCod'
e='CACT'{[@moodCode="EVN/subject[@typeCode="SUBJ' 1[1)/investigationEvent |-
[@classCode=TNVSTG'][@mood Code="EVN/subjectOf1[@type Code="SUBJ licont
rolActEvent/primaryInformationRecipient] [1}/controlActEvent[@classCode='CAC

| T [@moodCode=‘EVN’]IprimaryInformationRecipient[@typeCode—'PRCP']/assign |

édEntityl@classCode= 'ASSIGNED']la331gnedPerson[@classCode—'PSN'] [@determ
merCode—'INSTANCE]/name/pref" [l]ltextO

ICSR DRIEEDEZTT

LT

RO BEEDONFTRHT S,
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T — Al 100AN

FAE =Rz

XPath /MCCI IN200100UV01[@ITSVersmn—'XML 1.0 [@x51 schemaLocation="urn: h17
org-v3

f ICSR D2 04 2T

MCCI_IN200100UVOl.xsd']/PORRJNO49016UV[r]/controlActProcess[@classCod :
e="CACT'l[@moodCode="EVN'//subject(@typeCode='SUBJ'][1)/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN"//subjectOf1[@typeCode="SUBJl[cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode='CAC
T][@moodCode="EVN' ]/primaryInformationRecipient[@typeCode "PRCP/assign
edEntity [@classCode="ASSI GNED')/assignedPerson [@classCode-’PSN'] [@determ
merCode 'INSTANCE/mame/family[1/text(

L s

H A R

RiFE | SEOBEEOAETRT S,

F—#% | 100AN

FAE B R : :
XPath | MCCI IN200100U_V0_1[@ITSVersion='XML_1.0'] [@xsi:schemaLocation="urn:hl7-

| orgivd

inerCode="INSTANCE'/name/given[1]/text(

MCCI_IN200100UVOL. xsd‘]lPORR IN049016UV[r]fcontrolActProcess[@classCod

e='CACT1{@moodCode="EVN')/subject[@typeCode='SUBJ'I[1}/investigationEvent
[@classCode=TNVSTG1[@moodCode="EVN/subjectOf1 [@typeCode="SUBJl[cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode='CAC |
T][@mood Code='"EVN'l/primaryInformationRecipient[@type Code="PRCP']/assign
edEntity[@classCode="ASSIGNEDl/assigned Person{@classCode="PSN'l[@determ

TH B a8 FiHER

REHE | 2L

5 — & Bl 10000AN

TAE Ef: B

XPath /MCCI_IN200100UV01[@ITSVersion="XML_ 1 0][@x31 schemaLocatlon—'um h17
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